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Seat

No. [53011-2001

S.Y.B.A. EXAMINATION, 2018
COMPULSORY ENGLISH
Text Prescribed : Literary Landscape
(2013 PATTERN)
Time : 3 Hours Maximum Marks : 80
NB. — (1) All questions are compulsory.
(i) Figures to the right indicate full marks.

1. Attempt any one from (A) and one from (B) of the following in
about 150 words each : [16]
(A) (1)  Describe Gandhi’s efforts to become the English gentleman.
(i) Attempt a character sketch of Phatik as depicted in ‘“The
Homecoming’.
(B) (i) What changes in behaviour does Hazlitt expect from his
son ?
(i) How, according to Tharoor, do cultural diversity and pluralism
help societal development ?
2. Attempt any one from (A) and one from (B) of the following in
about 150 words each : [16]
(A) (i) Write a note on the theme of the poem ‘The Quality

of Mercy.’
P.T.O.



(11)

B) O

(11)

What traits of the village schoolmaster does Oliver Goldsmith
describe in his poem ?

Bring out the significance of the title of the poem ‘The
Solitary Reaper’.

How does Whitman mourn the death of Abraham Lincoln

in the poem ‘O Captain ! My Captain !" ?

3. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]
(A) (i) What is the importance of the little box that Rosemary
wanted to buy ?
(i) How does Behrman save the life of Johnsy in the story
‘The Last Leaf ?
(B) (1) Write a note on Kalpana Chawala’s efforts to become
a successful astronaut.
(i) How does Leacock try to remind his friend about the

dollar he has to pay him ?

4. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]
(A) (1)) Why, according to Masefield, should human beings laugh
and be merry ?
(i) Explain the central idea of the poem ‘Still I Rise’.
(B) (i) Describe the suffering of women as depicted in ‘Another
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Woman’.
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(11)

How does Kamala Das express her personal feelings in

the poem ‘My Grandmother’s House’ ?

Attempt any six of the following : [6]

(1)

(11)

(1i1)

(iv)

(v)

(vi)

(viD)

Girish was present yesterday.
(Change into a negative sentence)
They will buy gold in Mumbai.
(Change into a negative sentence)
The birds are singing.
(Rewrite the sentence adding a question tag)
You haven’t left the door open, are you ?
(Correct the sentence)
I rang the bell. Nobody came to the door.
(Combine the sentences using a conjunction)
The fruits in the glass bowl are for the guests.
(Identify whether the sentence is simple, compound
or complex)
Isha called her uncle to ask him for an address.

(Change into a compound sentence)

(viif) The squirrels hid the nuts at the usual place.

(Change into a complex sentence)

3 P.T.O.



(B)
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Attempt any two of the following : [10]

(1) Write a paragraph on ‘My views on college life’.

(if) Write a brief report on the ‘Road Safety Day’ organized
in your college.

(1i7) Imagine that you come across an advertisement in a

newspaper for the post of Assistant Teacher in English.

You wish to apply for the post. Write a letter of application.
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[56301]-2002

S.Y. B.A. EXAMINATION, 2018
MARATHI (W130)

(G-2 : MYTeh TS Wfged IMfUT YA WIS
(2013 PATTERN)

9@ : dF A THUT T : 80
g — (1) |d WA HEfau seds o).

1.

(i) STEhSl® 3k YA YU IO IFifand.

(1) Wefia 3arare AREeEA & (8]

()

SIS qSEe Uk O, 30 Gfde fome faw s <mge
TaeRd @ § arfevie gy fheerel. Sush freom gowasE sgen
QAR ST’ @ Gehed T HHselt.  Aifqeweet, arfseee, foem
= qREAN 39 G geandien fGud Tien. Ad e ST
YO, IEIHUARST dl FFGUHUIRS Foolell. Ffgarasardl el
IR= U ANl SAfd ¥ 1991 YAk gEardiel e URuIR o
UREdT 3UCAT TRl TSR Wlhi=al HeAd ¥ed B, @ asqiedral
S S0 WETard SIe. qUI-Hag ST heihwl ATAREAT el
YA g UReRA™ g Alg ANl 810, SRl HERTS A1 HRA TSl
freeeda 2 39 Uk T " uSdl, df WS A1 IR S
AT AT JARd Qe ST hiodren =7 aigenl d o g
gqT g&  hl.

Gelicieh! IR |1 SISl Yearen wiRwfe g famt ;o [7]
(1) Audit

(2) Birth Certificate

(3) Computer

(4) Deposit

(5) Gazette

P.T.O.



(6) Field-work

(7)  dJob

(8) Index

(9) Golden dJubilee
(10) Headquarters
(11) Principal

(12) Tax

(13) Registration
(14) Visa

2. Tl VARl U GIAET ST Tt 20 v=siqdd fawr ¢ [10]
(1) ‘wEft SevEew’ 91 gEemed Sivd gfauaE geid amn Siva o
AT el 3T 2
(2) WA g gren faae fawm won smed ?
(3) fafism &iX at=n Hivrea dA=rEr gHEY ‘ARt Seuesu’ A@
TR hell TR ?
(4) W T AUS AA FHIUAR SN wUEUeEt Ad forarn
(5) Tdfedd TSl fova wWifew THeH &t o1 i 99— @ ?
6) ‘TWRF wH A AR ® AW W@ e A ?
(7) fovar@ WEt@ A=A RIVA FHRANAl Hlfecd  STRGHET YIERR
THesrem  ?
3. Wiaus! HIUERN a9 YT W WSl 50 yegivdd fawmr o [15]
(1) ‘SEEfen’d W&y W &
(2) ‘eTcHEfE’ EHME hIUEIUd dq A 7 ediedrd  forar
(3) ‘eafE’ wEmmrie 9eon fe
(4) ‘oTHERE’ EHd YHEAM S0 Qe 3ewdrd 7
(5) ‘oTHaiA’ oMo ‘eTcHehdd’ AmHild A8 TR AL

4, TIAUH! YIh TEMA Tl T SR 150 veEwdd fawr @00 [16]

(3) (1) Sf. dEERd TagH I foude SIvd Ted quvEdl
wet 2 d femn
(2) TH T TAhd o HeUs STH HASIEr J0ese Jad SiEsd
e’ A e AR e
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() (1) =i P A g3 A= A WA AAEE RUH A STeuEeT

‘Wt oenfn AR oEd’ W odereA YR TR .
(2) WY TR Hfvfehr I TREhEl TSUESU’ AT oEd 3R S
qH et AE Sl TR HIMYHR o ol 3Ted 2
5. Weficis! Jde TRMd Wl Yee I 300 viadd fomr ¢ [24]
(31) (1) W B & a= 'IE=d g Bl ;. i gaheA o’
A TENE Hifoseed e oA gEiee foeR eei

gHe Fam ? q fomr

(2) HHAR HIHERS aH FqgsHr=Al IGNHS e Aeamrgd siia
e fodd. € ‘Seay’ AHle e suR "o famn
(@) 1) ‘eafrse sufor gus' G SReR . R qEaes A ot

Sagarg e d T h.

‘faearom fafast’ = dEar=n sTaR €. i Yok AT deehled=
FHYYE T&hdd % T HIMISR FSfdal g ? W=
*.

3 P.T.O.



[56301]-2002

(G-2 : @R d IUASa SN
(Tt STATHRH)
9% : A9 A THUT TOT : 80
el — () Wd WA GEfau oTerds SR
(i) STEhSlS 3k YA YU IO IFifan.

1. Welidus! SR T8 Y9AEl S Yds! 20 v=MEd faw ¢ [20]
(1) feuoft @AM WASE  GET.
(2) HYUTYER WS HE 2
(3) fte STEaTcd HHOE Bd  STEciedl & T fota.
(4) HAGHAAT FECUADRTAT THOT & 329 foral.
(5) TUATA oMAF HHH WIS FHME 2
6) Wfed® feuoft wym9 wodE  ?
(7) ofiw™ e F9 FUd 2
(8) gaU WHer@el N TeUN fohdl e ?
(9) HECEHE wE= woael g foRe @ ?
(10) HURA=N T YASH |
(11) ‘== Y9Rd AEH’ dast @9 Svaed R &l
(12) wHigmeo 9 formn
(13) SHYAIRS TAEE U & ?
(14) eI 9 YHR fomn

2. Wefidie! Ys TR HIUEE Tel I SR gAE 50 e
femr - [10]
(1) (1) AR o™ & HEEE WO A 6k T 6.
(2) HEACEE UTHGERET e HA.
(@) (1) TR JHEREE W GRE  Aevide aftre fore
(2) HEAGAT HEEUAE ASU0 o IR TR HA
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GATUh] Yok TR HIUEE Tkl Uee S Jidh! 150 wesiaada

[20]

(31) (/) wEiaaa fafeen S e femot drear=n ger=i

()
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(77) ‘oTfaehR’ W eI YUH Uik (HefdedeRed He A

(7) vaeEme) oyl uderel’ qide SUeed e A1 SR Hererand

(i) HI. UHdeeh, U™ UHUEEd Il adid 9Eg hoad Ao

‘TR gad e’ foseres SISl SifEEEReE (Sifet fega’

TTATds! Ucd® Terdid  hIvCAdl Wehl U™ 3t 300 ¥Ieiudd

[30]

(7)) *Ifeman afeen deaTe’ REmgR i  Ia@me vod ' "rreiEel s
Hhoedl 999 3fdgd AR &

(7)) ‘OES aEdeE’ gul med Uoud USSR WA

(/) ‘ohell HRIfoEeE gvaarel’ A Aed 2 A1 fomnea aMTERe
ool oS el AR e fewufi fera.

(77) Toenedt gafarer Aer feX agaa smRa. @R faeeg fafae

AU AT STRd, 1 GaHEl Sl daR

e
oifedt Gfaex  ferar.
T

()
A ITSeR fewot Teq &
dIdiL .

4,
foer .
(31)
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Seat
o, [5301]-2003
S.Y. B.A. EXAMINATION, 2018
MARATHI (TRT30)
favroet srsamEUtER w1
(WS Wil fafaeg |ifEcuehi)
(2013 PATTERN)
9% : 9 a™ THUT TUT : 80
e ¢ — () eE d wRAdl diftde

(i) TegurEe — fa. 91 RReErest
(ii)) ®RT — SIS 9IS
el — (1) W U Orefau ofeved R
(7)) IS ek g qUl IO gRifer.

1. Eeadehl HIUEE dF gt Sw foer e [15]

(/) HRAY A ASHITHRE MBI T H.

(7)) FRIdd ‘HUME’ AT HLHhD Hecd foagl
(i) TUfdeifaes S YereR 9 o=
(iv) TUSl wead=ar fam™Em=n Aeen diera ol

(v) & Sl e A YhNdd 9e  fomEn

P.T.O.



2.  WlciUeh! hIUCARI Orel Y9l ST Ycdeh! 20 veqdd fofer [10]

(7)  TONSHH HIUdl UUHH  holl ol ?

(7)) dre= Uredrd qe faern

(7if) ‘HfRU’ wRdA S gEmet A ol

(iv) ‘Wfeq’ wEaUdid YeINd dBuUal JeEil A1g fomr

(v) TR & HGIed WU &0 ERE 2
(vi) ‘W0’ wHRed Hve e el S e $e 7

(vi)) ‘Hfeq’ wRadad Edd™be S ?

3. Wil IR TRl J99 W 50 veadd for . [5]

(1) ‘wfeq’ FROdd qUiST=n e fogr

(i7) ‘wiEU’ wRedia Haeee fav o

4. TCAAUH! YIh T SR TRl Y= W 150 v et : [20]

(31) () ‘TeHUR’ AEHIld (STE i TE § Uhd Tdrd 3Tg’ A faummEn

TqHS WA

(77) ‘'TeHYR’ ARG AU T H.

(I () ‘wE s dfises famn

(7)) ‘®fEU’ wROUdIA SIFUT YRLOM=T == S

[6301]-2003 2



5. Weiicisl Yodsh TeMidl WeRl Y9 S 300 ¥earada ferer [30]

(31) (1) ‘TeHHR' A ACHhTAT INNGRTEl THUhdT TS .

(77) ‘TeEHRER’ AEHNA SAHEReA Tl SFfdehdl HIGEU W

< {I.

(&) (1 ‘wifey & guUSEl "eEEs A faumrn == %

(7)) ‘wfEq’ FRIdid AfFREEr qIHe e
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[56301]-2004

S.Y. B.A. EXAMINATION, 2018
MARATHI (®3Teh)
fagoeR, stamutEeR @, 2 (S-2)
(Mt WEr areFaren gfaed : 3. 1818 A 1960)
(2013 PATTERN)
9@ : dF A THUT TOT : 80
gl — () W U diefau SJeRds S
(77) ISEIhErd ¥k YA U IO Seifedm.

1. TEdus! HIVAR el YIAEl IW YdH! 20 Veaudd o [10]
(/) HUS Hfdden Tesitad uA A HI0T sl ?
(i) ‘'TEA TE' ¥ TEAYRR Sl ®9G WS hIvi SATUTe 2
(777) ‘STYe=l Wed' ¥ TEw MG R ?
(iv) TEHId s 8 7wy fgen S ?

(v) fo.9 wRHT= U@ wRIE ‘TEUR [TERR fHern s ?

(vi) oN.E. HehUAT HIVARI I chiadl TUeHT - o
(vii) ‘9fgshd 9Ra’ ® THaaerfas wiol g& &d ?

2. YAUR! RIUAR WA YA IW YIS 50 VR fa@l [15]

() 3 1929 q 1945 I wo@erd Tifew fAfddmaria fafay dwomen
=g &ed ol
P.T.O.
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(7)) TH. 1929 T TH. 1945 A HA@EMA ‘HwRa’ aeHd TR
YO OR=T e ol

(i) 3T 1929 d 1945 I HESda ‘e’ FAfHdHIT IRon TS &L

(7v) TF. 1946 T 1960 Al HG@SMd g fAfHdr=n YoM Aiepfas
MM uf=d wed <L

(v) 3B 1946 4 1960 A HA@edia ‘e’ fAfddmria Iome @&y
.

3. eI HIUAR SN UTEEl SW Y 50 veiwdd ferer [5]

(1) TH 1921 d 1945 Al wAG@edd ‘Aew’ I Aifgd YARMET ey
HIOE ?

(7)) TH. 1921 T 1945 I HAGSHA ‘e’ A Aiecd FhR= Afdmea
.

(7if) TH. 1946 d 1960 AT @S ‘e’ A1 Wi Y=l A9y
Gn.

(Iv) 39 1946 d 1960 I HAGeSMA ‘dfdd T AT Aifecd TR
qfyrsea |

(v) 39 1946 4 1960 Il HIAGEMA ‘wRa’ A Hifgcd YhR=T Ay
.

4., UAAUHR! TAE TMIA WeRl YA SW 150 = ol [20]
(31) () 39 1818 d 1874 I HhiTE@SIA ‘<higdl’ A1 Hfecd ThI=A

qreaTelal  STeEr =41

(7)) TH. 1875 T 1920 A HEE@SHA ‘HA' A ASHI THNE]

dicdlet H%  onil.



() (1) TH 1921 d 1945 AT HAESdA ‘el a1 Hifecd JhII=l
e foel.

(/) 3BH 1946 d 1960 A HIAESMA ‘AH’ A Wiecd ThII=I

dicdlet H%  onil.

5. Weficiish! Joieh TeMidl WeRl YA SW 300 V= foar [30]

(31) () 39 1818 T 1874 A HITE@SIA ‘HAT’ AT TEA TR
el TeEl =4

(7)) 39 1875 d 1920 A HIAGEIA ‘ehiadl’ A AEHI ThRI=

dicdlet H%  onil.

() (1) 3TH 1921 T 1945 AT FHAESMA ‘Aeh’ A Hiecd JhII=I
qreard  foel.

(/) TH. 1946 d 1960 AT HIAESA ‘wiesll’ a1 Hifecd GhII=I

dledlel  gH=Hl  RIsqld feTal.

[6301]-2004 3
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Seat

No. [53011-2005

S.Y. B.A. EXAMINATION, 2018
FRENCH (GENERAL) G-2
(Language Skills)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
(Text : Jumelage)

Q.1] A) Traduisez le texte suivant en anglais: (10)

Une organisation non — gouvernementale a Pune organise des cours de soir
interdisciplinaires pour les étudiants de l'université. C’est dans le but d'améliorer leurs
compétences de base. Pour la plupart des adultes qui vont aux cours du soir, c'est
alors une deuxiéme journée qui commence. lls veulent apprendre une nouvelle langue,
se familiariser avec l'informatique ou découvrir les joies de la cuisine ; c'est la volonté
de développer leurs compétences.Chacun a ses motivations. Ces cours sont
particulierement exigeants. Dans cet institut de Pune ol nous sommes allés, les éléves
sont sélectionnés selon leurs revenus et de leur motivation. Ces cours leur facilitent a
acquérir des compétences demandées dans la vie professionnelle.

B) Traduisez le texte en frangais. (10)
Christmas

Christmas is a Christian festival commemorating the birth of Jesus Christ. It is on
December 25. Most of the people prefer to celebrate Christmas with their family. The
Christmas trees are decorated with candles, with garlands, with stars and with angels.
Christmas, it is an occasion to offer and to get gifts and to meet for a traditional meal
which consists of traditional dishes such as liver paté, oysters, and Yule log cake. The
children always hope to receive a gift from their dear Santa Claus. This is the most
awaited festival of the year. The ambiance is very lively with Christmas markets, music
concerts in the cathedrals and even in the streets. The festival continues till New Year
which is celebrated on December 31.

Q.2] Répondez aux questions suivantes en 50 -60 mots : (3 au choix) [15]
1. Quels sont les avantages de pratiquer les sports ?
2. l'Inde -une destination touristigue Qu'en pensez-vous?

3. Ou préfériez — vous écouter la musique classique chez soi ou dans un concert ?
Justifiez votre réponse.

4. Quel est le rdle des grands parents dans la famille selon vous ?

5. Expliquez en bref la particularité de la cuisine de votre pays.
P.T.O.



Q.3] A)Traitez UN de sujets suivants : [10]
« La seule clé de la réussite, c'est 'entrainement dur».

Ecrivez une lettre a votre ami(e) sportifive en expliquant I'importance de la phrase ci-
dessus.

ou

Rédigez une composition sur « les réseaux sociaux sur internet-atouts et inconvénients"

B) Rédigez un fait divers pour décrire un événement récent dans votre ville. [5]

Q.4] La grammaire et le vocabulaire : [30]

1. Mettez les verbes suivants aux temps qui conviennent . (4)

Hier soir, je (étre) tout seul chez moi. Mes parents (partir) en
vacances.

lls (réserver) tout il y a deux mois. lls (rentrer) demain
matin.

2. Mettez les verbes suivants au passé simple et réécrivez les phrases (3)
1. Nous avons pris le petit déjeuner.

2. Les voyageurs montent dans le train.

3. Une jeune fille vend de belles robes.

3. Remplacez les mots soulignés par les pronoms (3)

1.Les parents de Rodrigue sont trés conventionnels, tandis que vos parents sont plus
modernes.

2. Pourriez — vous donner ces documents a M. Ledoux ?

4. Mettez les pronoms relatifs simples ou composés : (4)

1. Lucie et Guillaume habitent Chambéry. lls sont des passionnés de vélo.

2. Catherine m'a demandé la réponse d'une question. Elle doutait de cette question.
3. Clestla cantine. Nous, les amis, passons des heures dans cette cantine.

4. Je pense a une chanson. C'est une ancienne chanson frangaise.

5. Mettez les verbes entre parenthése au subjonctif ou a 'indicatif : (3)

1. llaide a safille a réviserpourqu'elle ___ (réussir) 'examen.

[5301]-2005 2



2. Le patron croit que le profit (étre) bon cette année.

3. Vous pourriez sortir ce soir, 8 moins qu'il (faire) beau.

6. Mettez les verbes entre parenthése au conditionnel : (3)

1. Sij'étais le ministre de I'éducation, le colt de I'éducation (baisser).
2. S'ily avait des tickets de ce concert, nous (aller) définitivement.
7. Mettez les phrases suivantes a la voix passive : (3)

1. Le traiteur avait préparé un repas traditionnel.
2. On construira un stade pour le tennis d'ici cing années.
8. Complétez les phrases suivantes avec ces adjectifs : (quotidien, ménager)(2)

Il faut participer aux activités . Ce qui nous aide a acquérir la
connaissance des taches

9. Trouvez des adverbes : (2)
1. fréquent 2. traditionnel

10. Complétez les phrases avec les expressions du temps, de la cause et de la
conséquence : (3)

1. Les matchs de cricket sont populaires . les gens les regardent
dans le bureau ou méme dans la rue.

2. La France a gagné le coup du monde de football bien long temps.

3. sa vigilance, il a pu sauver la fille de tomber dans le puits.

[56301]-2005 3
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Seat
No. [53011-2006
S.Y. B.A. EXAMINATION, 2018
FRENCH (SPECIAL) S-1
FRANCE IN THE WORLD
La France Dans Le Monde
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

Q1A) Donnez les dates/les noms qui correspondent aux événements suivants:(6 au choix) [6]
1) La Déclaration des Droits de I'Homme et des Citoyens a été rédigée en
2) En Napoléon est sacré L'Empereur de France.
3) Le 1" Janvier 1999, a officiellement remplacé le franc, ancienne monnaie
nationale.
4) La Premiére Guerre Mondiale dure de a_
5) Le Cour de la Justice de L'Union Européenne se trouve a .
6) En 1880, le géographe francais a inventé le terme <<la francophonie>>.
7) Napoléon Bonaparte était mort en

B) Complétez (4 au choix) (4]
1) Quelqu'un qui est mis & I'écart de la société veut dire qu'il est
2) est une célébre entreprise du secteur agro-alimentaire de France dont la
marque se trouve aussi en Inde.
3) le Président de la France est élu pour une période de ans.
4) et sont les deux chambres du Parlement frangais.
35) ,la jeune bergére, qui a lutté contre les Anglais.
C) Dites vrai ou faux [4]

1) Henri XIV a révoqué 1'Edit de Nantes.

2) Laicité veut dire la séparation dans I'Etat de la société civile et la société religieuse.
3) Les clandestins ont les papiers nécessaires pour résider dans un pays.

4) Michaelle-Jean est la Présidente de 1'OIF.

D) Expliquez en frangais simple (5 au choix) [10]
1) SDF/ONG
2) La Renaissance
3) la devise frangaise
4) Expliquez les termes : Secteur primaire, secondaire et tertiaire avec quelques exemples.
5) xénophobie
6) Expliquez les causes/les conséquences du chomage.

P.T.O.



Q2) Expliquez en bref (3 au choix) [30]
1) Les causes et les conséquences de la Révolution Frangaise.
2) C'est quoi "étre pauvre" Quelles solutions proposez-vous pour diminuer la pauvreté?
3) L'économie francaise-une sommaire.

4) Le systéme politique frangais.

Q3) Répondez en détail. (2 au choix) [26]
1) La Francophonie: Pourquoi faire? Quelle est son évolution?
2) " favoriser 1'établissement d'une paix durable et de lancer la reconstruction des
pays d'Europe" était l'objectif derriére la création de 'Union Européenne. Commentez et
expliquez en détail la formation, les institutions et les symboles de I'Union Européenne.
3) La premiére Guerre Mondiale-cause et conséquences.
4) L'Immigration, l'intégration, la discrimination et le multiculturalisme sont les
problémes importants d'une nation. Commentez.

[5301]-2006 2
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Seat

S.Y. B.A. EXAMINATION, 2018
FRENCH (SPECIAL) S-2
(Business French/French Literature)
(2013 PATTERN)
Time : Three Hours Maximum Marks

Q1 A) Traduisez en anglais. [15]
Si vous visitez le siége social de 'entreprise, vous remarquez qu'il n'y a
pas d'hdtesse d'accueil. "Nous n'aimons pas confier a nos employés des
taches inintéressantes" explique le PDG. Pour cette raison il n'y a ni
secrétaire, ni assistant. Chacun fait ses propres photocopies, tape ses lettres,
compose ses numéros de téléphone et prépare son café. La hiérarchie est
extrémement réduite. La tenue vestimentaire n'est pas importante. On vient
au bureau en cravate ou en jean. Chacun peut travailler a son aise. Manuel,
le directeur commerciale, mange des gateaux toute la journée. Le bureau du
directeur générale est au quatriéme étage. La porte est toujours grande ouverte.
Si un salarié, n'importe quel salarié, a une question, il peut entrer et poser sa
question. La transparence est totale. Par ex, tout le monde connait les salaires
de tout le monde. Dans les ateliers, les ouvriers définissent eux-mémes leurs
objectifs de production. Ils participent a I'amélioration de la conception des
produits. La paperasse, les notes de service, les réunions, tout cela est réduit
le plus possible.

B) Traduisez en francgais [10]

When you have been invited for lunch or dinner with some French people, you
must not arrive early but, with a slight delay of 10 to 15 minutes. You can either
deliver flowers earlier or carry them with you. A bottle of wine or a small present
like chocolates or a souvenir of your country is always welcome. You must wait
for the hostess before you begin dinner.
A business lunch or dinner is on the other hand very formal. It is a good way of
speaking and discussing contracts. The professional conversation does not start
immediately. First one gives the order, then one speaks of business.

Q2) A) Expliquez en francais simple(S au choix) [5]
1) prétentions
2) CDD
3) siége social
4) enseigne
5) DAB
6)organigramme

No. [53011-2007
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B) Donnez l'équivalent en frangais (5 au choix) [5]

1. to save a document
2. recycle bin

3. download

4. inbox

5. database
6.password

Q3) (10]

Destinataire:
Mile Isabelle ROBINEAU
Date: 5 MAl Heure: 10h30

En votre absence

M. JEAN BRETON
Société: DUPONT
Tel: 06 29 31 45 67

C] est venu D voudrait un entretien
@téléphoné D rappeler [:] urgent

obj: SOuhaite parler a propos de rendez-vous a 16h30
voudrait reporter le RD pour mercredi la semaine
prochaine a méme heure a cause d'un empéchement

Mille Isabelle ROBINEAU a lu la fiche téléphonique. Elle demande a sa secrétaire Natalie
d'appeler M. BRETON. Elle ne pourra pas assister au RV mercredi, car elle va partir a
Londres pour un voyage d'affaires. Natalie n'arrive pas 4 joindre M. BRETON. Alors, elle
laisse un message sur le répondeur de M Breton. Rédigez ce message.

Q4)
a) Votre entreprise participe a un salon en France. Rédigez une présentations de
votre entreprise pour le catalogue. (tous les petits détails, le personnel et leur fonctions,
le code du travail, les rites et codes sociaux, etc) [10]
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b) trouvez les noms [5]

1) Recruter
2)négocier
3)vendre

4 former
5) réaliser

Q5)

Monument historique(chateau+parc)
dans la région de la Loire
recrute

Missions: accueil des visiteurs
visites guidées du chateau et du parc
ventes des souvenirs
gestion de stock

Profil
Langues: anglais, frangais courant
une troisiéme langue est un avantage

Qualités requises:  dynamisme, communication, présentation
CDD 6 mois, possibilité de CDI
Travail les WE aussi
salaire fixe+primes

Merci d'envoyer CV lettre de motivation +photo par mail directement au
garnier@loiret.fr

Répondez a cette annonce:

a) Imaginez et créez un CV du candidat. [10]
b) rédigez une lettre de motivation de ce candidat qui répond aux attentes de cette
annonce. [10]
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No. [5301]-2008

S.Y. B.A. EXAMINATION, 2018
GERMAN

General Paper II
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80
Note :— All questions are compulsory.
10 marks are for listening comprehension and 10 marks for
oral exam.

Use of dictionary is allowed.

Frage I: Ubersetzen Sie. [10]
(A) Ubersetzen Sie ins Englische oder Marathi! (05)
Anke Voller, 22, Verkduferin, ist mit ihrem Beruf nicht zufrieden. Eigentlich wollte sie
Friseurin werden. Sie hat auch die Ausbildung gemacht und danach drei Jahre in einem
groflen Friseursalon gearbeitet. Aber dann hat sie eine Allergie gegen Haarspray bekommen
und musste aufhoren. Jetzt hat sie eine Stelle als Verkduferin gefunden — in einem
Supermarkt. Aber das macht ihr keinen Spal}; sie kann nicht selbststdndig arbeiten und
verdient auch nicht viel. Deshalb sucht sie im Augenblick eine neue Stelle.

(B) Ubersetzen Sie ins Deutsche! (05)
Karin Striick likes the simple life. She doesn’t need much to be happy. She stays in a one-
room flat in Hamburg. Her flat has a table, a chair, a bed and three large book-shelfs for her
books. Reading and writing are very important for Karin. She doesn’t meet too many people.

Frage II: Beantworten Sie FUNF der folgenden Fragen. [10]
1. Was halten Sie von Gliickssymbolen? Haben die Symbole fiir Sie eine Bedeutung?
2. Wohin mdchten Sie dieses Mal in den Sommerferien fahren? Warum?
3. Was kann man machen, um fit zu bleiben? Machen Sie 3-4 Vorschlége.
4. Thre deutsche Brieffreundin wiirde gerne nach Indien fahren. Wann ist die beste Reisezeit
und wie ist das Wetter?
Warum nennt man Peter Ertel einen Gliickspilz?
Schreiben Sie tiber die Merkmale der Konkreten Poesie anhand von Beispielen!
7. Analysieren Sie das Gedicht ,fiir sorge”. Mit welcher Grammatikeinheit wird hier
experimentiert?
Analysieren Sie das Gedicht ,,empfindungsworter*!
9. Was wird in dem Gedicht ,MafBnahmen® kritisiert? Was halten Sie selbst von den
MaBnahmen?

SANA
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Frage III: Grammatik und Wortschatz [30]

(A) Bilden Sie Nebensiitze. (Nur 3) (03)

bl e

5.

(weil, wenn, dass, um...zu, zu + Infinitiv, damit)

Es regnete in Strémen in Mumbai. Ich habe es in der Zeitung gelesen.

Meine Kinder suchen eine andere Wohnung. Sie wollen weg von zu Hause.
Kareena Kapoor ist in London. Sie wohnt im Hotel ,,Grand Arcade®.

Vera ruft regelméfig aus dem Ausland an. Sie will mit ihren Freunden im Kontakt
bleiben.

Bernd und Uwe gehen in die Disko. Das haben sie heute Abend vor.

(B) Ergiinzen Sie die Adjektive (im Komparativ und Superlativ). (Nur 3) (03)
(gut, viel, klein, gern)

1.

geht Erika am Wochenende spazieren.

2. Lena verdient als ihre Schwester.
3. Amir Khan ist als Shahrukh Khan.
4. Der Salat schmeckt ihm als die Suppe. .
(C)Welche Priiposition passt? (Nur 3) (03)
1. Warum redet ihr die ganze Zeit Politik? :
2. Herr und Frau Becker &drgern sich die Verkehrssituation.
3. Alle Schiiler nehmen einem Quiz teil.
4 Rudi denkt immer ihre Schulzeit.
(D)Schreiben Sie die Sétze im Priiteritum. (Nur 4) (04)
1. Peter schickt eine wichtige Mail an seinen Chef.
2. Die Einladung meiner Chefin freut mich.
3. Die Alten steigen schnell in den Bus ein.
4. Warum schreibst du so einen grofen Aufsatz ?
5. Maria muss heute ihrer Mutter helfen.
(E) Bilden Sie Relativsiitze. (Nur 4) ' (04)
1. Die Frau von dem berithmten Schauspieler hei3t Melanie. Sie trdgt gern Diamanten.
2. Stefanie zeigt ihrem Freund die Souvenirs. Sie hat sie im Urlaub gekauft.
3. Der Junge heift Martin. Ich habe ihm meine Kamera geliehen.
4. Man findet viele moderne Gebdude in Mumbai. [hre Winde sind aus Glas.
5. Patricia und Rebekka sind Kolleginnen von mir. Von ihnen bekomme ich immer
GruBkarten aus dem Urlaub.
(F) Bilden Sie den Konjunktiv II. (Nur 4) (04)
1. Die Suppe ist zu salzig. (Wunschsatz)
2. Ich habe genug Geld. Ich kaufe mir eine Villa in der Schweiz. (Bedingungssatz)
3. Bringe mich bitte zum Flughafen. (Héfliche Bitte)
4. Anja hat viel Geduld. Sie ist eine sehr gelassene Person. (Bedingungssatz)
5. Das Auto ist zu teuer. (Wunschsatz)
(G)Was passt nicht? ( Nur 3) (03)
1. die Schuhe ----- den Kopf ---- das Rad ---- die Glithbirne : wechseln
2. ans Fenster ----- an die Tur ---- ans Radio ---- an den Tisch : klopfen
3. Gliick ----- eine Panne ----- Pech ---- einen Hilfruf ---- Ungliick : haben
4, das Licht ---- das Gas ---- die Zigarette ---- das Buch ---- das Laptop : ausmachen
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(H)Ergiinzen Sie das richtige Wort. (Nur 3) (03)
1. Man liest sie, um eine Wohnung zu finden: .
2. Man braucht ihn, um zu kochen, zu backen oder zu braten:

3. Wenn man eine Stelle finden will, muss man eine ' schreiben.
4. Um in Deutschland einen Schulabschluss zu machen, muss man zuerst das
machen.
(DBilden Sie das Passiv! (Nur 3) (03)

1. An diesem Sprachinstitut unterrichten wir Deutsch.
2. Die Kinder haben den ganzen Kuchen gegessen.
3. Sie protestieren gegen die neuen Regelungen.

4. Der Richter fiel ein verniinftiges Urteil.
Frage IV: Lesen Sie den folgenden Text und beantworten Sie die Fragen. [10]

Winterfeuer an der nordfriesischen Kiiste — eine Seefahrer-Tradition

Sylt, Amrum, Fohr und Pellworm sind die groBten nordfriesischen Inseln. Sie liegen vor der
Westkiiste von Schleswig-Holstein, dem nérdlichsten Bundesland in Deutschland. Jedes Jahr am
21. Februar gibt es auf diesen Inseln und auch an vielen Kistenorten des Festlandes nérdlich von
St. Peter Ording ein Spektakel. Wenn es dunkel ist, werden riesige Feuer entziindet. Sie leuchten
die ganze Kiiste entlang. Man spricht von inzwischen mehr als 60 ,,Biikefeuern®. Biike ist
friesisch und bedeutet Zeichen oder Seezeichen.

Die Tradition des Biikefeuers ist mehrere hundert Jahre alt. Im Frithling sind die Walfénger
damals fiir mehrere Monate aufs Meer gefahren und erst im November wieder zuriickgekommen.
Ihre Frauen und Kinder sind allein zuriickgeblieben. Mit den Feuern haben sie die Méinner
verabschiedet. Heute werden mit den Feuern nicht die Seefahrer, sondern der Winter
verabschiedet — oder die ersten Touristen mit einer attraktiven Veranstaltung begeistert. Dabei
werden alte Wethnachtsbdume, Holzabfille und weiteres Material verbrannt,

Das Biikebrennen ist vor allem ein groBer Festtag. Am frithen Abend treffen sich die Menschen
am grof3en Holzhaufen am Strand. Mit den Worten ,,Tjen di Biiki 6n!* (,,Zlindet die Biike an!*)
geht es los. Der Biirgermeister und andere wichtige Personen aus dem Ort sagen etwas und es
werden traditionelle Lieder gesungen. Anschliefend geht man gemeinsam zum Griinkohlessen
mit Kassler, Schweinebacke und siilen Kartoffeln in die warmen Gasthéuser.

Sie planen einen Besuch bei einem Biikebrennen? Dann ziehen Sie sich warm und wetterfest an
und reservieren Sie auf jeden Fall einen Tisch beim Griinkohlessen. So wird der Abend sicher
unvergesslich!

(A)Beantworten Sie die folgenden Fragen. (06)
1. Was wird am 21. Februar auf nordfriesischen Inseln gemacht? Was nennt man das auf
Friesisch?

2. Wie ist die Tradition des Biikefeuers entstanden?
3. Was machen die Menschen am Festtag?
(B) Richtig oder falsch? : (02)
1. Das friesische Wort ,,Biitke* bedeutet Feuer.,
2. Das Biikebrennen ist eine alte Seefahrer-Tradition.
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3. Heute noch werden mit den Feuern Seefahrer verabschiedet.
4. Esist ganz einfach, beim Griinkohlessen einen Tisch zu finden.

(C)Suchen Sie Synonyme im Text. (02)
1. Ereignis
2. Symbol
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S.Y. B.A. EXAMINATION, 2018
GERMAN
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(History and Literature in 20th Century)
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Time : Three Hours Maximum Marks : 80
Note :— All questions are compulsory.
Frage I: A)Ergiinzen Sie! (Nur 10) [10]
1. wurde zum ersten Bundesprésidenten nach 1945.
2. In den 50er Jahren erlebte die BRD einen raschen wirtschaftlichen :
3. Die internationale Pressekonferenz in Berlin am erwies sich fiir die
Wiedervereinigung als entscheidend.
4. Am 5. April 1990 begannen die , * - die erste nach dem
Zweiten Weltkrieg.

5. Die DDR bezeichnete sich als ein ,sozialistischer Staat der und

(1

6. Die USA mit den anderen Westméchten proklamierten den .
7. Fiir die sowjetische Zone war die Ideologie von Bedeutung.

8. Im Mai 1945 waren auf deutschem Boden nur noch zu sehen. Die
Stadte waren vollig zerst6rt und die zusammengebrochen. Deutschland
litt unter und .

9. In Westberlin mussten 2,5 Millionen Menschen von amerikanischen und englischen
Flugzeugen tiber die erndhrt,

10. Mit der bedingungslose Kapitulation Deutschlands endete fiir Deutschland das

B) Ordnen Sie bitte zu! [06]

a. 9. November 1989 i. Die ersten freien Wahlen in der DDR
b. DDR ii. Generalsekretdr der KpdSU
¢. Egon Krenz iii. Entstehung der vereinigten Buundesrepublik
d. 8 Mirz 1990 iv. SED
e. 3. Oktober 1990 v. Mauerfall
f. Michael Gorbatschow vi. Nachfolger Erich Honeckers

Frage I1: Beantworten Sie VIER der folgenden Fragen! [16]

1. Wie wurde die wirtschaftliche Entwicklung in Deutschland nach dem Zweiten Weltkrieg
beschleunigt? PT.O



o NS R WD

Warum gilt die Potsdamer Konferenz als wichtig?

Welche Anderungen in der DDR gab es nach der Wende?
Was bedeutet ,,Solidaritédtszuschlag”?

Warum werden die 60er Jahre als Reform-Ara bezeichnet?
Was bedeutet Stasi oder MfS?

Warum markierte das Jahr 1989 eine Wende in der DDR?
Wie kam es zur Wiedervereinigung?

Frage III: A) Beantworten Sie VIER der folgenden Fragen! [16]

1.

Sl A Al o

Was fiir eine Rolle spielt der Erzéhler in einem epischen Text?

Was ist eine Sage? Erldutern Sie die Merkmale anhand eines Beispiels!
Was bedeutet eine Anekdote?

Welche Rolle spielt der Konflikt in einem Drama?

Welche Merkmale hat die Gattung Lyrik?

Wie unterscheidet sich eine Komddie von einer Tragodie?

Was fiir eine Rolle spielt das Lyrische Ich in einem Gedicht?

Welche Merkmale treffen im Allgemeinen fiir die Gattung Novelle zu?

B) In welchen Genres konnen die Gattungen Epik unterteilt werden? [08]

Schreiben Sie kurz tiber alle Genres der Epik!

Oder

Erldutern Sie die Merkmale der Epik in Bezug auf das Thema, die
Handlung, die Zeit und den Raum!

Frage IV: A) Beantworten Sie SECHS der folgenden Fragen! [24]

1.

AN

Welche drei Teile gibt es in dem Mérchen ,Die Sterntaler *?

Was lernen wir von der Fabel ,Zeus und das Schaf*?

Charakterisieren Sie Faust!

Worum geht es in den Gedichten ,Lesebuchgeschichte ‘ und ,Gesprdch*?

Die Mauer in verkopten Herz. Was ist damit gemeint?

Warum sagt das Lyrische Ich ,,Adieu Land* und ,,Adieu Freunde™ in dem Gedicht
,Adieu Land‘ von Gabriele Eckart?

7. .Wausste ich, als die MAUER fiel, die MAUER steht.“ Erldutern Sie diese Zeile!

Charakterisieren Sie den Mann in der Kurzgeschichte ,Die Kiichenuhr‘ von Wolfgang
Borchert!

Erldutern Sie folgende Zeile von der Kurzgeschichte ,Die Kiichenuhr. ,Er dachte
immerzu an das Wort Paradies...!*
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Note :— All questions are compulsory.

Frage 1 [32]
A) Beantworten Sie zwei der folgenden Fragen ! (16)

1 ,, Kinder sind naiv und unschuldig “ Erldutern Sie diesen Satz anhand der Beispiele aus
dem Stiick ,,Max und Milli*!

2 Beschreiben Sie das Verhiltnis zwischen Peter und seinem Vater !
3 Welche Probleme der Kinderwelt stellt das Stiick ,Max und Milli* dar ?
4 Wie verliert Peter sein Geld? Wie wird ihm geholfen?
B ) Beantworten Sie vier der folgenden Fragen ! (16)
1. Inwiefern schildert das Stiick das Familienleben und die Lebensformen in Deutschland?
2. Wie ist die Beziehung zwischen Max und Milli?
3. Warum will Max nicht ins Bett gehen ?
4. Charaktarisieren Sie Milli !
5. Teilen Sie Thre Lieblingserinnerung aus der Kindheit mit! Mit welcher Figur aus dem

Stiick kénnen Sie sich identifizieren?
6. Wie kommt es zur Freundschaft zwischen Max, Milli und Peter?

Frage 2 [16]
A) Ergiinzen Sie ! (nur 8) (08)
1. muss oft bei Gesetzen zustimmen.
2. Der Bundesprisident von Deutschland wird fuir Jahre gewdhlt.
3. sind die Energien, die man aus Sonne, Wind und Wasser gewinnt.
4. Inder Schweiz, in Deutschland nennt man die Abschlussprifung
5. Den Teil lernt der Auszubildende in der Firma.
6. Die Region um im Osten ist die trockenste Region in DACH.
7. Die Kinder in DACH haben eine , das heift sie miissen zur Schule gehen.
8. In Osterreich sind die und die Lehrpléne im ganzen Land gleich.
9. Herta Heuwer hatte einen Imbissstand in

10. Im Café Hawelka im 1. Wiener Bezirk treffen sich viele . P.T.O.




B) Ordnen Sie zusammen ! (08)

1. Wichtiger Wirtschaftsfaktor Wien
2. Miilltrennung Berliner Mauer
3. Stephansdom Ressourcenverbrauch
4. Zytgloggenturm Ohne Pestizide
5. Teilung Deutschlands Azubi
6. Okologischer FuBabdruck Ermeuerbare Energien
7. Bioprodukte Bern
8. Duales Ausbildungssystem Recycling
Frage 3 [32]
A') Beantworten Sie vier der folgenden Fragen ! : (16)
1. Welche Moral vermittelt die Fabel , Eine Schwalbe macht noch keinen Sommer’?
2. Welches Gastarbeitergedicht hat [hnen am besten gefallen 7 Warum?
3. Was bedauert der Dichter Reinhard Mey in seinem Gedicht ,Poor Old Germany*?
4, Welche Gefiihle werden im Gedicht ,Mailied‘ von Goethe ausgedriickt?
5. Wie wird die Beziehung zwischen Oliver und seinem Opa in der Geschichte ,Kein Platz
fiir Opa® dargestellt ?
6. Beschreiben Sie die Kaffeehaustradition in Wien!
7. Wie interpretieren Sie das Gedicht ,Das Baumlied® ?
B) Schreiben Sie kurz iiber vier der folgende Themen ! (16)
1. Das Universitétsleben in den DACH Léndern
2. Miilldetektiv
3. Bodensee
4. Berlin
5. Deutsch als Amtssprache
6. Neue Lebensformen in Deutschland
7. Die Geschichte der Currywurst
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S.Y. B.A. EXAMINATION, 2018

HINDI (f&=<1)
(General Paper-II)
ATHTIET-2
(FErt, W TE @)
(2013 PATTERN)
ug ;. dF "ue quTih : 80
USRI —()  ROHR—ga. ef. At W
el 3 Ay
(i) HATA—FU. Ef. GUH ToshI
gEAT —(;) |t 7 sifen §
(77) TIfeft R fa@ % uvei & qUie ©|

1. fefafed 4 & fedl el & sw fafey - [16]
(1) ‘wHEA’ FHEFl B wAEE A V=i H fafEw|
(2) ‘'SHEA HE A FHEHl & YR W AAHE w1 wARI-faAu HifS |
3) ‘v@ TH faaE ¥ # FAEE TG T FE hl T HIWU|
(4) ‘T TN’ we % Ne h mieddal e wife |

(5) ‘forTee =’ el i gl S H WUg seAl bl oEed o Uedl 87

P.T.O.



2. fiafafea & 4 f&=l & gl & s fafew . [16]
(1) ‘S[& & &l wfaa w1 wend  fafem
2) ‘Ug’ wfoar # dftflda U &t SyEfr fafew)

3) ‘Q BT I ASE' Hiddl HI FdlhlcHhdl FaEU |

(4) ‘Ta W H' wfgar w1 wEnd fafeu)

(5) ‘TA' Hfad ®H SMUR W TERG SW™ Gd@ w1 e wifew)

3. (o) frafafeq stamoi § ¥ fedt wan &1 wued =men sifsw @ [8]

(1) ‘m 9§ <, TR gfew & o 9kt oSfedr AA A T
@A T emEd frem ®

2) ‘o =, <€ A, S A A wme.. <@l @, " HH
% ) A H/E F U W W ORI AN T WeR] e H

(am) fr=fated sfemeol § & foRdl Tk 1 98ey = s : [8]
(1) ‘79 BW vl ¥ I ¥
gl R H

TG ® Kl TH ARG FW gl

[6301]-2018 2



4. (31)

(em)

5. ()

[6301]-2018

(2) ‘de o T I
weff, woft, 7g=E 9
e gah! gEl ©
frast =@ A @
gah! A § g9
RicUC o B A R

frafafeq 8 @ fodt ww w feuoit fafew [8]
(1) ‘7™ 1 M’ wEEl w1 dfed  STediE

2) ‘fafeen’ wert w1 A

(3) ‘TS T T TR wert H aftfa Smed |

frafafes & ¥ fodt e w oot fafew . [8]
(1) UR 3R omeHt’ wfogar § afvtfqa & WM &1 Wl

(2) ‘erild &l € hfadn T HEE 9,

(8) ‘OenTg’ Hfddl w1 ARM|

frafafeq & ¥ fodl oIR we-grl &1 7d AR G B W
AL I [8]
(1)  sHary-sraedt

(2) =A-8A

3 P.T.O.



(3) Tean-<ten

(4) r-TIfor
(5) Yad-dEd
(6) hic-<hail |
(3m) frAfafea & @ fodt wer oo W WaeER &1 9991 TR
EAlS 1. [8]

(1) Jgar free faaret geft oif 9 &R

(2) Tifa I Hfgen WU ¥ W= YRd HIF W WAhR |

[6301]-2018 4



[6301]-2018
(TSR Te<)

(Functional Hindi)
g ;A gue qutieh : 80
gom - —() |t v st ¥
(i) Tt R fera sih yoei & Yok T

1. frfafed s § ¥ f6<l © ol & Wfea s fafew @ [12]
(1) wEerHas B & wWeu w TR i
(2) =EEias & # fedl & T % wwEnEy|
3 TEHER & &% § & W fedl & 9O W g™ syl
(4) @A ®I 9™ & Hed Hl fare|
(5) Higd WEAHl & AT W YRE STl |
(6) TUER WEd & [ggid & T &ifau)
(7) Yesq 9@l @eE w1 gEE U= Sifeu

(8) oI & YR fafew|

2. (31 fi=fafed 4 @ f&=kl 9) &1 ysmafHe ygfea & fedt &9
fafem [8]

(1) Accepted for payment

(2) For information only

(3) Seen and returned with thanks

[6301]-2018 5 P.T.O.



(4) During this period
(5) It is suggested
(6) This is certify.
(am) fr=fafea st el # 9 fodl s & & waf fafew: (8]
(1) A hard worker
(2) Hold the candle to the sun
(3) Once in a blue moon
(4) To walk on air
(56) Meeting of the eyes
(6) To react sharply.
(3) ffafed s=e-gm § 9 fodl 9”& 7d s as § wEm
Hifeq [8]

(1) 3RI-31H

(2) hicayg-wfcag
(3) cRuf-qeut
4) WL
(5) HUR-HUIT
(6) fear-gten

3. (%) frfafed # 4 f&dl wh 93 &1 AT GIR HiWC [5]
T I9a TR e, iRmeR & ergme st g el A frem
TR fieg fa., ke & 99 T & fau At &t ¥ el G-
HT TIA TAR i |

[6301]-2018 6



(em)

(®)

[6301]-2018

AT

TS WRIeTH, 3T & owade s qegd 31Ul YRR J&sh

SN

foghal’ MR & AW &k &l 50% Uaal A 951 qAq YL 20%

F9 < & aR H Rrewwd-u fawa ¥
frfafed & @ fodt T 99 &1 TYA IR &INC [5]

‘TR YR’ & aRdue Ygq URER, We §%, Sl °nl, AR
® IMEnr § W T e & fau eega-uw feen/faed €

SRE]

Y 9AEd H WA d. 4015 1 T BSR hl Wk @I T g1 ST

IMET YEHSE, Sk A% dekl Hhl Wk YAH UedA & fau eweed

1 faea ®

frafafed 4 ¥ fedl e =g @1 &l 6 e <ifNT @ [6]
A leader is the servant of the people. We remember the story
in which Christ found his disciples quarrelling for leadership.
Christ said, “Let the man, who would be the servant of all,
be the leader of all.” Some persons do great things for their
personal benefit. A businessman works from morning till midnight.
He makes millions. Yet he is not a leader of men, because

he lives not for others but for himself.

7 P.T.O.



e

SR-afea=a el AfRTaaid JHE hde ThNIHSE TTdl, 39
Ie8. TM=AT aarEl S8 oo AfKHEER SHedl. el fae™ 2a
STIAMT o 3Te¥l, Q= Sy, @ arfsie Afvgfa o daarer=n
T IRIedd W= Jfyshaadi=n ®eall gt MR ER0 hEd
gfte 3Td Hea=l SXdl. a1 HEGhiad ol dled Tl =M= STeei
fomm fifRear 9 B9 omdl Oihfds fI—oq@R U S
= S AEe THSCd] WA, TE Tl SO IS AnTedl HHSTed
A, e Al fohm A, Uiehfds e I9d A
GG

4. fmAfafeq § & fFR =) T@d U9 & SW fafew [16]

(1)
(2)
3)
(4)
(5)
(6)

gAY es  fedl ®1 Heheu  hl TR HIfWT |

IRAF Siaq s fm & & § yged 8 daet B @ ey
STEER "HiEgHl w qiEE ST

fFed e W gew el

T & g W faeg wifew

fofU &1 STeRFRd HI HHIEU

5. fmafafes § 9 fesl 99 w fowfer fafew . [12]

(1)
(2)
3)
(4)
5)

[6301]-2018

e & T
T HIEAE] I T
Higdl e

foqmad &1 @&y

AIAE & THR |



Total No. of Questions—>5]

[Total No. of Printed Pages—3

[5301]-2019

S.Y.B.A. EXAMINATION, 2018
R : fowrw 1
(HINDI : Special I)
&t e @ faeE
(2013 PATTERN)

Seat

No.

T : di° He

ot — (1) | T st €

(11)

ofeft ok faw siw T & e E

1. (3 fr=fafea 9ol § @ fF<l B 999 & I TH-Uskh o |

()

fafew -

(1)
(2)
3)
(4)
5)
(6)
(7)
(8)

[6]
gush W™l RS wEd § 2

wel weit fedt # Woa & "ok & 9m fafen)

IR Gf99M & TUR 9Rd &t U fafy @1 - m fafem
qoT Kl ek fomremar foffeT |

X fHd wed T ?

9 fF8 *ed § 2

TERISE TSCHST AT, Ul i TUAT hd T 7

g ot uRkwren fafe |

frefafed gsi 8 9 fo=l ufer 9ol & Sw 9489 § fafew : [10]

(1)

aren & fafay w9 fafEw )

P.T.O.



(2) SIS WISl w1 qREE g

(3) fooeft w=gi & 9 e fafew |

4) dfgEd & q e fafew)

(5) wmMfa & 3 fafem

(6) T FIY T P (R ST |

(7) RO AP YEIReN 99, RO o Sevd fdfE |

2. fmafafes # ¥ fo&zi @t w fewufrl fafey . [10]

(1) TR IR I

2 & wfew gem, vam

(3) A HI SAEATIARAY

8. fmafafea wedi & @ fo<sl 99 v & sw fafew [18]
(1) TSCHT™T 1 Hed GHEU |

(2) ‘ofEEl’ Seft w1 wEM H 4= g
(3) Uiy iy 1963 w1 ufEd <N
(4) IHfoIE & W®Y &l T HIfST |
(5) A9 Ufadd & @R fafew)

4, fAfafed wei & ¥ fdl @ 991 @1 Sw fowr @ fafew @ [12]
(1) & *t yg@ aifed w1 =y o =l § fafew)
(2) <o fafy 1 fagemsi @ fafew)

[6301]-2019 2



5. fTmafafed wei # @ f6dl & wedl & SW fowr @ fafey - [24]
(1) I & YR W HsHl o1 aifieheor fafem
(2) IR & 93 W fafew
(3) o1df uftedw &t foemedi &1 W ai=w SN
(4) Teeu &t &1 TER-YER i dell Sl & aneH @ fafeu

[6301]-2019 3



Total No. of Questions—5] [Total No. of Printed Pages—3

o [5301]-2020
S.Y. B.A. EXAMINATION, 2018
HINDI (SPECIAL II)
(ft-fastwr 2)
(Fu=TE, Weewh qur weagia & whren)
(2013 PATTERN)

9% : i He quTieh : 80
qreaqEch —

(/) 95 H @ gl SARHI—FHHeweR.

(i) - wita—fasy  gurRt.

(7i7) TAFTH G FA—ducs-sf. WE BER.
gEe —() | g aAfEd ¥

(i) Tfedt AR fed s wedl % qufe ¥

1. (3 fTfafed § 9 6l ©: T & S® Th-Tsk o H fafew : [6]
(1) ‘I g wi<’ ew # fead woevel & e ogem ¥ 2

(2) vRel fegq foaare & © 2

(8) TIHA & URER H HHE-%H & I ?

(4) TEH HHEAE FIEE K AT ?
(5) HER wHAET ufERum % wfa § 2
(6) YR o & K AH F AT ?

(7) WH HEE HEIUN ok wig 2

(8) fogrdi &t T @1 AW fatew)
P.T.O.



(am) fr=fafea § @ fodl uife 9w+l o S d8w § fafew : [10]

2. (31)

(em)

(1) oRaa 3 oFa fogke fea 2

(2) VRS @ Yfa®@ F TwSH A Wl T2

(3) WA HY AMd g ?

(4) ®EH w1 =RF-fauor Fifsm)

(5) fick & sM H FHIR F Fgd § ?

6) T F HA & favivand fafem)

(7) WW & ® T g &I TIH HI F Hed § 2
(8) ‘faeri o W@ H IR W &I YUEA 7§ T ifu)

frefafed sEael § 4 ot e & 98y = s @ [5]
(1) ¥ wea g W, T8 & 99 TH H AfE IS I H AER
T @M A& wmEm ey fwEr #17
2) “im & fau oféfrhe =t omovadar & A Y9 g A
g, dvF # 6| foew Wit # A e U ¥, safan sem
g1
frfafed saael 4 9 f&d @ & §6ed = & ;o [5]
(1) “Ifem s urm U9 w1 T drel BewE|
2 ¥ i T fyw, faar wfe o sma”
(2) ‘g0 A, <ed heH, SHA G fud difd
wfa Tife gem f&a, <€, w© =@ d@fa

3, fafafea & @ fesl @9 w1 o SW IMe-ed Ufeqal d fafew @ [18]

(1)
(2)
3)
(4)
5)
(6)

[56301]-2020

- i<’ ek w1 fomis 9@ T R

FE o @l W W WA % URaR &t g fafa & 2
FHER h FUNGIRS fauri @ 9ussT |

‘TRE F wEE H ameadd &1 feEm gen e &ifs
forel @ 1 Hara wfed €, TW WH i Hhed T 2
foert ¥ wen sAfdg &1 wEAE <Rl faeex G oer 2 w® i 2

2




4, frafafea 4 & fodt ek 991 1 S fawr ¥ fafew [12]

(1) SUAE o d@l o ¥R W ‘9g H @R gel STeH! 3T Wi
gHter SIS |

(2) ‘T3 H @ el oIeH SUd o W@ Ul ol Afel-fesm &ifeg |

5, fi=fafed & @ fogl & uvl o W fawr @ fafew [24]
(1) & & d@l o TER W ‘P g Fwi’ Aesd w e S|
(2) ‘g FA H' ARH oK MO Dl WK TIK  HITST |
3) ‘Wm Hifa & g wfa § dfed W F MUR W TR HIfTU|
(4) foed & <@t foRmmd fafew )

[5301]-2020 3



Total No. of Questions—5] [Total No. of Printed Pages—3

[6301]-2021

S.Y. B.A. EXAMINATION, 2018
PERSIAN

General Paper II

(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :—(1) Attempt all questions.

(2) Figures to the left side indicate full marks.

1.  Write a critique note on Umar Khayyam as a Rubai writer.

Or

Mention the contemporary poets of Umar Khayyam and determine his position

amongst them. [15]
2. Write in your own Persian the views of Umar Khayyam on any three of the
following : [15]

~tosd (D
S
=7 ()
Uinssiri ()
=l (0)

P.T.O.



Discuss the characteristics of the poetry of Hafiz Shirazi. [20]
Or
Bring out the mystical aspects of the poetry of Hafiz Shirazi.

Write in your own Persian the views of Hafiz Shirazi on any three of the

following : [15]
oo
SLJs (0
g ()
F (™
Lss 2 (8)

Explain in Persian or translate any five of the following couplets in English or

Urdu or Marathi. [15]
cosiphLolPh b 0T ()
f'f,gu”chLuruiTugw
(/u/)/?,J//J!fi‘)Lb/. (r)
Ik ZUe 1S Uk ,é{g/t,&
crallelp e (F)
(/lgdl,?uﬁu"fw&»
ek TS EAT ()
crSug SUEu S E

2 [6301]-2021



bl (7021
Fosile LS Sz
b SV S = U F
CuFus sy S
Fe Epeg e
L gibe oy

(o)

Q)

(2)

[6301]-2021



Total No. of Questions—5] [Total No. of Printed Pages—4

o [5301]-2022
S.Y. B.A. EXAMINATION, 2018

SANSKRIT [G-2]

(Gadya and Padya)

(Samskrtarnavah)

(WeepaToia:)

(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
q% - o q™ TSRUT TUT - 80

ol — (/) Wd YA oifed sTRa
All questions are compulsory.

(i) SEMhElS &k IO SR,
Figures to the right indicate full marks.

1. Translate any two each from Sections ‘A’ and ‘B’ into Marathi or
English : [20]
‘e efr ‘T’ fouTTIgT YR RO gl WIS feRar SUSA HIOTR
ExE
Section ‘A’
(fFamr ‘a1)

(7)) <AMgEETE 9 FHcqEH | Aged Wa Il fageel wa il sTEReen Wl
sifafacal We || ArA-ee Huifor | aif Jfaqet = saior | Jr=eameh
gafa @ = o)

(/) HH: — T dEEU: |
T SEHALANN IR o HeaH: |

AqeEHIsE fardl 9 WomAfy Herw:

P.T.O.



Helehd: — HfadeaH |
i — g =
TeqH: YoaydMl Wiiddr @ Hedd:|

I F WeAHl clich HAGEY HEAH: |
(777) Fg=srenydl T difqal SEd qom)
T g faguiar aREmeac |l

SEHIECR Tl qeRadl  Toasd o |

o famaee: <N W fag:
Al AW A SIATHge: ||
Section ‘B’
(framr ‘=)
(/) ITUvErE ggaRas el
TUrgeeHl  fasRrgere: |
FYYTT  [ATITEIAN
FHHSEA AR |
(i) Stass <@fa faumge
TEE W TR faaR |
g WA o ats
aft gaEd wEitg =)

N e

(if7) W Fvefufiedairaii<sas g

FaassEfdar W fadl Fad q@  HifiE: |
TEACIYTa ToRAdl d9d I 9
weefeased qofa fg o gE &@ =SS

[6301]-2022 2



2. Explain with reference to the context any one from each Sections

‘A’ and ‘B’ : [10]
‘e enfr ‘F’ faumTdil U UaRTd WERH TASIRI A

Section ‘A’

(faamr “31)

(1) 7 EREHARE T WS geaEfd |

(77) TEEAEYEEA A YEfede
Section ‘B’
(fqumr ‘=)

() yHafd "7 A S fers faurefda )

(7)) IqE AR WE S |

3. Write a long answer to any one of the following : [15]
FHIUER Tehld HlAER Sk <ol
(/)  What lesson we have learnt from a story ‘Ta ==’ ?
‘I T W HAGT SUU HIVAT Y Bl 2
(i) Explain content of a lesson ‘TERISIUETHY .
BNERE UL LR NI I N e LA

4. Write a long answer to any one of the following : [15]

HIVER TehTd HiowR IR <.

NOCes

(i)  SARISAIfdieTe i |

(i) SIugHfd: wHUgHfdSH |

[6301]-2022 3 P.T.O.




5. (A) Write critical notes on any two of the following :  [10]
HIE gl foe=es a fom
(1)  Preaching/Advice of the T®.
Tedl SURT
(77) QETEfd: |
(if7) JESITHANT: |
(B) Answer in Sanskrit (any five) : [10]
GEHAUMd I M (HIUART °T=)
(7)) 3fased fased gwfden: soddg, Ued HEN AW Wihay ?
(7)) & T qUH GEE@HAN add 2
(7in) wgeRon foh WA ?
(7v) &= AN ufek: Hga: ?
(v) Jgcdfear@n: fFar &: ?
(vi) “RIch=& Wl 1 ?
(vin) : & ywafa ?

[6301]-2022 4



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat
No.

[56301]-2023

S.Y. B.A. EXAMINATION, 2018
SANSKRIT (H&hd)
Special Paper-I

[ sreEvTEtaayt, gdfoem 9 wifecta srefeme (3@ 1, 6) ]

[Kavyasastravimarsa, Vrttavichar and Kautiliya

Arthasastra (Adhikarana 1, 6)]
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80
9% : diF d™ THRUT TOT : 80
N.B. :(— (i) All questions are compulsory.

(11)

wd g Sifed  eTRa.
Figures to the right indicate full marks.
SSEtherd S qUu U gEifaar.

1. Give reference to context (any fwo) : [10]
HogH WU o (Rl qreid)
(7)) SAAGRTENYdagd Agd q HeAHd |
(i) 3 v T g Taa:|

(ii)) A ARRRAUHT TR R H |

2.  (A) Define any any one 3@&R along with examples : [5]
HIUAE Tl STARNE TGO TR
(1) YT~
(1) 3UHII

P.T.O.



(B) Define 9 with example (any one) : [5]
I HIGR SRR hU (AR Teh)
C/ EEREIL
(i)  TH=fceTehT |
(C) Fill in the blanks (any five) : [10]
e q@d (g usa)
(1') quw: .................................. |
(11') qqr"d OEQN%”\OK’{ .................................. \—ﬂﬁ-l
(11-1') ml:i. F’{&TUE %l?ﬂ‘_ﬁﬂ .................................. el %%:n-l
(]V) :IW' ﬁ-ﬁ:fﬁ_rqﬁgl?ﬁ- .................................. aﬁd‘—qﬁl
(V) iaﬁgrm aa-gﬁwa- .................................. Waﬁl

3. Write an essay type answer (any one) : [10]

qfae® W @l (SRt Tehrd)
(1) Explain ‘3uHsA’.

‘TR T H.

(i) Explain Tl

‘FrIAgT’ W H.

4. (A) Give reference to the context (any two) : [10]
Toey TR W (R SRi)
(/) ‘=ag wa fen’ sfa wifew:)
(i) Y] ATl |

~ S

(77) GNP @i igesfaTerai<  guasEd |

N

[6301]-2023 2



(B) Select the correct pair (any five) : [10]
sfod g fafegd (Fomfy gsemm)

(1) <SvgeH: (7) afwefion eforsTen
2 (i) TE:
(3) TaTagsad: (iff) FeR:
(4) fSdf=3: (iv) JSEA:
(5) dAeEHAS: (v) STEHYG
(6) URIEIE: (v) HiIeTEy:
(7) ot (vii) SaIfeerd:
5. Write critical notes (any ¢wo) : [20]

foo=reh e fael (FIoemEl raier)
(1) ShsEeE: T TS,

(i) TRIEdid: I Hearidd:

(i) To=mEgeEEn: |

[6301]-2023 3



Total No. of Questions—5] [Total No. of Printed Pages—3

o [5301]-2024
S.Y. B.A. EXAMINATION, 2018
SANSKRIT
Special Paper II
ITERT (Vedasaurabha)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
g — () Wd YA defau ofevds o).
All questions are compulsory.
(i) I9EHSte AF YUl U <Eifaan.
Figures to the right indicate full marks.
1. Gcidisl HI@EE G@d g Ha & [10]
Translate any t¢wo of the following with an explanation :
(a) a%WQQW:WW#@:ﬁWI
S G gl v 9g dfd uid weErn Su
(b g T ety 11‘LTGI:|
¥ W sredfeord weERyfaEe
(0 | wEH: UsH eEferiRye-maiise |
s wal wtae T w el e dfeh skem
2. fovaiocEaRyE® (FeR 3.33) AR THURU . [20]

Appreciate hymn favenfrsmdidarg (Rgeva 3.33)

P.T.O.



fehan/ Or
|G I CA MG o | o R 1 o RO e i 1 IR TG

Write short notes on any fwo of the following :

(1) FagE  9SI&R
Commentators of the Rgveda

(2) HHTEYRH (FFee] 3.30) |
(3) SSEEFH (S 5.80) |

3. HIUAE FrE wHeH T wU o [10]
Explain with reference to the context any two of the following :
(a) 9EF U wel fown safd 9 wd o]
(b)  TBHAERHAT A |

(¢) STIM-G wdafd|

4. TEAAUH! HIOER Tehrd HiowR IW M [20]
Write a long answer to any one of the following :
(7))  SRTEREEE |
(77) <AEMafd: |

5. U&hadymd W o (SR @) o [20]

Write answers in 9%hd (any ten) :

(1)  FUESEeHE S fey 2

(i) G FEmEeR S 2
(ii)) HHISRUUS: HEH STV Wihd: ?
(iv) : ISHEM: WfeeEufEe wrafd ?

[6301]-2024 2



(v) heb Vea: KWW OMl: Fa=I: ?

(vi) Vedic Mythology =& Ted &l : ?
(vi Sfeal fear sfa foRoor «w=n: <gammn: ?
(vifl) FORATSET: i fu gar faue fawem |
(ix) VSHoRURES  (319deR 3.4) HO: @ ?

o

(x) 3UMeE US® FAfcd: k1 ?

(x1) R hid Y dia ?

(xi) YIOER 3 F& d|& W AW ?

[6301]-2024 3



Total No. of Questions—5] [Total No. of Printed Pages—5

S;;jt [5301]-2027

S.Y. B.A. EXAMINATION, 2018
ARABIC
General Paper II
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

1. Translate into English or Urdu or Marathi any ¢wo of the following
passages : [16]

T DA | R w0 D RV N VAP W e i W B QO 1)

sl LBl Sl 1,85 el SOl s 5 40,1 (Ll A L

T - - 2 27

LTI S B e Slladicls ST G Slsls aJUL 5 6,51 )

s - 8 P

S :s;;\..c«.s A L/sfzz.}fp.};g« o LSS e 55y Slaslids O) -

> £ PR w

FJU 5l W 50 Slhad A L0 p B8 I e e SULS

P

Y P4 PR T 5
u_&,_/wa.;i a\J.;O‘ 9 u\.}ae;j\ ./k:— L”S‘ Lg J.*a.a.:

Al " . o8 P A i DA A NP L A RN S S T
ebian) AU 0 sediadl Banl) 5 05501 031 S oamall £l L7 ()
O AN PRSI s ? T P A
93)\..‘.,4; L.n,ﬁ 39 fs.ﬂ..;/zﬁ.xj\ CI.B B _9_3)\._,’,4_1._2 ./L_>=_AM..¢._H Lﬁ_sl 4>r 5 9

ST . 8

2

@ = ) > - s . 7 il > - - > 8 -
J..,.f _?.;J.?.n; B (\.w}[\ CJ.:’- _‘3&.@};) dj..».l._w..i_u el (C_.:.@_H

P.T.O.



" >4 .7 S N T TRt S E 2L N 4o 8YE
(i\.&_/;g g./}j..fz.fa s Q;A;M:.M ols 8'ghell BB A5 JUB f).;j..i._ﬂ

L. , P I R A d o
g;,..e.:..?\ 9 J ‘}.i.l.m.:.j‘ ('..l...w 9 f\.ﬁ}“ ('..l._.w 34..9 L_¢_>=_SE._: ‘ j._l._,\p 9 ¢ g_,w.:-

/G/

S 23 S L AU A e A A LR

_dj.’.ﬁ\..w.“ .:L.: :;,u MM g_,.;..kx” CJ./ _} (;.)J.gj‘ Z)T)AM

L.g.\. (.:—/ ...p é:..;zj \J.:— 1’.:..\5 j..a :JLA..\.M UL§J LJ R d’jb LS/” (C)
(fa ) o . 5. P

-

-

‘o

Gl p s oS ;Iywy;w@yn

@ - 8 . 2,
il}; J&MJ A-A-M J{ & L.A.J ¢ 4.—\.M L-\.—ﬂ

> Y we o PEEE N ) . Ehd 3 s 7 > -
:3.9,./3\.;45‘ G2 &Sl.;« j‘ in.'..:a s C}J J.f _:;\..& cf)j.:\.,.,a c&.}_&

T {",«/‘3
- U2 J‘"_J

01//‘

fj :.h;ij\ ! L.C« g.)‘}é 5\_} o.L...,a.\.A

bzi\

2. (A) Explain with reference to the context any four of the following
couplets : [08]

e il ol Lo a9 ()

\

e

2 s

J.\..’jejﬁ-j(.:\;;

L,a.,c

> L.

. & s > . . > ER
i S E LW G sl ()

13 9

N Bt

st _ﬁi;u’ﬁuﬂsj N

,./; > }}ﬁ/’(

oJ.Mfej.s J«..C« :j.:b Al (\‘)

F

Jslaaliy ST LS55,
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wWe ~

<5 _ B 7 B
dRAT G 0Gh cdb sy S
2 - <52 O R
J;‘j‘b (iLJB’\.é SAis 9 Comor
i) s O 5 G875 GG A8
4 Z78 o 85 7 5 7 52
J.,: s La S gu2 e %LAS- g;\..g
s 2 s B L L s o F 8 s
PO Lila R sz L,_,.U\ &2

s 0

L £, 2 o
J@L}- L e d_}é L\Qj.n.bj J.fzig_}

(B) Summarise any ¢wo of the following lessons :

g 5 Z
i) Azl

r&h&s |

Casl

3. Translate and explain any ¢wo of the following Surahs :

S{S/) A

> 7 2 5 s

).ﬁf/;,‘
J.:.QJ‘G‘)‘}M

P.T.O. 3

(2)

()

(V)

Y

[08]
V)
(Y)
(Y

[16]

QP
(M)

Q)

[6301]-2027



Define and illustrate with examples any ¢wo of the following
topics : [16]
SN NEIENEP
AL AT Il (7
(O 0Ly SBoBIT (v

s o 28

O nadiy el sl ()

(A)  Translate into English any four of the following sentences : [08]
¢ S i el L;,f S0 ()
_c,.;fj\\.us ; L,Z i N (Y)
L SIS L L Y ALY ()
LA G e S R BRI SRS (8
CELES a1y Glsb 0E L SRS (o)
LS OGN Ak Bl ()
aaB it s LS s ()
(B)  Translate into Arabic any four of the following sentences : [08]

(1) Do you read and write Arabic ?

4 [6301]-2027



(2)

(3)

(4)

(5)

(6)

(7)

Don't play in the street.

Open your note-book and write a short essay.

Majid, sit on your desk and read.
Write your name on the new note-book.
Please put the letter in an envelope.

The earth revolves around the sun.

[6301]-2027



Total No. of Questions—4]

[Total No. of Printed Pages—3

Seat
No.

[5301]-2028

S.Y.

B.A. EXAMINATION, 2018

ECONOMICS

(G-2 : Modern Banking)

Time : Three Hours

NB. —

(2013 PATTERN)

Maximum Marks : 80

(1)  All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1)
(1)
(111)
(1v)
(v)
(vi)

Explain
Explain
Explain
Explain
Explain

Explain

the

the

the

the

the

the

evolution of Banking in Europe.
concept of overdraft facility.
principle of liquidity.

types of crossing.

importance of E-Banking.

meaning of Monetary Policy.

2. Answer the following questions in 200 words each (any ¢wo) : [20]

(1)
(11)

Explain the methods of Remittances.

Explain the process of opening and operating of Deposit Account.

P.T.O.



(i) Explain definition and characteristics of Bill of Exchange.

(iv) Explain 97th Constitutional Amendment in co-operative law.

3. Answer any one of the following questions in 400 words : [20]
(1)  Explain the evolution of Banking in India.

(i) Explain the functions of RBI.

4. Write short notes on (any four) : [20]
(1) Types of Commercial Banks Deposits
(77) Limitations of credit creation
(1) Principle of profitability
(iv) Debit card
(v)  Tele-Banking
(viy NABARD.
(TS TUTaR)
9@ @ dF A THUT TOT : 80
oAl c— (/) Wd WA Uefam oerusw e
(i) 3TEhele I UTAE qU U SFifodr.
(7)) TSUEE B TUSHT YYAUTAHT TR,

1. @il g3l S IRl 100 Vssid el (Rivdel <) [20]

(7)) FAINA dh FOHEET Ichidl TR H.

[6301]-2028 2



(7)) 3AfYRS Haedd Theddl TS H.

-

(777) QAT dd WS h.

(iv) YWHIE YR T HA.

(v) 3-dfeh9 Heed W H.

(vi) <oHfguge HRomEr 318 T &,

2.  oid YeET SW el 200 v fdgl (HRaE @) [20]
(7)) U9 uefawar=n 9gdl W &9

(7)) <9 WA USRI o AArguarEl gihar Tee R

(7i7) Tafma o= =ren wE ot e &

(7v) PR HEAGIA 971 FAGET TIL L.

3. Weiicide! HICAR! TehT Y9 400 ¥&sd Sw feml [20]

(1) HRAIdA o AUt Schid! I .

(i) YRdE e dah=t wE W H.

4, Ufyw dw fagr (FoEEr |w) [20]
(1) AU dh=a A< GhRR
(i7) UaHfdde Taie

(7i7) MHISdl dd

(iv) 2fae =1
(v)  IcA-sifehT
(vi) HETe.

[6301]-2028 3 P.T.O.



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [5301]1-2029

S.Y. B.A. EXAMINATION, 2018
ECONOMICS

Special Paper I

(Micro-Economics)

(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

() Figures to the right indicate full marks.

(i7i) Draw neat diagrams wherever necessary.

1. Answer the following questions in 100 words each (any four) : [20]
(1)  Explain the tools of economic analysis.
(ii) State the exceptions of the law of demand.
(ii7) Explain the law of supply.
(1v) Explain the assumptions of ‘law of variable proportion’.
(v)  Explain the characteristics of Duopoly.

(vi) Explain the thoughts of Prof. Amartya Sen on Welfare

Economics.

P.T.O.



2. Answer the following questions in 200 words each (any two) : [20]

(1)
(11)
(117)

(1v)

Explain in detail the ‘Ricardian theory of Rent’.
Explain the scope of Micro-Economics.
Discuss the Marginal Productivity theory of Distribution.

Explain the characteristics of Indifference Curve.

3. Answer the following questions in 400 words each (any one) : [20]

[6301]-2029

(1) Discuss the various types of Price Elasticity of
Demand.

(i) Explain the characteristics of Perfect Competition and its short
run equilibrium of a firm.

4. Write short notes on (any four) : [20]

(1)  Basic Economic Problems

(i) Determinant of Supply

(i11) Relation between the total revenue, average revenue and maginal
revenue

(iv) Price discrimination

(v)  Collective Bargaining

(vi) Social Welfare Function.



(W& wdiR)
9@ : dF A THUT TOT : 80
g — () Wd YA defau ofeds o).
(77) ISEhErd 3k gU IO Seifodm.
(i) AEFh qY FoAk AhAl DI

(7v) USHHE Tos TUSH UYAUAR] TRE.

1. Erfid Yl Yl 100 Vg SW ol (FveE \m) [20]
(7)) offde favoroum=l WEd TR &
(7)) WAFOR fEEE el STUeTe 9.
(i) YISl W e .

(aWaN

(7v) WA YHIOTAT R TEd T &

(v) fefasmafuer=l afyme T &1
(vi) HeAUhRl SUEEe 3ied o9 a9 faemr s &

2. Wiod Yyl SW Ykl 200 IS fagl (HivdEl a@e) [20]

o o M o

(1) T wefors faga gfamw W= &1
(7)) geH AAIMEAE A T H.

(7in) TaveAr=n foud Scacsar fagasl == %

(7v) U TehrEl AfYTSed TS AL

3. Tclicdsh! VMRl TRl U 400 & SR fofel : [20]
(/) Hriea fead oafesed=n fafay gwm=r ==t &

() o W AR onfr gul weddia e TRORn STeushleld SHard
o w1

[6301]-2029 3 P.T.O.



4. diedd foa fa@ (FvEE |am) [20]
(7)) HAYd smfYw g

(i) Ecu™ TR

(7i7) THRO U, SOEd udt enfr foma gl A gey
(iv) Heaug

(v) |Hfes HEwRwER

(vi) WIS Hedol held.

[6301]-2029 4



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

S.Y. B.A. EXAMINATION, 2018
ECONOMICS

Special Paper II

(Macro-economics)

(2013 PATTERN)
Time : Three Hours Maximum Marks
N.B. :— (i) All questions are compulsory.

(if) Figures to the right indicate full marks.

(i17i) Draw neat diagrams wherever necessary.

1. Answer the following questions in 100 words each (any four) :
(1) Explain the importance of national income.
(2) Explain the determinants of effective demand.
(3) Explain the causes of leakages in multiplier.
(4) State in brief the difficulties in Barter system.
(5) State in brief the concept of deflation.

No. [53011-2030

: 80

[20]

(6) Describe in brief qualitative instruments of monetary policy.

2. Answer the following questions in 200 words each (any two) :
(1) Explain the concept of Gross National Product (GNP).
(2) Discuss the Classical Employment Theory.
(3) State the effect of inflation.

(4) Explain the objectives of macro-economic policy.

[20]

P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(1) Explain the phases of trade cycle with causes and effects.
(2) Define the Macro-economics. Explain the difference between

the micro- and macro-economics.

4. Write short notes on (any four) : [20]
(1) Importance of Macro-economics
(2) Say’s law of market
(3)  Principle of Acceleration
(4) Cash balance approach
(6) Cause of deflation

(6) Instruments of fiscal policy.

(W& wuiar)
9% : 9 a™ THUT TOT : 80
o — () "d WA defau TeRdd AR
(7)) SSEIHEr® 3k G YO YU Fifadn.
(iif) 3TYIH d9 Yook IMHA .
(iv) TSUiEISt Hob TUSH WITUCIRT TRIE.

1. Gt 9=l ekl 100 vSid SR fofel (Shivdgt |m) [20]
(1) TS IO Hed fave &
(2) YYEl AU S(GUR Tk TR H.

(3) U JARNIA TSBdiEl hRU TR .

(4) =% fama gsdia sie=vil digsT |ETL.

(5) <FATHe ¥ Hheudl e fovig &
(6) THfOEFS YRV TUTHE® WEAE oiSHd duie .

[5301]-2030 2




2. Teld YeAEl YAHl 200 WS SWferel (FoEl g) e [20]
(1) T UL 3ART & Hehoddl W H.
(2) U RfasIes gAaquefts faga fave .
(3) oA RO §Am.
(4) Tga onfdw oRumeEr Sfese fave @A

3. Weliciie! IVl TeRl Y9 400 ¥k S fon [20]
(1) AUREHREAT Il A=A HRU T qROMEE T 6.
(2) T AAWS AR W GEH o A FRMEH A g TR
F.

4, dieHE feur fag (FIERE 9®) [20]
(1) A G w1
2) ‘¥ = aeRfosEs e
(3) YA dw

(4) TEf¥eeTs gRIRM

(5) TATHSET  HIO)

(6) TSThISE  HOM= |TeME.

[5301]-2030 3



Total No. of Questions—4+4] [Total No. of Printed Pages—6

o [5301]-2031
S.Y. B.A. EXAMINATION, 2018
POLITICAL SCIENCE
General Paper II
(Government and Politics of UK, USA)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
() Figures to the right indicate full marks.
1. Attempt any four questions (in 100 words each) : [20]
(1) Ethnic movement in USA
(i1) Importance of local self governement in UK
(i11) The position of King of UK
(zv) Civil Rights Movement in USA
(v)  Vice President of USA
(vi) Women's Movement in UK.
2. Attempt any ¢wo questions (in 200 words each) [20]
(1) Senate is the most powerful upper House. Discuss.
(i1) Write the functions of Ministry of UK.
(i11) Explain the position of President in USA
(1v) Explain the functions and powers of House of Commons UK.
3. Attempt any one question (in 400 words) : [20]
(1) Explain the salient features of UK constitution.
(i1) Explain the structure and functions of Supreme Court of U.S.A.

P.T.O.



4. Write short notes on (any four) : [20]
(1) Magna Carta-1689
(i1) Functions of Pressure Group in UK
(ii7) Republican Party in USA
(iv) Labour Movement in UK
(v) State Government in USA
(vi) Salient features of Ministry of USA.

(WS wA)
9% : A9 A THUT TOT : 80
ol — (1) W U e seavds e
(i) ISEhel® ek YO O SRiford.
(7ij) USHAIS B TUSH YYAUCART Tl

1. Oeiadst HUGE o) Y99 diedl (YAHt 100 IE) [20]
(1) oHARGda A Fdacs
(i) Foeudid e RO Hed
(i Toeudid TS @M
(fv) SHRGdA I TFhil Foodes
(v) oW 3U-Tegeas
(vi) ToehHial SRl Fodes.

2. TClaUs! VGl &M ¥ HWieal (YHl 200 IEE) [20]
(H Toe & wdds afts wyme oM. == &
(i) TS AAHSATEl H1d G
(777) STAfhdial ToCeATe T T .

(iv) TidS=A HhIAH TUURRET ™ o SRR T .

[6301]-2031 2



3. WoiicUs! UM Weh Y99 diedl (YS! 400 T) [20]
(1) T TouEeTEl dfyrtel T
(i) AUR&=N Halea AEear=a EE, AfMER 9 & T 6.

4. dgeRE few fomr (FvdE @w) [20]
(/) MR TFRMET FT5-1989
(1) TASHHA TETAEE wY
(ii)) STRedia usciir ud
(fv) TASHHIA HTR FBde0
(v) SR SIS A

(vi) oSHf=a Afbear dfyre.

[6301]-2031 3 P.T.O.



[5301]-2031

(Political Theory and Concepts)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Attempt any four questions (in 100 words each) : [20]
(1) Explain the meaning of political theory.
(i) ‘Population as an element of state’. Explain.
(ii7) What do you mean by 'Authority’ ?
(i7v) Explain the characteristics of democracy.
(v»  Write the charcateristics of sovereignty.
(vi) State the meaning of globalization.
2. Attempt any two questions (in 200 words each) : [20]
(1) Explain the liberal and conservative political theory.
(i1) State the Marxist concepts of state.
(i11) Write the merits and demerits of democracy.

(1v) Explain the impact of globalization.

3. Attempt any one question (in 400 words) : [20]
(1) What is right ? Explain the types of rights.
(i) What 1is liberty ? Explain the different types of
liberty.

[6301]-2031 4



4. Write short notes on (any four) : [20]
(1) Nature of political theory
(i) Types of power
(7i7)) Social Justice
(1v) Direct Democracy
(v)  Sovereignty

(vi) Affirmative Action.

(TS 9THIaR)
9% : d= A" THUT TOT : 80
oAl — (/) Wd YA GiEfau dEvds TR
(77) Tehels 3Tk Ui U Syifadn.
(if) TEHTES @ ety e
1. WO@UHR! ®OAE TR G Gedr (YA 100 TE|) [20]
(/) U fagEmEn o1 e &
() ‘R EE THET Uh HSh | TR R
(7i7) A wWuS & ?
(fv) EITEET Afttey TR &
(v) GEYgHEmEl dfyme o

(vi) SIATfaehieRLom=n a1l 9T

2. Eiau®l wIUGE &M e Hiedl (Y@ 200 VRM) [20]
() TUTH g JiEmH IS f9gE W &
(i7) TN AR Gehed 9.
(7)) IR TO-a  fefel.

(7iv) Srfderiehiome giRoma T2 .

[6301]-2031 5 P.T.O.



3. Tclcdsh! VAR Uk W99 Wedl (YIS 400 VEM) [20]
(/) THh WIS HE ? BTIRME YHR TR R
(7i) WA WIS wF ? W fafay ger wWse &

4. deR@ faa fagr (HveEE = mw) (20]
() W fagae @&y
(i) Fdd TR

(fi7) THISR =9

(iv) 9A& TIhIEl
(v) HEHd

(vi) FhRIHE il

[53011-2031 6



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5301]-2032

S.Y. B.A. EXAMINATION, 2018
POLITICAL SCIENCE
Special Paper 1
Western Political Thought
(2013 PATTERN)

: Three Hours Maximum Marks : 80
. :— (1)  All questions are compulsory.

(i) Figures to the right indicate full marks.

Attempt any four questions (in 100 words each) : [20]
(A) Aristotle’s cycle of political change.

(B) John Locke’s views on Civil Society.

(C) Rousseau’s views on Human Nature.

(D) J.S. Mill’s views on Utilitarianism.

(E) Hobbes’ idea about Sovereignty.

(F) Plato’s concept of Justice.

Attempt any ¢wo questions (in 200 words each) : [20]
(A) Explain Rousseau’s concept of General Will.

(B) Explain the duties of the king suggested by Machiavelli.
(C) Explain J.S. Mill’s Representative Government.

(D) Explain Plato’s views on Education.

Attempt any one question (in 400 words) : [20]
(A) Explain Rousseau’s idea of social contract theory.

(B) Critically examine Karl Marxian theory of Historical Materialism.

P.T.O.



4. Write short notes on (any four) : [20]

(A) Locke’s views on Natural rights
(B) Hobbes’ views on Human nature
(C) Marx’s views on Revolution
(D) Machiavelli’'s views on Religion and Politics
(E) Plato’s communism of property
(F) Aristotle’s views on slavery.
(W& wUiR)
q% : || A THUT TOT : 80

oAl c— (1) Wd WA grefau srerds S
(i7) ISERSI® h YU IO FFIfod.

1.  Welicust HIvae |/ Y99 Gredl (Yt 100 V) [20]
(A) of=ica 9 IoeE 9Radd =,
(B) WM =l AR GHNEEH fOER.
(C) =T HHAl TyEfasgs  fo=r.
D) . Ty THe=n IugedEs.
(E) fesel QEv@r=  Heu.
(F) o= =@l Hehed.
2., Toldust HIUCE 9 Y Gredl (Y& 200 IRE) [20]
(A) ®OET ‘IER T Gdheddl TR &
(B) Ufhlsecld WiffTdoiclt TSt haed T .
(C) . ww. fhod wifdaffye woAmEs foeR o= &
(D) wierEn feufasas foar T &4

[65301]-2032

2



3. Weiicisel HIVAEN Tk T99 Gedl (400 ¥&M@) [20]

(A) TO= g+ fagafaras faar s &

o DN

(B) o #eden Ufdefaes  wifdeacm Jercas aReor &

4, drEewn foo fag (v W) [20]
(A) dlha STfir ehfaoas foar
(B) e TS @eEfased  four
(C) WEHd widifasas  faar
(D) wihuee™ oH a IS®RUaEE®  faar
(E) wi=1 HU<i=n qeag
(F) oft=icas cEyawadt fa=um.

[5301]-2032 3



Total No. of Questions—4] [Total No. of

Seat
No.

Printed Pages—3

[5301]-2033

S.Y. B.A. EXAMINATION, 2018
POLITICAL SCIENCE
Special Paper II
(Political Sociology)
(2013 PATTERN)
: Three Hours Maximum Marks : 80
. :— (1)  All questions are compulsory.

(i) Figures to the right indicate full marks.

Attempt any four questions (in 100 words each) : [20]
() What do you mean by Political Socialization ?

(i) What do you mean by Political Sociology ?

(i) What do you mean by Political Culture ?

(iv) State the concept of Alienation.

(v What do you mean by Political Change ?

(vi) State the nature of political recruitment.

Attempt any t¢wo questions (in 200 words each) : [20]
(1)  Explain the contribution of Karl Marx in Political Sociology.
(if) State the nature of political participation.

(i) Explain the types of political culture.

(iv) Explain the nature of political influence.

P.T.O.



3. Attempt any one question (in 400 words) : [20]
()  What do you mean by Behavioural Approach ? Discuss the
basic features of Behavioural approach.

(if) Discuss the meaning, nature and types of political legitimacy.

4. Write short notes on (any four) : [20]
(1)  Political Ideology
(i) Political development
(7i1) Influence
(iv) Max Weber
(v)  Sub-culture

(vi) Importance of political participation.

(W& T UIH)
9% : 9 a™ THUT TOT : 80
o — (/) §d WA e sTeRdsd SR
(77) 3S9Eiwele Fh YUl U SFiforra.
(7i7) WSHEE! He3 IUSH WYAAGAeRT gl

1.  WeiidUsh] SIUdEl =X 999 deal (Y% 100 <) [20]

(D) USTeh g HTHITSTRL0] WUl hig 2

(i) USThE THRRITSE B|US &E ?

(i) TSI A BN & 7

(Iv) TUAVEET Hheddl 9rT.

(v) UShiE Uiedd =uS & ?

(vi) TS WA @&®9 9.

[6301]-2033 2



2. WUl HIvdel M 93 dedar (Yde 200 L) [20]
(7)) Uk HHSRMS 6 HEEd aied T52 .

(i) TSTHIT Feurm= @&®9 9.

(aWaN

(ii)) TSHE & FHR T H.

(Iv) USThE YUEE eI W H.

3. @ciadeh! ®IUAE Teh YIT Geal (400 IEM@) [20]
(7)) adaREt gfedi WUN wE 7 gdqdRl gfedmren Y@ afdrsert
EEIlCa

(i) TS Afvme 1, Wey oA YW=t 9=l S

4, Jgedd feur fo@ (SR |\mw) [20]

o (aV

(1) qsehtg  faamyoTe]

(i) USHhE famm

(777) 94
(iv) e oo
(v)  SU-Ghdl

(vi) TS TN Hewd.

[5301]-2033 3



Total No. of Questions—4] [Total No. of Printed Pages—4

o [5301]-2034
S.Y. B.A. EXAMINATION, 2018
HISTORY
(General Paper-II)
[Modern India (1857-1950)]

(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

NB. — (1) All questions are compulsory.

(z1)  Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) [20]
(1) Explain the concept of ‘Rule of Law’.
(2) Achievement of Theosophical Society.
(3) State the philosophy of moderates.
(4) Define the concept ‘Civil Disobedience’.
(56) Explain the objectives of Muslim League.

(6) State the nature of Wavell Plan.

2. Answer the following questions in 200 words each (any {wo) :[20]

(1) Explain the causes of failure of the Rising of 1857.
P.T.O.



(2)

3)
(4)

(1)
(2)
3)
(4)
(5)
(6)

[6301]-2034

State the importance of Anushilan Samittee in Revolutionary
Movement.
Give an account of the Quit India Movement.

How did the Hyderabad Princely State merge with Indian Union ?

Discuss.
3. Answer the following questions in 400 words (any one) [20]
(1) State the achievement of the Arya Samaj in Reform Movement.
(2) Give an account of Women’s Movement in India.
4. Write short notes on (any four) : [20]

Concept of ‘Dyarchy’.

Rise of Nationalism in India.
British Policy about Press.
Main provisions of Act of 1919.
Narayan Meghaji Lokhande.

Integration of Junagad Princely State.



(WS BUieR)
q% : W q™ THUT TOT : 80
o — (1) 9d WA Gefdau oAeRas S
(i) wodRde si% U T Sl
(7)) TEHEE! qA TUSH WEA-UAeh TR,

NN

1. @il Y3l 3w Ukt 100 VsSid Tl (RIvdEl 9m) [20]

(1) ‘hIcae T B Hhoddl W &

(2) TusTarmierd TEEENET HEA.

(38) WAl doaAE HIL

(4) ‘"Ofegg wERYT’ @ Yheudl T .

(5) WM ot SfeR T &

6) ‘O deHE WEY G

2. W YEAET SW el 200 v foel (HIvdeEr ae) [20]

(1) 1857 =1 33@ HHUIE RO TR H.

(2) WP Fodsudid STFieM FHide e WA .

N N

(3) ‘®El WRd' Foedddl gdid ol

(4) TEER FEEN ARG R fafeieor wemger ued ofe 2 ==t

< .

[6301]-2034 3 P.T.O.



(1)
(2)

(1)
(2)
3)
(4)
(5)
(6)

[6301]-2034

Trelldl gt IW 400 VR forel. (FIVAE! Teh)
3 gUTS= guROT  Feddidial ShIaiRl |

IRl St FGeedeiial gxiid ol

greqa feor fomr (SRl |r)

g Tsausdl (Dyarchy)

ARl qsamRre 3¢9

fafeom= gau=fass R

1919 =41 HEGAIA THE Ta!
TFO HES e

o~ A

AMTE  H¥UME  fafetenon.

[20]

[20]



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

No. [5301]-2035

S.Y. B.A. EXAMINATION, 2018
HISTORY
Special Paper 1
(Ancient India : 3000 B.C. to 1206 A.D.)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. .— (i) All questions are compulsory.
() Figures to the right indicate full marks.
1. Answer the following questions in 100 words each (any four) : [20]
(1) Explain the sentence ‘Caves are the source of History’.
(i) Explain the concept of ‘Hero-Stone’.
(1i7) Express the various views on the decline of Harappan Culture.
(iv)  Write the causes of decline of Mauryas.

(v» Write a note on progress of science and technology during
Gupta period.
(vi) Write the features of Cholas’ Art.

2. Answer the following questions in 200 words each (any two) : [20]
(1)  Write the causes of rise of Mahajanpadas and Magadh.
(i7) Explain the concept ‘Ashoka’s Dhamma’.
(7i7) Write a note on ‘Satavahan’s Architecture’.

(iv) Evaluate the achievements of Harshavardhana.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(1) Discuss the sources of Ancient Indian History.

(if) Write features of the administration of Mauryan Empire.

4. Write short notes on (any four) : [20]
(1)  Periplus of the Erythryan Sea
(i) Religious beliefs of the Harappan People
(111) City Administration
(iv) Amravati Stupa
(v)  Kalidas
(vi) Chalukyan Architecture.

(W& T UIR)
9@ @ dF A THUT TOT : 80
g — () Wd Yy defau oAEvasd aed.
(77) ISEhErd ok qu IO geifedm.

1. Ecld eE S Uds! 100 wRimed fag (FoeE wmn) [20]
() Ui SfaemE WieE eTE, T
(7)) ‘AT’ @ Hhed N TR &
([i) T G&hdren —grftaseh fafay wa femn
(7v) B G gt sRehaEr o

(v) T<errddiel  fam-do-m=l  Gid=n  SAeen =

(vi) <AhTcdd o=l afyme  fegl

[6301]-2035 2



2. TEld YT SW UAST 200 V=HEd faw (FomE ) [20]
(1) WEEEYST=N I]AUMHAT @ HUY WETETA] I9ATAT HROTHHTET
.
(77) SWIHET ‘o9’ & Hhed N TR R
({i7) WAdRAhIci  TIITholdl Hifedl  foTal.

o0

(7v) TOOHAA HEARE  YoIHOT  h.

3. TEld YEAET SW 400 V=mWEd fa@ (FI0ME W) [20]
(1) YA YRdE sfqedren 9ieEmEn w=i .
(7) HEHCAA TRIEAE Sk df¥Te g .

4. e few feer (@ \w) [20]
(H IRewm & fo iy @
(i7) TOHIEH e Sfed
(1) TR J9mEA
(7v) SAHEdl WU
(v)  hifce™

(vi) STRIeRTA  STehal.

[6301]-2035 3 P.T.O.



[5301]-2035

(Diplomatic History of Marathas : 1707 to 1818)
Time : Three Hours Maximum Marks : 80
N.B. .— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Explain the concept of ‘Chauth’.
(i) Explain the concept of ‘Baluta’.
(ii7) Explain the importance of the Treaty of Warana.
(iv)  Write a short note on ‘Raghunathrao’.

(v»  What is the importance of the Treaty of Bassein in the Maratha

History ?

(vi) Review Local Administration of the Marathas.

2. Answer the following questions in 200 words each (any two) : [20]
(1)  Explain the archeological sources for the study of Marathas.
(i7) Evaluate the achievements of Peshwa Madhavrao-I.
(1i1) Assess the achievement of Barbhai Council.

(iv) Discuss the Judicial Administration of Marathas.

[6301]-2035 4



3. Answer any one of the following questions in 400 words : [20]

(1)  Discuss the expansion of the Marathas in North during the

period of Peshwa Bajirao-I.

(77) Discuss the contribution of Nana Fadnavis in the Maratha
History.

4. Write short notes on (any four) : [20]
()  Gotsabha
(i) Dabhade Episode
(irf) The Treaty of Wadgaon
(iv) The Battle of Kharda
(v)  Yeshwantrao Holkar

(vi) Provincial Administration.

(W@ T UIM)
9% : 9 a™ THUT TOT : 80
g — (i) Wd YA defau ofevds o).
(77) ISEherd ok gu IO geifed.

1. @iid 9=l SW 100 vseid faer (Sivdgl |9m) [20]

(1) ‘g’ E Ghoudl W S

(7)) ‘aga’ & Hhedd TR HI

({f7) AR TR e Ta¥E &L
(7v) ‘TIAeRE’ AR e M forEn

(v) oAl d8™ HUSU=al SideMdid Hewd % 3Tg ?

(vi) WUSI= T YITEATET e A

[6301]-2035 5 P.T.O.



9. Wl YeAmET IW 200 Vs fo@r (Hived €M) [20]

(7)) AUSHTAl IR SR QA WIEAN g &

(i) 9R HYed UYE Il SRR e R

o0

(fii) FRYE HER=A HMEAKE Heaadd .

(iv) HUSA=AT g Y9MEArl <=1 .

3. Tclcdeh! HIVARI Tehl U ST 400 Ve[ fof@l [20]

(7)) Ufec SIS U9 A= higeldia HUST=Al Schelal STfoanr=n

EEilcT
(77) HUSITAl Sfaerddial AT ReUEE  IareAl AEEE] =™l .

4, dgedd foar fa@r (FodE 9wR) [20]
(1) RIGESR |
(i) TS YR

(f77) dSMg=l dg

(ivy) Wsd= der

(v) I9EdUd By

(vi) YIdE 99mEE.

[6301]-2035 6



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat
No.

[5301]-2036

Time :

S.Y. B.A. EXAMINATION, 2018
HISTORY
Special Paper II

[History of Modern Maharashtra (1818 to 1960)]

(2013 PATTERN)

Three Hours Maximum Marks : 80

N.B. .— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
3)

(4)
5)

(6)

Define the concept of ‘Industrialization’.

Explain the philosophy of the ‘Prarthana Samaj’.

Discuss in brief the educational contribution of Karmaveer Bhaurao
Patil.

Give an account of Rise of 1857 in Maharashtra.

Write is short the contribution of Dr. B.R. Ambedkars to
Economics.

Explain the importance of the ‘Non-Brahmin Movement’.

2. Answer the following questions in 200 words each (any ¢wo) : [20]

(1)

(2)
3)
(4)

State the work done by ‘Mahatma Phule’ regarding the emancipation
of women.

Discuss the philosophy of ‘Prarthana Samaj’.

Discuss the Bhill uprising in Maharashtra.

Examine the development of Peasants movement in
Maharashtra.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(1) Review the contribution of Bhau Daji Lad to socio-religious
reform movements.
(2) Discuss the contribution of Gopal Krishna Gokhale.

4. Write short notes on (any four) : [20]
(1)  Urbanziation
(2) Moderates Ideology
(3) Gopal Hari Deshmukh (Lokhitwadi)
(4) Work of Karmaveer Bhaurao Patil
(5) Jungle Satyagraha in Maharashtra
(6) Razakar.

(W@ T UI)

9@ : dF A THUT TUT : 80
g — (/) |d Y9 Gefau ofevds eed.
(i) SSERSl® 3k YU T geifed.

1. Tdda geEl SR 100 vk sl (FveE e9mw) [20]
(1) ‘3iErieer’ Hoheudt TR
(2) WM GHUNE dEd TR
(3) wHAR WHUE U aren Riem &Edia dreEE ==l S
(4) WHERTSEME 1857 <A 3@ gdid el
(5) Tf. JEERd MPSH e AVEEMEHA  ANEHET  dieedd  Hifedl
ToTa.

(6) TMBURR Tdddid Hagcd T Hh.

2. TEd TEAET SW 200 Vi@ fowr (S §|) [20]
(1) for=n Jugwi=n fawll " o Al %ol & 9O
(2) ‘WA’ wESTE daeEEl 9=l
(3) TeR=ra fYocom=n SeEmt == &

(4) TERMSEMA Ided d@dedi=l oeard T &

[5301]-2036 2



3. WOddh! FHUCRI TR U= IR 400 =@ TR o [20]
(1) 9 TN e ar= qmifsieh o e GURUMER! dedaidial ARG
SMeET =
(2) M@ F M@ Al HEE GfawR 99 &

4. deq@ fear fagr (FvEE =ww®) [20]
(1) ‘AR’
(2) HeTesael faamETol
(3) T EL G CAESCIM]
(4) HHIR 9R=RE TR &E
(5) HENTHE el AR
(6) TAPR.

[56301]-2036 3 P.T.O.
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[Medieval India (1206 to 1707)]

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
3)
(4)

(5)
(6)

Write salient features of Ziauddin Barni’s historiography.
Explain the term ‘Mansabdari’.

Explain the term ‘Din-i-Ilahi’.

Write salient features of architecture during the reign of Sher
Shah Suri.

Account for the position of women during the Mughal times.
Review the relations between Shah Jahan and Shahaji

Raje.

2. Answer the following questions in 200 words each (any Zwo) : [20]

(1)
(2)
3)
(4)

Evaluate the economic reforms of Alauddin Khilji.

Examine socio-economic life during the Yadavas.

Account for the extension of the Mughal Empire by Akbar.
Discuss the political relations between Aurangzeb and Chhatrapati

Shivaji Maharaj.

3. Answer any one of the following questions in 400 words : [20]

(1)
(2)

[5301]-2036

Evaluate the experiments of Muhammad-bin-Tughlagq.

Discuss the Land Revenue system of the Mughals.

4



4. Write short notes on (any four) : [20]
(1) Architecture during the reign of Allauddin Khilji
(2) Razia Sultana
(3) Diwan of the Mughal Administration
(4)  Ship-building industry during the Mughals
(5) Jahangir’s Rajput Policy
(6) Chhatrapati Sambhaji and Prince Akbar.

(WS wUie)
9@ : dF A THUT TUT : 80
ol — () WA U SAERIE AT
(i) ISElhel® HEH YO O SRifor.

1. YEd el 3w 100 v foml (FveE emw) [20]
(1) fooeem atemn sfaedore=l 3w afyse o
(2) ‘HAESRE’ @ W T &
(3) ‘dH-3-saEl’ @ OHA W HU
(4) VWME YN FEAA TIARA 3ok afyrsed ferl
(5) HuawEiE foren gifeed=n I =

(6) TENEE M0 IEST TS IAHEid WER HaUmET  STeel =

2. &I TRl SW 200 viid feRl (wvEd d@F) [20]
(1) oceed feesi=n offdie GURU= JeaHdT .
(2) AR FHISS-AE  SioAr= T H.
(3) ITHENH TH@ UHSAAT holed] Toam=n g =@l
(4) SRSE enfn Tedt frerst WeRS Armdid TSehd gedEt ==
.
[53011-2036 5 P.T.O.




3. TUI@UHl HIUAEI Wk YA IR 400 I forn

(1)
(2)

ere - fo-goaer= WA JoaHds .

o= S99 Hega ggdret ==l

4. deRE fou fag (FvEEr =r)

(1)
(2)
3)
(4)
5)
(6)

[6301]-2036

AceSed  RacTSiiehTel  TTIcIshet

e gear

e eIATdte  feam

HEThTeA  STRTSTeneoft e

STERfE TSTqafaes  GRol

TAGA WAST HEWS SO qSTYA AR

[20]

[20]



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [5301]-2037

S.Y. B.A. EXAMINATION, 2018
ANTHROPOLOGY
(G-II : Indian Tribes and Tribal Development)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(if) Figures to the right indicate full marks.

1. Answer any four of the following questions in 100 words each :[20]

(1) Write in detail the meaning of ‘Denotified Tribe.

(if) State the concept of Tribal Development.

(i) Write the geographical classification of Indian Tribes.

(iv) Explain the tribal movements after independence.

(v» What is participant’s observation ?

(vi) Explain the constitutional provisions for Scheduled Tribes.
2. Answer any two of the following questions in 200 words each :[20]

(1)  Explain the functions of Youth Dormitories.
P.T.O.



(i1)
(117)

(iv)

What are the types of interviews ?
Explain the problem of Illiteracy.

What are the causes of tribal movements ?

3. Answer any one of the following questions in 400 words : [20]

[6301]-2037

(1)  Explain the difference between Caste and Tribe.
(i) Describe the various approaches of tribal development.
4. Write short notes on any four of the following : [20]
(1)  Ghotul
(if) Integrated Tribal Development Programme
(fir1) School drop out
(iv) Deforestation
(v)  Nomadic Tribes
(vi) Participation of Tribes in Freedom Movement.



(W& wUiav)

q% : dF A THUT TOT : 80
el — (1) §d WA Gefau oeRds ST
(i7) 3ETREl® 3k YU IO SFIfadm.

(fi7) WU TS TUSH WYAUCART UMl
1. Eclaush! HIUEE X YeAE W Gkl 100 W[ fawr [20]

(1) fome S grEn qui od forn

(7)) oTfcardl faerm@m=l Tehoudl 9N

(7f7) WRAE STfardi=  siriiferen  afietor  ferat.

(iy) TEGAR Fldlal el Joddl T2 &

(v) He9rit e ®os &g ?

(vi) Sgfad SHEE Hcdea SeAlcieh  Tqel TR 6.

2.  WedUshl IR B YIEl W Yde! 200 ws=Sgdd fawr ;0 [20]
(/) garEEl @ fove &
(7)) Yaredia fafay geR T &

(777) TRe&RO= THEn W &L

(fv) oTifcardl woddodi=il 0l 1T 37d ?

[6301]-2037 3 P.T.O.



3. Weiicide! SR ekl Y9 ST 400 veaivedd fawr . [20]

() Sd 01 SHE Al Wik TS .

(i) offqorsl fommm fafay gfewm == &

4. Tyl HICRl WReR few fawr [20]
(1 g
(77) THifcH® nfqardt fom s
(i) QeFfors el
(iv) SIS
(v)  wedl Sl

(vi) A Foddodidical STfeardi=n  HgHml.

[6301]-2037 4



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat
No.

[5301]-2038

(Gg-210 :

Time : Three

S.Y. B.A. EXAMINATION, 2018
G2 : GEOGRAPHY

Elements of Climatology and Oceanography)
(2013 PATTERN)

Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.
(iii) Draw neat diagrams whenever necessary.
(iv) Use of map stencil is allowed.
1. Answer in 20 words each (any fZen) : [20]
(1) Write elements of weather.
(2) What is wind ?
(3) Write any two factors affecting on distribution of air pressure.
(4) Write any two names of gases in the atmosphere.
(6) What is Diurnal Range of temperature ?
(6) Define sea breezes.
(7)  Write types of precipitation.
(8) What is evaporation ?
(9) Write any ¢wo names of islands in the Indian Ocean.
(10) What is cyclone ?
(11) Write any t¢wo factors affecting on salinity of ocean water.
(12) What is continental shelf ?
(13) Write any f{wo names of ocean currents.
(14) Write any two factors affecting on density of ocean water.
(15) What is ocean trench ?

P.T.O.



2. Answer in 50 words each (any ¢wo) : [10]
(1) Troposphere
(2) Mountain and valley winds
(3)  Ocean salinity
(4) Weather and climate.

3. Answer in 150 words each (any ¢wo) : [20]
(1) Explain the heat budget of the Earth.
(2) Write the factors affecting on the horizontal distribution of
temperature.
(3) Write the characteristics of ocean waves.

(4) Write nature of oceanography.

4. Answer in 300 words each (any ¢wo) : [30]
(1) Define climatology and explain its nature and scope.
(2) Explain planetary winds with the help of diagram.
(3) Write causes and effects of formation of ocean currents.

(4) Explain the importance of ocean as storehouse of resources.

(TS wUIaR)
9% : 9 a™ TRIT 0T : 80
o — (i) T WA SAeRIE  3TRd.
(i) SSE®El® Fh YO O gFifaar.
(iif) 3TEaYIH dY Yok IMhHcAl el
(7v) RN VRfGd aRua™ WaEf - e
(v) UCHEE Hos SUSH YIAUAh TarEl.

1. T Yt Godeht 20 vegid S foer (FiviEr 9 ) [20]
(1) daEeme ¥e& Tl
(2) 90 WUS &HE ?
(3) A= fIaumeR 9o &M g Hew  forl.
(4) SAEOTG STHURAT HIVAER &M agEl A foal

[5301]-2038 2




(5) <% qUHE wET WUN & ?

6) @R ar e foml

(7) 9= YR fom

(8) wvdiYad WIS ®wE ?

9) &t wemEmda € SeEt a9 o

(10) 3MEd WU A ?

(11) IR &RAeR 9Romm &) g9 92 forgl.
(12) TH5ge HH WIS &E ?

(13) HIUAR & EFRX YEREr e o

(14) UFRSETA FdaR GRUMH HIOM HI0E! &M o2k foral.
(15) Wt Tl WU wE 2

2. et YeAEl Uil 50 Wiedid W fow@l (FvmE @)
(1) dqUeR
(2) TR 9 T R
(3) HFRSEm=  &Ral
(4) TO 9 TAMEM.

3. Wefid Yyl Uikl 150 vieeid SR fol (RIod @)
(1) Yeaa siifoors Ggem T &

(2) dmaEren fafasmar fadqromer gfomy wom "esw ol

(3) W et afysel fern
(4) IIRTEE Wey fogn.

4, Eelld YA Yl 300 VSR W foawl (AR gH)
(1) TAEFRTEET e §RH &Y 9 AW W w1l
(2) TR AN YRR SAFHAEE TR H.
(3) WrR yarren A= wRo 9 9o foE
(4) HYTEUE RlER WUH W WEE T

[5301]-2038 3

[10]

[20]

[30]
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Gg-210 : Geography of Disaster Management

Time : Three Hours Maximum Marks : 80

N.B. —

(1)  All questions are compulsory.
(i) Figures to the right indicate full marks.
(i17i) Draw neat diagrams wherever necessary.

(iv) Use of map stencil is allowed.

1. Answer in about 20 words each (any fen) : [20]

(1)
(2)
3)
(4)

(5)
(6)
(7)
(8)
9)

State any f{wo examples of manmade disasters.

Define the disaster management.

Write any ¢wo objectives of disaster management.

Give any two functions of Revenue Department in disaster
management.

What is Rehabilitation ?

State any two flood prone regions.

Write any t¢wo drought prone regions in India.

Define the Earthquake.

State any {wo causes of landslide.

(10) Give any two examples of non-exhaustible resources.
(11) Give any two manmade causes of forest fire.
(12) Write any ¢wo measures of control the Global warming.
(13) Define the acid rain.
(14) In which country Fukushima nuclear disaster occurred ?
(15) What is soil degradation ?

2. Answer in about 50 words each (any two) : [10]

(1)
(2)
3)
(4)

[5301]-2038

Biological disaster
Functions of Health department in disaster management
Management of landslide

Effect of Hail storms on agriculture in Maharashtra.

4



3. Answer in about 150 words each (any ¢wo) : [20]

(1) Explain the relationship between geographical condition and
disaster.
(2) Elaborate the role of media in disaster management.
(3) Explain the causes and effects of Tsunami.
(4) Write an account of Kedarnath cloud burst-2013.
4. Answer in about 300 words each (any ¢wo) : [30]
(1)  Describe the Pre-disaster and Post-disaster management in detail.
(2)  Define the cyclone and explain the causes and effects of cyclone.
(3) What is Resources ? Explain the causes and effects of over-
exploitation of resources.
(4) What is ozone depletion ? Explain causes and effects of ozone
depletion.
(WS B|UTAR)
9% : 9 a™ TRIT 0T : 80

ol — () 9d WA AERas STed.
(7)) SVEhel® 3 qUl U SFifedrd.
(iff) SAEIER A9 Ak AR .

(7v) RN WLigew duoay qEa SR,

(v) WeHidIdt Yoo USH YU Ugrel.

1. Y& AR 20 VU=KEdd IR ferr (HIvEl €@r) o [20]
(1) WAHaHG STOxi=l ®Ivdie gF 3SR <.
(2) SRR e fo@l
(3) SNURIHaEIUAT=l ®ivldel e 3fesew e
(4) STUHHERATAN Feqa faurm=ft @ved &9 &1
(5) YIEHT WUS wE ?

[5301]-2038
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(6)
(7)
(8)
9)
(10)
(11)
(12)
(13)

(2)
3)

(4)

[56301]-2038

YRATAS  hIOcATEl  TISURRG Joum=n =1 fofer.
Jerqret e for

o= g RO 9

siformeft  WreFEUiE S g 3SR S
ST HIvEl €M HHEAMHd HRO S
SMifdes qUAHare  fEEuTe wivdE @ s fern
A ISt SAEeA et

(14) Gepfern smfUdeh IOl <hlUfl QUG oSell  ?
(15) WeBE WIS &HE ?
2.  YAE! 50 VeEid SW faw (KR g [10]
(1) Sfaew s
(2)  SAUHIEATA SR fawrm=t  wEd
(3)  yHiUTdre T
(4) T IR HERMSMIA Sdiedid adon.
3. Y@ 150 V@ SW fa@ (FOWE &) [20]
(1) Ariifas dRfead 3 oMol ai=1 Hey W= &4
(2) STUTEERATAT  GERAeEET iy favg .
(3) THAHET HRU F YROMH T
(4) HERAIY MRSl 2013 AT HSADl gdid  feral.
4, TR 300 VLM SR TRl (FOME G s [30]
(1) SU<igd & AU Fewqoe gias aud .

JEd AR 9 SAadHdEl hRo § GRo T &
WU WU ™ 7 WU Afaled aueEt R 9 iom
“e k.

AT WUN I 7 SAEHeEEl RO F URom e &
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Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [5301]-2039

S.Y. B.A. EXAMINATION, 2018
GEOGRAPHY
[Gg-220 : Economic Geography (S-1)]
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. .— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.
(7if) Use of map stencils is allowed.

(1v) Draw neat diagrams wherever necessary.

1. Answer in about 20 words each (any fen) : [20]
(1) Define Economic Activities.
(2) What are the types of Economic Activities ?
(3) Give four names of non-metallic minerals.
(4) Give four types of iron ores.
(56) Give the names of oil producing middle-east countries.
(6) Which are the pollution-free energy resources ?
(7) Name the four important factors affecting industrial location.

(8) Which countries are leading in iron and steel production in
Europe ?

(9) Name the four major automobile companies in the world.

(10) Write favourable factors affecting paper industry.
P.T.O.



(11)

[6301]-2039

What is meant by shifting agriculture ?

(12) What is meant by OPEC ?
(13) Which countries are leading in wheat production ?
(14) Which railway track is called Life Line of Siberia ?
(15) Who is the father of Green Revolution in the World ?
2. Answer in 50 words each (any two) : [10]
(1) Write coal distribution in India in short.
(2) Explain market-oriented farming.
(3) Write an account on regional approach in Economic Geography.
(4) Explain Ricardian theory.
3. Answer in 150 words each (any ¢wo) : [20]
(1) Explain the concept of ‘Developing Countries’.
(2) Write importance of agriculture.
(3) Distinguish between Internal and International Trade.
(4) Why is conservation of resources necessary ?
4. Answer in 300 words each (any two) : [30]
(1) Write history, trend and production of automobile industries
in the world. Draw map.
(2)  ‘Petrol is Black Gold’. Explain with worldwide production in
Middle-east and in India.
(3) Explain Economic Development in Post-Independence period of
India.
(4) Write meaning, nature and scope of economic geography.

2



(W@ T UIT)
9% : A9 A THUT T : 80
g — () WA YA AEvAE  3ed.
(77) ISEherd ¥ gU IO Seifodm.

(77)) THhIN VLiEd oI qEET 3.

(7v) OIS dU Gech AhAl HI.

1. YIh! 20 <[ S fagr (Fudel <=/ [20]

(1) 7Y HaEmrE=l e =

(2) onfdes ogagmEre fafay geR ®H ?

(3) HIAE TR Y @S A G

(4) B Sfe |’ YR 9.

(5) WHAYE <IN @S qa MHd womn Semst A =

(6) UGHU e SSEUwiEl IS L

(7)  SErTe SRR omet. IR SO AR Heshil e |
(8) Fuuele Hard oifue we-daer 3G o=l ouEl A T
(9) A HeRARd SUEHeRT e e |Em.

(10) HIEHHA IUMMEE AN AIH SFHOR =k feral.

(11) Toeiald I =N e ?

(12) 3% WS &EF ?

(13) TRl SURAHY S U W RN ?

(14) YofErda e IeaamTe  Seisn Heifed 2

(15) <Al SRAsw= S WUE Siumel slieed S ?
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2. YIH 50 V<[ SW fa@r (Fvgt dF) [10]

(1) HIBWN 9RAa foawor oresma o
(2) werfafssd et foeg wa.
(3) onfde iendial URfires  sTvaEagdiel wifedt =
(4) TwEF fag@a = &
3. TIH 150 V=Kid SW few (FeE 9F) [20]
(1) forETeiia <9 Hhedd T &
(2) e Hewd o
(3) <G MU HAAETE AR 98 T .
(4) WEEEUT GAET el RS wE 7
4. YS! 300 Vi S fo@ (HiUE gE) [30]
(1) el HieRdRd SURTET 3fderd, sald ey d Icdig- TS TehTS=
AER wifed!  femer.
(2) ‘@S delell s |H' e Sd, § faeM eaqeeerd o 9 |
SR A=A MR T &
(3) YRAAl WAARR WYk fah™m=n ofeen =
(4) omfdeh spliemer o1 W WEY 9 AR TR R

[6301]-2039
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[Gg-220 : Tourism Geography (S-1)]

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

(7if) Use of map stencils is allowed.

(1v) Draw neat diagrams wherever necessary.

1. Answer in about 20 words each (any fen) : [20]

(1) Define Foreign Tourist.

(2)  What is Heritage Tourism ?

(3) What is Regional Tourism ?

(4) Name any t¢wo cultural factors that attract the tourist.

(5) Name any two ‘sea beach’ tourist places of Maharashtra.

(6) State any t¢wo physical factors assessing tourism potentials.

(7) Give any two historical tourist places in Maharashtra.

(8) State any ¢wo characteristics of tourist guide.

(9) Define Hotel.

(10) Write any two impacts of Tourism on Economic Factors.

(11) State any two effects of tourism on the culture of the local
people at the tourist place.

(12) In which states ‘Vaishno Devi’ and ‘Mahabaleshwar’ are
located.

(13) Which are the main attractions of ‘Shegaon’ tourist place.

[6301]-2039
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(14)
(15)

(1)
(2)
3)
(4)

(any
(1)
(2)
3)
(4)

(any
(1)

(2)
3)
(4)

[6301]-2039

Write any ¢wo types of tourism on the basis of tourist purpose.

State any ¢wo characteristics of ‘Sardar Sarovar’ as tourist

place.

Answer the following in about 50 words each (any two) : [10]

Tourism as a basic need of mankind.
Agro-tourism.
Role of Electronic and Print media in tourism.

House boats.

Answer the following questions in about 150 words each

two) [20]
Explain the nature of Tourism Geography.

Explain the types of tourism based on number of tourists.
Explain the role of travel and tourist agencies in tourism.

Explain the concepts of ‘Rail Yatribhavan’ and ‘Dharmashala’.

Answer the following questions in about 300 words each

two) [30]

Give an account of ‘Relief Factors’ in tourism potential

assessment.
Describe the concept of ‘Ideal Village’ with Indian examples.
Explain the impact of Tourism on social and cultural factors.

Give an account on ‘Konark Sun Temple’ and ‘Raigadh Fort’

as historical tourist places.



(WS wqiay)

9@ @ dF A THUT 7T : 80

oA —

() |d YT Hiefau Aevae 3.
(i) STEheld ek A YU YU SRifadn.
(777) TREN Wfgd Iy qEr SR

(7v) AEFh dY Gk Al DI

1. weld Yol W Ydw AR 20 V[ feel (FvaE g@r) [20]

(1) TRt wdewrl e fom

(2) W W WS wE 7

(3) URRE wWed ®WUN &wE ?

(4) TISHA AHNA FIOM FIUCEl S HARFfdEk =k .

(5) TRNNMIG HIUEE EF GF Jesurm=i A& |

(6) THSATAT TUE@E HIYA HAOA BRI S Whiae Hehi<l A
ESIRIIR

(7) NS SRl aF Ufdefds wefed o=l T | e

(8) TUdIH TRIGIIRMET UG QM TS 9.

(9) ‘"iea’ =i A =

(10) Ydear™ oMfdeh wehald ®ivdel & J9E Tl

(11) THeTRgelt THoiedl T koAl T&hdlek deA™ BV hHIURT
g gRom @

(12) ‘Seoieet’ ofor ‘HeeevaR’ HIVEIUEl TSI SAed 2

(13) ‘vma’ O wEeTUeEl Y@ SISl IOl ?

(14) THeHr= &q MR 9dea™ ®IvaE! &M JR - o

(15) ‘TR TR’ YTt HivdE g\ afdmed |
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2. Wid YRl W YRl gAR 50 V<[ fee (FvmEl @) ;o [10]

(1) whed : AFaEl Jayd TR

(2) FET T
(3) TTdeAmHIA SoieRIe @ WA WieETEl  fen
(4) AU e

3. Wil gl W Yl gAR 150 Vi fewl (Hiveel dF) ;o [20]

(1) W e ¥& Y W= .

(2) TIACHTAT HHTRd THeA™ YhR TR A

(3) TaEH T wew ToEAE UHAR G YfHHRI T .

(4) IA IEivad oTfor YHIMen A Hehoeddl TR .

4. TEid Yl SW Tl AR 300 V= fow (HivaeEl gF) ;o [30]
(1) wesmdl JoaHIvANId &A=l 396 A1 HeHheR diowl Jaiid <l
(2) ‘oTeyt WEl’ ¥ Hoheddl YRAE SRR fave @
(3) TIdAT UM d WiEh{deh HHER TSI YHE TR H.
(4) ‘=wme gd @’ 9 ‘e fheen’ A1 Ufdeiae qded TR |iawR
ERUERI

[6301]-2039 8



Total No. of Questions—7+7+5] [Total No. of Printed Pages—5

Seat

No. [56301]-2040

S.Y. B.A. EXAMINATION, 2018
MUSIC (&) (G-2)
(2013 PATTERN)
(fooi gorm :— O Gere WG TeE, TaR féher deen At
RIS Teh WEUient Ergan)
AT A

9% : 1 am 30 fufe THUT TOT : 20
el — () ufgenm e ter e

(77) S Tv Weh Al ARG TEAUH! HIVAE W ST THU
AR YI Hied.

o~

1.  SAIEHAGIS hIUAEl TehT I Bl afeyl (Heae™ fohan gae) @Rfafuss
. [5]

2. fogm feham gemEt IR Adet SR TeRt [T IS Afedt STRIE-3Tek1%

qohe I9g ToTal. [5]

3. 3G Wil fehar <iaia Amish! FIVAR! TRl diad ool &ed @l gue
.

4. fouo fam (®veEE €9) [5]
(1) <eREid
(2) YUG-HHRX THhI
(3) A THHI

(4) VYUY G
P.T.O.



5. e[ dud U (FRUAE gF) [5]
(1) "™ "gE fagm@
(2) Tgeart a Hlek Fadsd
(3) THM WY S A
(4)  wEEid, 9o, QEIYRITI I

6. Weliaden! HIUEE el Sidagr Steans famr - [5]
1) 49 fe. =0 I

(2) 3HERE Acaredr @

(3) 4. SeRAT IR

7. fEgE® dEd 0 (F0AEN Th) [5]
(1) # Usheiel Howre
(2) TR

(38) TMd U9 SARSH

[6301]-2040 2
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AR
9% : 1 A 30 fute THUT T : 20
oAl — e U wHG Uk oifus SR UEAide! wIUE o ST T

9 Yyd Hredn

1. A1 AYTEHATNA HIVATR] ekl IMET Aegad dfeyr fafuss &

(afaqar ). [5]
2. ORy fEher deeg W Gyol Aifedt <9 U faeE forn [5]
3. fovaa fehar svaer At wivrel Went dreare mfedt <9 o drert de

Ep [5]
4, =& W O(HIUEE U=E) e [5]

(1) @

(2 =™

(3) THH

(4) Thl

(5)  HeHI

(6) faa =R

(7) foerdt @R

(8) HAA TR

5. dur fagr (ivder 9F) [5]
(1) SrEE |
(2) A YHR

(3) T fag@

(4) dqEmETE YRR

[6301]-2040 3 P.T.O.



6. WICiicish! HIUAR Tehl Wiitdas™ & fove & [5]
(1) 3. oIga H4H @ Fed
(2) 3= e SToSEd ©i TR

7. Ociadys! HIvER! Tar faseer fawmm fomr [5]
(1) 1 Ushclell HEIA
(2) WAR WA Sesaudr=l Ugd

(3) WG 999 SIS

[6301]-2040 4
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9% : 1 o™ 30 fute TRHUT TOT : 20
ot — (i) e yed et e

(7)) THU AR G Hred.
1. THaa fohar fuedt At Sl Tent diemsl Imetd ifedl S Tewde-

e [51
2. W = (FUEE FE) [5]
(1) o
(2) HhSR
(3) A
3. Tuc A fHefawar fem fave & [5]
4., d9en W arEmen Giww sfaem femn (5]

5. 999 d THA A1 MAYERRIET Hifed! % A IUYF  drerr=l A
ferer. [5]
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Total No. of Questions—7+6] [Total No. of Printed Pages—3

Seat

No. [5301]-2041

S.Y. B.A. EXAMINATION, 2018
g fave S-1 (Ta-1)
(2013 PATTERN)
I G @ g dreq (FaR)
9% : 1% = TehuT TUT : 20
ol — (/) A GO W OGWd MEA, HaR, deen A e g Rreecen
oo wIUdE T TeE afen green.
(7)) ufgem YA Gefau e oI
(7i7) ARG UTAGR! HIUGE @ S TR WX YT Grednd.
(fv) |3 U WAM O I O SoEihe ol R

1. AIHUHAMIA IR TRl Wl Afgq@H 7 WRfadteas &0, [5]

2. WI-fH YA 9 -G AR DR TRl [T AfTeigy HiowR
ISR Hifgdl  fefar. (5]

3. TUH, Ukhdad, FOU, TIa AUl RIUAE Tt diem @R, €€, e,

HA I YHO AdEH . [5]
4, OeqE fag (FU@E @F) [5]

(1) dfugemr T

(2)  FereerRfavrsH

(8) T ARIOT TGl
(4) IWIEE Gfd T6HR
(5) s W

P.T.O.



5. < fa@ (Fodd §|) [5]
(1) 3w
(2) <
(3) e
(4) TEU
(5) =it

6. Ty for (FvERI TH) [5]
(1) & =

(2) Hita TEger fau

(8) HAR AT dEmEl Ifde™ 9 Haie AN WRq

7. 9 feRl (SUEE TH) [5]
(1) 3EE Tear@l
(2) SR @i
(3) U o

[6301]-2041 2
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qser
9% : 1% a™ THUT TOT : 20
el —gH Y3 A, THU SR YA gie.

THIe-gue fotel. [5]

-

2. TSR A€, HIMES M0 fose I yariauel fomre fa@l  [5]

3. doadda feoeht enfor @Al SSifawEr  eiesd fad=m & [5]

4. Wl WY ®Ud AGAH R Tehl TREAIRRIGEEH]  dreaard  Hifgd!

. [5]
5. dacaren fAfddfawht fafay foemuerem=n dewm  se@r = [5]
6. Tl AESA HAGNE HRffdw ITeH fav . (5]

[6301]-2041 3



Total No. of Questions—7+7+7] [Total No. of Printed Pages—6

Seat

No. [5301]-2042

S.Y. B.A. EXAMINATION, 2018
i gy wX (TE-2)
(2013 PATTERN)
qUET ATTHRATAT  YITUART  HISa)
T Wi e
9@ : 1% q™ THUT TOT : 20
o — (1) ufgem yvA gefaw siftad SR
(77) ARG W@ Ul FUE dW S THU AR U Hiedn
(777) TE YA YIH 5 A YA TEHM IO SR

1.  SHYd, =™, SHist Al SRl Ul e foeifed @@ S

(FST /&) W e Ha

2. oiyuew, ¥R, SIFYH A Yl RIEE TR T @R famne |fewr
e wifedt fera.

3. o, AJ YA, WA A Ukl KA Uehl dqCm Af¥TSIids o
F.

4. o femr (FoEE dE) e

(1) MR
(2) wa ewfor wifec
(3) =W
(4) @qon

P.T.O.



5. e faer (FodE @)
(1) W & Ugden =l offor #aier

(2) <=
(3)  duOm
4) ¥

6. Ty foer (FIUERI TH)
(1) = &
(2) TERH i 9ifta
(3) & TYH Q.

7. =S fa@ (FUCEl Teh)
(1) oiHdl 9H &R
(2) W fafEeen @

3) d = Sft. S

[6301]-2042 2



ddell

ufgem wvA defan sted TR

[56301]-2042

THIT T ;20

(7) NG wF YA HUGE qH A THU AR TRA Gred.
(i) TE TAAT YIHR 5 A YA FHM IO AT

A% : 1% aE
gt - — (1)
1. THa a« T
2. ¥R dia fergl
3. Yod fetar
4, A o€ (FUEE ure)
(1) Edl
(2) 7@
(3) UWIHR
4) T
(5) Yem
(6) WS
(7) Hm=
8) <
5. < fo@ (i@l TEw)

(1) Faemed s 9o
(2) SUded Tk I
(3) Uahdad fders

[6301]-2042
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6. dieHd fag (HIUAE TH)
(1) SSEl o

(2) T (<)

(3) U HAEE WIfUJUR JUAeHed agiE Sl hIae]

7. HIUAE Teh @l
(1) deen drEmEn Gfaa sfae™

~

(2) qHAT AESAT ddaEcs hellhd aE ol

[aV

(8) daHfEdE fag.

[6301]-2042 4
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AR
9@ : 1% q™ THUT TOT : 20
o — () ufgem uvd Gefan sifed e
(77) BN |& Ul FUCE A S THU AR YA G
(7i) TE YA YAHR! 5 A YA FHM IO AT

>

P
TRAUsg  h.

2. SHYA, e, woed A1 Uk R et W Gfaw weEed ffed
feter.

3. Yoa, Tha, faaerer @1 @ FUEE TRl dee W, @€, 26,
®A A YHO @ A

4. 3w fam (R )

(1) @ &R

(2) g
(3) HERTIdIA arhad
(4) 9gug

5. drea faer (gt @e)
(1) ¥aR dEAde e ¥ Hed

(2) YdR dEAdd  dee w|Y

(8) Tk WA W
(4) YA,

[6301]-2042 5 P.T.O.



6. g foaer (FvER )
(1) Hia frgome @w g
(2) AHETl gR BN G Y=
(3) wMd & oNygfe aIh USRI

7. =@ fag (FUEE TeR)
(1) 3wr fafeean @i
(2) U ofimEa St
(3) WK ST STt @

[6301]-2042 6



Total No. of Questions—4] [Total No. of Printed Pages—3

o [5301]-2043
S.Y. B.A. EXAMINATION, 2018
PUBLIC ADMINISTRATION
(G-2 : Indian Administration)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(z1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1)
€2))
(111)
(1v)
(v)
(vi)

Significance of 1935 Act

Welfare State

Composition of Election Commission
Lokayukta

Role of Governor

Planning Commission

2. Answer the following questions in 200 words each (any fwo) : [20]

(1)
(1)
(111)
(1v)

Cantonment Board
Functions of Block Development Officer
Composition of High Court

Functions of Gram Panchayat

3. Answer any one of the following questions in 400 words : [20]

(1)
(11)

Explain the powers and functions of Prime Minister of India.

Explain the composition, power and functions of Zilla Parishad.

P.T.O.



4. Write short notes on (any four) : [20]
(1)  Vice President
(i) Powers of Rajya Sabha
(1i7) National Human Rights Commission
(iv)  Functions of Municipal Council
(v)  Right to Information
(vi) The State Secretariat.

(AE wuiav)
q% : || A THUT TOT : 80
o — () ¥ WA FEEAE Sed.
(i7) ISERSI® h YU IO FFIfod.

1. Gt 9=l 3ck Uikl 100 visgid fogl (el 9m) [20]

(/) 1935 = FFANR HeS

(i) HAUHRR] T
(if7) TIIEUe AR A
(1v) Fﬁﬁv‘l’ﬂﬁlﬁ

(v) U= e

o

(vi) THOSH des

2, Wefiidl el Sal Yol 200 IR fa@l (Fivel g ) e [20]
(7)) SEM HEB
(77) TefakrE  eAfuewEa=l wE
(if7) AR T
(fv) UHIEECE R
[6301]-2043 2




3. Woiadsh! HIVER TRl Y9 SaR 400 ¥esid foaer : [20]
(1) YRA=AT YqueErE AR Smfor e T &k
(i oo ufoe=nt @, Afyer oo o T &AL

4, diegd few foer (HIUEE \w) [20]
(1) S9-Tgudt
(i) TENd  SAfHHRR
(711 ﬂﬁﬁq el &b AN
(7v) TRUMcIohdl T4
(v) Hifgdl 3Y&R

(vi) TSF Qigdae™

[6301]-2043 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5301]-2044

S.Y. B.A. EXAMINATION, 2018
PUBLIC ADMINISTRATION
(S-1) : Personnel Administration
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(z)  Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Meaning of Personnel Administration
(2) Features of Civil Service
(3) Importance of Recruitment
(4) Meaning of Promotion
(5) Human Resource Development
(6) Right to Strike

2. Answer the following questions in 200 words each (any Zwo) : [20]
(1) Functions of Civil Services
(2)  Objective of Training
(3) Tress Management

(4) Right to form Association

3. Answer any one of the following questions in 400 words : [20]
(1) State the problems of Personnel Administration

(77) Write Redressal Mechanism in Personnel Administration.

P.T.O.



4. Write short notes on (any four) : [20]
(1)  Direct Recruitment
(i)  Principles of Promotion
(1i7) Importance of Personnel Administration
(i/v) Benefits of Retirement
(v)  Motivation

(vi) Career Development

(WS ®qTa)
9% : 9 a™ TeRUT 0T : 80
ol — () ¥Wd WA STEvasd 3.
(i) SAIHEiE FF YU IO SFifedr.

1. el YAl Sa el 100 vss[ fore (RURE Ww) [20
(/) Ha%k GRIEATET 37
() et do=n afyrey
(7i7) YA Hed
(iv) wedrEr ofedf
(v) A6 o™
(vi) T9 &gl ARHR.

2.  Weld Y=l 3al YAl 200 veSid fasr (Svel @F) [20]
(1) G Fad &wE
(i) 9RIEUT=T ®g

(f77) TO-TUMaT  HTETIH
(7v) TEeA WUF gl SIfaR

3. Woiays! HIEE Tl Y9IE SR 400 Vesd faer [20]
(/) Uk YA 9HET 9O

(77) TRl A ST femer I
[5301]-2044 2




4, dieRE fow fag (FoERN =|9w) 120]
(1) Tl WXt
(i) ¥edid dc

(fi)) Ta® YIMEAE FEQ

(7v) TEac= wER
(v) 9K

(vi) <huard faemg

[5301]-2044 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5301]-2045

S.Y. B.A. EXAMINATION, 2018
PUBLIC ADMINISTRATION
(S-2 : Local Self Government of Maharashtra)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. .— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Meaning of Local self government
(2) Importance of Gramsabha.
(3) Chairman of Panchayat Samiti
(4) Financial sources of Municipal Corporation
(6) Mahatma Gandhi Tanta Mukti Abhiyan

(6) Corruption in local self government.

2. Answer the following questions in 200 words each (any ¢wo) : [20]
(1) Importance of Local Self Government
(2)  Function of B.D.O.
(3) Balwantrai Mehta Committee
(4) 74th Constitutional Amendment.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(1) Explain composition, powers and functions of Zilla Parishad.

(2) Explain the composition, powers and functions of Cantonment

Board.

4. Write short notes on (any four) : [20]
(1) Functions of Sarpanch
(2) Mayor
(3)  Chief Officer of Municipal Council
(4) Sant Gadage Baba Gram Swachhata Abhiyan
(56)  Political interference

(6) Financial problems.

(WIS BTaR)
9% : dF A THUT TOT : 80
g — (1) |d YA AEvEE  3Aed.
(77) 3EREIS 3T o o geifeadm.

1. Tod JEEE SRS 100 vk faw (FiodE |n) [20]
(1) Tonfier TERmEAET oY
(2) UHEHE W
(3) UdEd Wihder g

(4) WHEMRUTA®R=A S-=l 9T
(5) HETHT MR del g SN
(6) T WITEHHd 9RER.

[6301]-2045 2



2. TOW YIAET IR TR 200 VK@ foRr (o §e) [20]
(1) T @ Hgc
(2) TEfawE  sAfuewEaTEl wE
(3) Feddd el GfHd

(4) 743t HSAGEEI.

3. WU HIUAE WeRl U¥9 S 400 v ferer [20]
(1) TSogr aReR=f @A WA SfEdR 9 w1 T 64

N ¢

(2) HFHS W (IEUN HE®) =l T, AYGR I hiH TR HA

4, diedm fowr fagr (o |wmw®) [20]
(1) U= SAfRR
(2) HBUR

(8) TRURG=N HEAT RN

(4) Td WS T UM WEesdl I
(5) USRIA TEET

(6) oTfdes FHE

[6301]-2045 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5301]-2046

S.Y. B.A. EXAMINATION, 2018
PSYCHOLOGY
General Paper II

(Social Psychology)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) What are the social psychology related fields ?
(2)  What is Prejudice ?
(3) What is Group ?
(4) Explain the types of communication.
(5) What is close relationships ?

(6) Explain the commitment to socially responsible behaviour.

2. Answer the following questions in 200 words each (any f¢wo) : [20]
(1) Explain the research areas/fields of Social Psychology.
(2) Explain the nature and components of attitudes.
(3) Discuss the internal and external determinants of Attraction.

(4) Explain the skills of communication.

3. Answer the following questions in 400 words (any one) : [20]
(1) Define the self-concepts. Explain the concepts related to self.
(2) What is aggression ? Explain the forms of aggression.

P.T.O.



4. Write short notes in 50 words each (any four) : [20]
(1)  Three levels of behaviour
(2) Leadership
(3)  Pro-social behaviour
(4) Attitude of behaviour
(5) Bystander effect
(6) Attitudinal change.

(W& wUIW)
9@ : dF A THUT T : 80
ol — () ¥d WA AEEas  STed.
(i) IHESIT FF YO U Eifgar.
(77}) TSUEE B TUSH YYAYTAHT TR,

1. Wielid 99=Tl SW Yds! 100 IS faer (gl am) [20]
(1) TEIfSIeh AEERTERt gefad &3 hivdl 2
(2) YEUB WU w7

(3) U ®"US HE ?
(4) HYYUTE YhR T .

(5) U ANEdY RIS I ?

(6) HHSIYHE FHddl To-eGdl T R

2. WA YAET SW YS! 200 v foer (kg 9F) [20]
(1) gEifSes AHaemer= 9y &5 W Hq.

(2) AfMgTid TWEY 9 HEh TR FHA.
(8) STV 3Tdvd o oM@l AuReRr=l == .
(4) TIYU HET W H.

[6301]-2046 2



3. @eiid YeAEl IW 400 W[ foRl (FRIVARD Teh) [20]
(1) W-Uheyt=t =ren fagl ‘@'-Geeuae Tafug ‘W= s .

o

(2) 3ThHGAl WU I ? SThHGIY  STashR T .

4, YAR 50 V@ g feqr fam (R \mw) e [20]
(1) gmifSes aare @ araesdl
(2) g
(3) UHANYHE add
(4)  eAfyerl od

(5) nefieRr=T  gRomd
(6) AfqgiaEia ga.

[6301]-2046 3



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

No. [5301]-2047

S.Y. B.A. EXAMINATION, 2018
PSYCHOLOGY

(S-1 : Abnormal Psychology)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) State cognitive approach in abnormal psychology.
(2)  What are the negative symptoms of schizophrenia ?
(3) What is depression ?
(4) State anorexia nervosa.
(5) What is gender identity disorder ?

(6) State the symptoms of schizoid personality disorder.

2. Answer the following questions in 200 words each (any Zwo) : [20]
(1) Write brief history of DSM system.
(2) Discuss the various types of treatments of schizophrenia.
(3) Illustrate parasomnia sleep disorder.

(4) Explain the causes and treatments of intellectual disabilities.

P.T.O.



3. Answer the following questions in 400 words each (any one) : [20]

(1) Define obsessive-compulsive disorder. Illustrate subtypes of
obsessive-compulsive disorders.
(2) Explain different kinds of somatic symptoms disorders.
4. Write short notes on (any four) : [20]
(1) Mental disorder
(2)  Delusional disorder
(3) Bipolar I disorder
(4) Dementia
(6) Sexual sadism
(6) Dependent personality disorder.
(W& wUiaR)
9@ : dF A THUT T : 80

gl — (/) |d Y9 Gefau ofevds oed.
(77) SoEihele sfe qui T <eifad.
(777) TRWEE 3 TUST YYTULART TRE.

1. @od JEAE Yo&el 100 v SW el (R | mw) [20]
(1) WAIfagd AFESTSTdE Sigfie g g
(2) ToaTERddl THRIHS A0 HIUC TRd 2
(8) oHIE WUS wHE ?
(4) &O-ANE  <qIISEN |
(5) fam deEm fagpd =N &M@ ?
6) To~mThdaea SAfFTd fagd=l ™ 9o

[6301]-2047

2



2. WO YT Yode! 200 VS SwW fawl (SIodEl @) [20]

(1) Slugudg. goret=n sfage Gfeego fore.
2) TomiErdada fafay ver=n SU=RET 9= &
(3) WHERN faFd FREU T &
(4) difge Semael HRO ST STER TR HA.
3. @od YAl AR 400 VKM SW fa@ (FI0EE TEh) e [20]
(1) foar-=d Afera faed=t =men @ foar-%d siHada fagde
SUYHN HIEERO T H.
(2) Tu= yere=n Sfew w@gu fagdt T &
4, dew@ fou fag (Fo@EE =\ w®) e [20]
(1) wHEfas  fagd
(2)  Hyr=it
(3) feyda-1 foskd
(4)  HAIHTEh
(5) Wiy <iffer fasdl
(6) STacet AfkTd fasdl.

[6301]-2047

3 P.T.O.



[5301]-2047

(S-1 : Psychology of Adjustment)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
3)
(4)
5)
(6)

What is divorce ?

State the alternatives in traditional gender role.
State the family influences on choosing a career.
What are the multi-axes of DSM-5 ?

Write the positive effects of stress.

State appraisal focused constructive coping.

2. Answer the following questions in 200 words each (any f¢wo) : [20]

(1)
(2)
3)
(4)

Describe the vulnerable areas in marital adjustment.
Explain traditional gender roles.
IMlustrate schizophrenic disorders.

Define stress. Explain different responses to stress.

3. Answer the following questions in 400 words each (any one) : [20]

(1)

(2)

[6301]-2047

What is an adjustment psychology ? Explain in detail behavioural
perspectives of adjustment psychology.
What is placebo treatment ? Discuss the uses and effects of

placebo treatment.



4. Write short notes on (any four) :
(1)  Co-habitation
(2) Gender and social behaviour
(3) Sexual harassment
(4) Obsessive-compulsive disorder
(56) Burnout

(6) Defensive coping.

(WS i)
9% : dF q9
ol — (/) WA U¥T Hiefau Aeds R
(i) oAhEl® 3Tk YO U e
(i) GO T gt weatE T

[20]

THTT T : 80

1. T 93l Yl 100 vsSid S faer (FivdEl 9w) [20]

(1) ¥ EhE WS &E ?

(2) YRS foam-yfiehdia 9aiF |EML

(3) wR&Rk fEEEla HEfde &G FET.
(4) W 5 ¥ T@g-AG HUG 3Med 7
(5) dmUmE "WehNcH qiRomH  ferel.

n o

(6) HAFRA-hgl TIAIH® FfGASH |

2. WO YT Yode! 200 vsSid SwW fowl (SodEl @) e [20]

(1) Sorfess THEESHAGG TGUHd &= auia .

(2) YR famyfe @ &

(3) fo-T@haEa TAIfdHdl TREN T &

(4) dOM=N SReA w1 aronen fooen Someen fafgy fafear s .

[6301]-2047 5

P.T.O.



3. WA YTAEl TR 400 VKM SW fA@ (FI0AE Th) [20]
(1) FHEENE AHESTE BN S 7 G AHEeTESTEl ad-cis gRihe

i T h.

(2) 'wEEl’ IUER WS R 7 @Al SUER™ SUAnT S giemHrE
EEIlcTE

4., deFEm fou fae (IR e w) [20]

(1)  F&-sited

2) faum enfor wfas oA

(3) <ifih

(4) foEr-dt sferd fagd

(5) wHARE

(6) TIUMHS FfadsH.

[6301]-2047 6



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

No. [5301]-2048

S.Y. B.A. EXAMINATION, 2018
PSYCHOLOGY
Special Paper II

(S-2 : Developmental Psychology)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.
() Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Explain the effective parenting styles.

(2) State the threats to adolescence.

(3) What are the common illnesses in early childhood ?

(4) State the gender differences in career choices during early
adulthood.

(56) What are the coping strategies for dealing with stress in middle
adulthood ?

(6) Explain the functions of marriage.

2. Answer the following questions in 200 words each (any f¢wo) : [20]
(1) What are the problems of schoolgoing children ?
(2) Describe Piaget’s approach to sensory-motor period.
(3) Describe the physical development during adolescence.
(4) What are the preventive health care measures during middle
adulthood ?

P.T.O.



3. Answer the following questions in 400 words each (any one) : [20]
(1) What are the stages of prenatal development ? Explain the
factors affecting prenatal development.
(2) Explain the physical and psychological transitions during late
adulthood.

4. Write short notes on (any four) : [20]
(1) Importance of nutrition in infancy
(2) Roots of speech development
(3) Identity development in adolescence
(4) Perry’s approach to cognitive development
(5)  Friendship in childhood
(6) Roots of aggression in middle childhood.

(TS wUIaR)

9% : A9 A THUT TOT : 80
ol — (1) |d Y9 Gefau oAevdsw aed.
(i) SERSl® 3k YU IO geifed.

1. @od geEE 100 R[S g (FveE |w) [20]
(1) Rt uiehed el T .
(2) UNTeTaEddia e @A
(3) I WcAERddlal FEHr SNR & ?
(4) I UeeEdd fEeRHER o SeEE e e w9
(5) U WeEIdd qomeh TEESH  Hoare Ugdt e 2

6) foarre=l && T w1

[6301]-2048 2



2. WA YIAET 200 V[ SW o (FUeE € ) e [20]
(1) <o o= 9He & ?
(2) o™ 9= 9CH-HRE TRIGBMAE quH B
(3) UreEdie yRiRe fawmma oo &
(4) A9 UEERdd R SIRFAfOEs Yidads hledsit Haedl a2

3. T WYIAET 400 =W SW el (Foad ) [20]
(1) Sqe fowmmEn sfaen (2W) ®oen ? S99d foemmer 9iom

FOR HZh T H.

(2) TN UREEEdd e 9 AEfae d9ed (HHRAT) WS &

4. g AW faer (HUdE \w) [20]
(1) SvEeEdd SRR 7
(2) ofrer fosRmar=l g
(3) UreEwEda @ @@
(4) ‘9 I gl fowmmEn SRR
(5) ARSI Bt

(6) W AAERIdIA  SThHT  dd-T=l  SITHERM.

[6301]-2048 3 P.T.O.



[56301]-2048

(S-2 : Positive Psychology)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
3)
(4)
5)
(6)

What are positive emotions ?

Explain positive emotions and health resources.
Describe happiness across the life span.

What are personal goals ?

Describe goal organization.

Explain positive beliefs.

2. Answer the following questions in 200 words each (any zwo) : [20]

(1)

(2)

3)

(4)

(1)

(2)

[6301]-2048

Explain {wo traditions of happiness.
What is resilience ? Explain the perspectives of resilience.
Explain the benefits of marriage.

Describe what makes a trait positive.

Answer the following questions in 400 words (any one) : [20]

Define positive psychology. Describe the nature of positive
psychology.
What is life above zero ? Explain the interconnection of the

“Good” and “Bad”.



4. Write short notes on (any four) : [20]
(1) Why a psychology of well-being ?
(2) Measuring subjective well-being
(3) Happiness and positive behaviour
(4) Negative affects of Trauma
(5) Physical and mental health
(6) Why are materialists unhappy ?

(W& wdiav)
9% : 9 q™ THUT TOT : 80
ol — () WA YA SAERIER IR
(77) SSEhele 3T U U Syifad.

1. ©od 9=l Ykl 100 veSid S ol (FivdEl 9mw) [20]

(1) YPRHE 9ET WIS & ?

(2) THRHG HEdl o AT A T H.
(3) Soehadial e enfol STHRrel ou .
(4) AR I RO ?

(5) ‘S99 guwed' duia &

(6) YhNHD HZ T K.

2. WA YAl TS 200 V=@ SW faw (HoEg dF) e [20]
(1) STFcige=n &9 WU T &
(2) feydeauea wmuS w@ 7 Rodeaaeae gitesd e &

(8) faameE wHe WY w.

(4) UPNHS TUERTS HIM S 79U

[6301]-2048 5 P.T.O.



[6301]-2048

3. @A YAEl AR 400 VSRM ISW AR (FHIOME TEh) e [20]
(1) YhRHE HAFETE AR Il ThNdS HHEvET Weg go
.
(2) AT Al Sited WU w7 EnTe’! i Y aEe ! Al TR a
e R
4, dieHE@ few fom (FU@E =m) [20]
(1) ERMSE HHEWRE HeEe ?
(2) AfKSS TR A
(3) AW Tt o WEHNIHE o
(4) SEASA HeAT  AhNIcH®  JRumm
(5) VRIS enfor aEfas R
(6) ifamerct giEt w1 ?



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5301]-2049

S.Y. B.A. EXAMINATION, 2018
GANDHIAN THOUGHT (G-2)
(Gandhi’s Social, Education, Political and Economic Thoughts)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
NB. — (1) All questions are compulsory.
(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Explain in short concept of Education.
(2) Explain in short concept of Tri-bhashasutra.
(3) Explain in short Rousseau’s concept of Man.
(4) State any five functions of state.
(5) What is Self-Sufficient village ?
(6) State the importance of Satyagraha in short.

2. Answer the following questions in 200 words each (any f¢wo) : [20]
(1) Explain Gandhiji’s views on Caste. Evaluate it.
(2) Explain concept of man according to Rousseau and Ruskin.
(3) Explain Gandhiji’s concept of Stateless Society.
(4) Explain Gandhiji’s concept of Swadeshi.

(5) Explain any two dimensions of Swaraj.

P.T.O.



3. Answer the following questions in 400 words (any one) : [20]
(1) Explain in detail Gandhiji’s concept of Eighteen point Constructive
Programme.

(2) Explain in detail ‘Satyagraha as a way of mass-movement’.

4. Write short notes on (any four) : [20]
(1) Gandhiji’s views on gender.
(2)  Objectives of Wardha Scheme.
(3) Ramrajya
(4) Village-Swaraja
(5)  Decentralization

(6) Gandhiji’s concept of Man.

(TS ®UIaR)
9% : 9 a™ THUT TOT : 80
o — (1) wd WA defau e
(77) 3S9Eiwele Fh YUl U SFiforra.
(7i7) WSHEE! He3 IUSH WYAAGAeRT gl

1. Eeid 99l S TdS! 100 Y=g fofel (Shivdel =) [20]
(1) Toreror AehouqaT oiesRd TS H.

(2) -9 gF dieHd e

(8) TN KT GheUdl T H.

(4) TSI HIUE e S GET.
(5) TEHYU UM WUS ®E 7

(6) YHIURNH WHetd odieddd .

[6301]-2049 2



2. Tl G S OgO! 200 Y@ faw (PR g ) [20]
(1) TS STdeRe=l 74 T2 ®U 9 @ JedHdd 6.

(2) ®H U ThiA=l FoK! Hohoddl T .

(8) TSIl UoAfafgd HHNS Heheddl TS R

(4) eSSl eI HeheUdl TR

[aV

(5) TSE ®IUGE a9 U T &

3. Wi YAl SW 400 Ve foel (RIVARE! Teh) [20]
(1) TeiSi=n 318U oot faures &iieH Afas® T2 .

(2) ‘HENE : Uh e dosdes’ Gl WS H.

4, dreRE AU faE (SR AR) [20]
(1) ST famye o=
(2) =ui foao aeeeEr Sfirse
3) THTH
(4) UH-TES
(5)  forshgreReu
(6) TSt A GehoUHl.

[5301]-2049 3



Total No. of Questions—4] [Total No. of Printed Pages—2
Seat
No. [53011-2050
S.Y. B.A. EXAMINATION, 2018
YOGA
(General Paper II)
(Yogvidya)
(2013 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.
1. Explain any one from the following in 50 words : [5]
(1) What is the moral precept of Buddhism ?
(2) State the importance of Dharana.
2. Write short notes on any ¢wo of the following : [10]
(1) Sarwangasan
(2) dJivabandha

3)
(4)

Bhramari Pranayam

Samyak Charitrya.

3. Answer any two questions from the following in 200 to 250 words

each :

(1)
(2)
3)

[15]
What is the importance of self-development in Niyam ?
Explain Jain Darshan attention.

What is the importance of Dhyandharana in attention

process ?

P.T.O.



4. Attempt any one question in detail :

[10]

(1)  What is Astik Darshan ? Explain the importance of Astik Darshan.
(2) What is Chittvratti ? Explain the types and use of Chittvratti.

(WISt ®aia)

q% : 2 AW TeRUT TOT :

oAl — () §Wd W diefau TeRdd SR
(7)) SSEhSle Fh YU U gFifedr.
(777) TEUEE B FUST YEAULAST T

1. Wefade! HIAR! TRt 50 &M SR oo
(1) dgy <M= frweao @
(2) UNUE HEe G

2, digE@ AW W (FUAR )
(1) watmEs
(2) SitamEy
(3) 9Hd YomEH
(4) T, =ICA

3. Weliciieh! HIVEE S U YAel 200 o 250 IEEM SO :
(1) ‘= foeEa =@ 9e@ @
(2) S cuffosh mfedt @i
(3) oYM Wihdd &M ¥RV e 9.

4,  TCAcish! HIUR TRl I I Ffaer  foter

40

[5]

[10]

[15]

[10]

(1) oAfd® A BN &M@ ? § G AKE A THER T FH

2) Touadt WoS &M@ ? § WA foxed™ YRR 9 U™ 9n.

[5301]-2050 2



Total No. of Questions—4] [Total No. of Printed Pages—3

o [5301]-2051
S.Y. B.A. EXAMINATION, 2018
HISTORY
General Paper II
(History of Civilization : Indian Culture)

(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

NB. — (1) All questions are compulsory.

(if) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Importance of Archeological Sources.
(2) State about Neolithic Culture.
(3) Define Dravidian Culture.
(4) Buddhist caves.
(5) Explain the term Hinduism.
(6) Satyashodhak Samaj.

2. Answer the following questions in 200 words each (any two) : [20]
(1) Write about the Geographical Features of India.
(2) Write in brief on Post-Harappan Culture.
(3) State the main features of Jainism.

(4) What do you know about Classical Indian Music ?
P.T.O.



3. Answer the following questions in 400 words (any one) : [20]
(1) Discuss the cultural contribution of Ashoka Age.
(2) Explain the salient features of Islamic Architecture with

examples.

4. Write short notes on (any four) : [20]
(1)  Palaeolithic tools
(2) Mathematics in Ancient India
(3) Tripitaka in Buddhism
(4)  Philosophy of Sikhism
(6) Karnatak Music
(6) Brahmo Sama,j.

(W& T UIHR)
9@ @ dF A THUT TOT : 80
oAl — (/) Wd WA Orefau oeRas eTRd.
(7)) 3IAIHEr® FH T YO U IFifaa.

1. Weid WAt 9l 100 IS S foel (Sl 9am) [20]

(1) TUaked WEAE g

(2) TEREIT GEhdlaEE WAL

(3) ‘sfag G&pdl' A @

(4) dig <ol

(5) ‘fégam’ & Uheum W H.
(6) UANYEH HHS.

[6301]-2051 2



2, Wi WEAE Y& 200 &M W el (FRvaRl gF) [20]
(1) 9Ra= AFifas Sfirssl S
(2) SW TSH F&hder e foral
(3) S wmt gem afdre @
(4) YRAE YN GOt JREen e Aifedl $e 2

3. @eid WAl 400 Y= SRl (FIUARD UeR) [20]
(1) STIheE Ahdies AR == .
(2) TEAW TAUAE Ik AfYTS  ITEAOMHE T

4, 9w foo faer (focEE =) [20]
(1) A TR
(2) UM YRArdte T
(3) dig wmida fadies
(4) Tma R ToeeEE
(5) hAleH G

(6) STl THS.

[6301]-2051 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5301]-2052

S.Y. B.A. EXAMINATION, 2018
HOME ECONOMICS
G-2 : Sociology of Indian Family
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(zi) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Explain the relation between Sociology and Indian Family.
(2) Explain the process of socialisation of the child.
(3) Explain the merits of Nuclear Family System.
(4) Explain the primary and basic development of human race.
(56) Explain the importance of marriage in India.

(6) Explain the role of government in Women Welfare.

2. Answer the following questions in 200 words each (any two) : [20]
(1) Explain the causes and effects of family disintegration in India.
(2) Explain the merits and demerits of Joint Family System.
(3) Explain the social legislation about marriage and family in
India.

(4) Explain the role of government in family welfare.

P.T.O.



3. Answer the following questions in 400 words (any one) : [20]
(1) Explain the functions of family.
(2) Explain the causes and effects of family disorganisation in

India.

4. Write short notes on (any four) : [20]
(1) Types of Marriages
(2) Demerits of Nuclear Family System
(3) Factors for Family Organisation
(4) Importance of Sociology
(6) Human race

(6) Child Welfare.

(W& T UIHR)

9@ @ dF A THUT TOT : 80
oAl — (/) Wd WA uefau oeREsd o
(77) 3SSEiwele Fh YUl U SFiforra.

1. Welid W= S YRl 100 V=S| fo@l (Hived |mr) [20]
(1) TSRS T 9RAE ®2d Idid §a9 W5 H.

(2) ATBHRT=AT HHISIR RO Ufshal T .

(3) 3TURSd Tgdd U T A

(4) TH SEme wufHe T goyd foerEre TR .

(5) RO faaeM Hgd WS S
6) ToreaTda AT YfHe T w9
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2,  Weid WAE SW Y@ 200 R TRl (RUORl gF) [20]
(1) YRAdia ged foeed=l SR 9 IRom™ T &

(2) TIK HId Tsdd TU-IN W R

(3) WRAMal foare & HeafaoEs fag9ds T &

(4) HII HAOTdA IMEA fHRT TR H

3. Geid YWAE SW 400 V[ fo@l (FIVAED TeR) [20]
(1) At &HE T HA.
(2) YRAMIA g foRauArEl RO efr g TR &L

4, e fear fagr (v 9w) [20]

(1) foamm 9=aR

(2) SAUHSH TS TN

(3) HIIHTA™ WH

(4) TURRTEN™ Hed
(5) HMEr 9
(6)  SIcdha ATl
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Total No. of Questions—4+4+4] [Total No. of Printed Pages—9

Seat

No. [5301]-2053

S.Y. B.A. EXAMINATION, 2018
DEFENCE AND STRATEGIC STUDIES
D.S. G-2(A) : Military Geography
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(zi)  Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) State the concept of Geo-strategy.
(2) Explain the uses of Military Geography.
(3) What is National Power ?
(4) State the aims of Tactics.
(5) Explain the Geo-strategic position of Kuwait.
(6) State the uses of oil.

2. Answer the following questions in 200 words each (any two) : [20]
(1) Explain any three elements of National Power.
(2)  According to Clausewitz, what is Grand Strategy ?
(3) Describe the characteristics and Logistics Problems in Desert
Warfare.
(4) Explain the Geo-strategic importance and position of Andaman
and Nicobar Islands.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(1) Explain in detail the principles of Logistics.

(2) Explain in detail the Geo-strategic importance of Diego-Garcia.

4. Write short notes on (any four) : [20]
(1) Importance of Geo-strategy
(2) Concept of Military Geography
(3) Impact of Geography on Air Warfare
(4)  Characteristics of Plain Warfare
(5) Natural gas
(6) Concept of strategy.

(W& ®UIT)
q% : dF A THUT TOT : 80
ol c— (/) Wd WA uefau oeREsd TR
(77) STEiheEl® Fh YAE YU YU SFiferdra.
(7ii) TRUES! Hed TUST GFAUAh1 TTEl.

1. TPl WAl S gde! 100 Ieeid foer (FIvAel 9rR) [20]

e n

(1)  Y-ggAifa=t Tehead G

(2) R YT STERT T H.
(3) UNHE W WU w7
(4) <SEUENE w AN
(5) THodd YUMRE TIAE TR H
(6) T ITERT |

[6301]-2053 2



2. WG WA IW FIR! 200 IRE fowr (FURE FH) [20]
(1) USE WA ®IOdel dF q2h W &L
(2) FASIfaeg=al qagER foeme gsAifa =wos @ ?
(3) dIEdl JSURUET dAferse nfr Rawr awden wuen fave &

N

(4) FgHEE oAU FER dee qumie TE 9 Hew W

3. UTO® WAH IW 400 IM foe (FUAE TEH) [20]

(1) YEaT Fa= a dfa&R e &
(2) fem-mitere quEie dee Aiaw e

4. diema fow fosr (ivddE 9w®) [20]

LWL

(1) -FSInad Heg

(2) TR T Fehed

(3) iiemen BalE JSOR YSUN GHE
(4) WSt gEuRUET ofvre

(5) WEfifw T

(6) gSAId Hehoddl.
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[5301]-2053
D.S. G-2(B) : Geopolitics
Time : Three Hours Maximum Marks : 80
NB. — (1) All questions are compulsory.
(if) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) State the Geopolitical thought of Karl Houshopher.
(2) What are the objectives of Geopolitics ?
(3) Explain the concept of state.
(4) State the concept of Exclusive Economic Zone.
(5) Explain the types of natural boundaries.
(6) What is Landlocked state ?

2. Answer the following questions in 200 words each (any two) : [20]
(1) “Political Geography is a dynamic science.” Explain.
(2) Explain the functions of Territorial Water.
(3) State the geographical factors affecting war.

(4) Explain the nature and scope of Geopolitics.

3. Answer any one of the following questions in 400 words : [20]
(1) Describe the sea power theory of Admiral A.T. Mahan.
(2) Explain the concept of Buffer State. Give the problems of
Buffer State.

[6301]-2053 4



4. Write short notes on (any four) : [20]
(1) Elements of Nation
(2)  Mackinder
(3) Importance of Political Geography
(4) Role of Boundaries
(56) Unified field theory

(6) Concept of Frontiers.

(W& T UIT)
9% : diF d™ THUT TOT : 80
oAl — () §Wd W diefau oTeRdd R
(77) STEMRSl® 3k YA YU 0 SFifed.
(777) GG T3 SUSH GEAUCAR TEEl.

1. SO WAET S IRl 100 Ised fosr (Hivdsl 9mr) [20]

(1) o TR A qUSHIae  fa=R |

(AW (a

(2)  yUeHIfaEt g o ?

(3) AN Heheddl T H.

(4) ot iy & HehoddT @I
(5) ofife W™ TER TR HA
(6) Yaftcd Wz wol HE 2

2. WOl WA SW Yl 200 I fowl (HIvkeE @) [20]
(1) “USeE iia TE aHE I AR e &
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(2)
3)
(4)

TR SAREEl hE T .
g Rom FOM ifees wed @

PeHAE Y M0 AT T .

(1)
(2)

(1)
(2)
3)
(4)
5)
(6)

[6301]-2053

TOe WA W 400 IR TR (FIUARI Teh)
sfefime wdt. wem a=n 9w fagia fowe &

STEMATNTE  TIME Gohoudl TR e A=l THe 9.

gl dar fogl (FIUEE =)

TSI HEh

HfeRex

TSThTd el HEe
=T @

ThEy & fagra
G YR HehedH.

[20]

[20]



[5301]-2053
D.S. G-2(C) : Industrial Security
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(zi)  Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) What are the objectives of Industrial security ?
(2)  What is fundamental rights ?
(3) Explain the importance of evidence.
(4) State the importance of Reception room.

(56) How does the investigation take place ?

(6) What is first aid ?

2. Answer the following questions in 200 words each (any fwo) : [20]
(1) Explain in brief Industrial espionage.
(2) Explain the security planning and its implementation.
(3) State the duties of Security Inspector.

(4) What are the causes of Fire ? Explain.

3. Answer any one of the following questions in 400 words : [20]
(1) Describe criminal crimes and preventive measures of it.

(2) State the importance and role of Security Department.

[6301]-2053 7 P.T.O.



4. Write short notes on (any four) : [20]
(1) Court Procedure
(2)  Perimeter Wall
(3) Search Room
(4) Carbon dioxide equipment
(56)  First aid box

(6) First Information Report.

(TS TUIaR)
9% : diF d™ THUT TOT : 80
oAl — () §Wd W diefau oTeRdd R
(77) 3STEiweEl® Fh YTAE YU U SFiforr.
(777) WSHEE! He3 TUSH YUl TgTEl.

ha N A

1. W WAEl S gdst 100 IS fosl (HvEl 9r) [20]
(1) oienfie e Sfee S 2
(2) HAYd SMHHR =S w7

(3) YU "™ TR &
(4) TN HEHE HES |
(5) whEll wHIM dHeAt S 2
(6) YIHUER US| w7

2. WOl WA SW Yl 200 I fowl (HIvkeE @) [20]
(1) ofEfier e diesd W &

[6301]-2053 8




sieifer e e 9 simcTesTant T &

[6301]-2053

BRI WEI=A TRdd 9 O AUt hedl S Hiaeesd

(2)

(3) {ram flemRr=l wded WO

(4) ANl $RO HIOE ? TR R
3. UW® WA W 400 =M fow (FUEE T@w)

(1)

SUETE U AL

(2) e faurme wew efor yfehr @
4. dieR@ fon fegwr (SR @R)

(1) == ik

(2) &Y F¥Eaert  f9a

(8) w=dl

(4) HEA SESTHAEES IYHL

(5) UYHIYER T

(6) dfgedl TR




Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat
No.

[56301]-2054

S.Y. B.A. EXAMINATION, 2018
DEFENCE AND STRATEGIC STUDIES

[(D.S. S-1(A) : Indian Military System After Independence)]

Time :

(2013 PATTERN)

Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1)
(2)

3)
(4)
(5)
(6)

State the significance of Simla agreement.

Why did Pakistan intervene in Jammu & Kashmir in
1947 ?

What is LAC ?

Explain the causes of defeat of India in 1962 war.

State the aims of Indian defence policy.

Explain the air force military power of India.

2. Answer the following questions in 200 words each (any ¢wo) : [20]

(1)
(2)
3)
(4)

State the significance of Tashkent Agreement.
Describe the role of Indian Navy in 1971 war.
Explain the reforms for Indian Forces.

Explain in detail the partition of Armed forces.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]

(1) Explain in detail Border dispute of India-China.
(2) Explain in detail Kargil conflict.
4. Write short notes on (any four) : [20]
(1) Nuclear capability
(2) Problems of refugee
(3) Problems of Tibet
(4) Operation Talwar
(5) Indian Missiles
(6) British Indians forces.
(& waia))
9% : A9 A THUT TOT : 80

gl — (1) |d Y9 Gefdau ofeavds o
(i) SErRSl® 3k YU T geifed.
(7i) TRUES! HeB TUSH YEAYAhT TgTal.

1. wdd JEAE W YAe! 100 v[ e (R | m) [20]
(1) fo9an #=RE "8 @i
(2) 1947 HYA SH-HHIAS UfhR&EA gHed @1 el  ?
(3) TATH. WIS & ?
(4) 1962 =41 JSTdidl WRATAT GHAME] 6HR0 T K.
(5) WRATSAT TREU YUROTE €4F G
(6) YRA™ BAE WA AW TR H.

[5301]-2054
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2.

WA Yl S YdH! 200 vsSd fawt (SoE @)
(1) d¥Hhe FE Ted G
(2) 1971 =0 IgMid WRAE A= i fove 4.

(3) 9RdE = YEREA R S

(4) O <ol faurmn gfasay T

TSAUR! IR Tk T W 400 ¥=ia fasr
(1) 9RI-9H 9HEE gfaay e &
(2) HITA gud HfOER T

qresd fear fagr (HIvAEl =)
(1) AT &FHdl

(2) fTraifaar=n g9

(3) fade wweEn

(4) SMRIHE  qTIR

(5) WRA™ YU

(6) fodter wRdE o

[6301]-2054 3
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[56301]-2054

[(D.S. S-1(B) : Maratha Military System]

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) State the five causes of downfall of Maratha power.
(2) Explain the role of Jijabai in making Shivaji.
(3) Describe the Raid on Shahistekhan.
(4) State the role of Tarabai in the war of Maratha independence.
(56) Explain the military leadership of Sambhaji.

(6) State the strategic importance of Jawali.

2. Answer the following questions in 200 words each (any t¢wo) : [20]
(1) Describe the battle of Bhopal.
(2) Expalin the causes of Shivaji victory in battel of Pratapgad.
(3) State the objectives of Karanataka Campaign.
(4) Explain the economical and religious situation in Maharashtra

before the birth of Shivaji.

3. Answer the following questions in 400 words each (any one) : [20]
(1) Describe the third battle of Panipat (1761 A.D.).
(2) State the causes of third Anglo-Maratha war.

[5301]-2054 4



4. Write short notes on (any four) : [20]
(1) Strategic importance of forts
(2)  Guerrilla tactics
(3)  Santaji
(4) Dadoji Kondadev
(5) Articles of treaty of Purandar
(6) Causes of First Anglo-Maratha war.

(TS wUiaR)

9@ : dF A THUT TUT : 80
ol — (/) Wd U Hiefaul Aewds ST
(i) oAhEl® 3Tk YO U e

1. Tod YeEEl SW st 100 v o (Svd Wmw) [20]
(1) WS T9=al Yaar=l Ut RO 9i.
(2) Teast weRST=n SevEetia faSerE at yfier T &

(8) ynfeEEld gocdrd duH .

(4) dNERH TSI WaA gSIa YHET |A.

(5) TWST TERSTE @R Aqd TR H

(6) O@ 9ERe Hgd IR

2. WA Tl SW YAS! 200 Y= @l (FUEE qF) [20]
(1) HOer=a elsd v+ .
(2) TEEt TERNE gaaTesd deRdid  fasErl ®Ro TR &
(3) hdlekh HRM=T s G
(4) Tt wERSTT SgEien R efde o et gRftde
U HA
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3. @A YAET IW 400 v fa@ (HOAE TH) e [20]
(1) 1761 =n uifqgd=an fao=n <eE<d ou+ .

(2) TUS-"AUE fawen g wRO 9h.

4., geRE fow foaer (U =w) [20]
(1) foheea amiEd d8d
(2) TfH wTEn
(3)  warst
(4) TEST ieed

(5) TGS Rl e

(6) ufgedl TUS-AUST ST RO
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Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

No. [5301]-2055

S.Y. B.A. EXAMINATION, 2018
DEFENCE AND STRATEGIC STUDIES
[D.S. S-2 (A) : International Relations]

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Explain the concept of Detente.
(2) State the objective of GATT.
(3) State the concept of disarmament.
(4) Explain the importance of International relation.
(5) State the concept of diplomacy.
(6) Explain the Game theory.

2. Answer the following questions in 200 words each (any zwo) : [20]
(1) Explain the decision-making theory.
(2) Explain the role of UN in maintaining peace and security.
(3) Explain the objective of New world order.
(4) Explain the meaning and concept of new cold war.

3. Answer the following questions in 400 words each (any one) : [20]
(1) Describe the Idealism theory to the study of international
relations.
(2) Explain in detail evolution of cold war since 1945 to
1991.

P.T.O.



4. Write short notes on (any four) : [20]
(1) Non-alignment
(2)  Realism
(3) Systems approach
(4) Soviet disintegration
(56) International Political Economy

(6) Changes in East Europe in 1989.

(TS ®UIaR)
9@ : dF A THUT T : 80
gl — (1) |d Yy defdau ofewds o
(i) SERSl® 3k YU IO Feifodm.
(7ij) TSHMEIS! 3 TS WYAUCART Tl

1. Wod g3El S Yds! 100 vid faer (vl 9r) e [20]

(1) <drd<=l Hhegdl T2 .

(2) e HEueddl Sfesey 9.

(8) TAIiom=l Heheud 9T
(4) SO Gourd Heed TR H.
(5) TSI HehoUdl 9N

6) T Y[ W HA.

2. WA YAED IMW YIS 200 V=@ fawl (FivEr | ) e [20]
(1) fouE faga @< =
(2) ARSI IMaar 9 gRe fenfavardia Tgea s fire s &

(8) HAfaq Snfaes =l 3fesd T A

(4) Afoa faaggmEr o1d 9 FhedT TR &
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3. WA hIUE Tkl Y I 400 e formr [20]
(1) SN Gaure I9@a  AeveR! fasm foave &3
(2) TH. 1945 d 1991 wiaet Ifagsr= Schil T A

4. dieda fowr fagr (0@ =wmw®) [20]
(1) AfaadEe
(2) dArddR

(3) HIRAER! TR

(4) Wifgud g fawsE
(5) STASEA TS sTdeqaey
(6) 3TH. 1989 Wi Ud JAUM Tl =l
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[56301]-2055

[D.S. S-2 (B) : International Security]

Time : Three Hours Maximum Marks : 80

N.B. .— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) State the types of Cyber Crimes.
(2) What are the problems of environment.
(3) Explain the concept of balance of power.
(4) State the nature of Ethnic conflicts.
(6) What are the types of terrorism ?
(6) Explain the concept of diplomacy.

2. Answer the following question in 200 words each (any f¢wo) : [20]
(1) Explain the effects of ethnic conflicts.
(2) State the role of non-alignment in maintaining international
security.
(3) Describe the meaning and nature of terrorism.

(4) State the changing nature of diplomacy.

3. Answer the following questions in 400 words each (any one) : [20]
(1) Describe the origin and development of cold war.
(2) Explain the nature and problems of Arms control of

disarmament.

[6301]-2055 4



4. Write short notes on (any four) : [20]
(1) Concept of National Security
(2) Problems of International Security of post cold war
(3) Types of balance of power
(4) Natural resources
(5) New cold war

(6) Measures of cyber crimes.

(TS wUlar)

9% : 9 a™ THUT TOT : 80
oAl — (/) | YT Hiefaul AEvds R
(77) 3IEiwEle 3T YU U SEIfad.

1. SO FEEEl SWRO100 VK| faRl (e | wn) [20]
(1) ¥R TRdd YR 9.
(2) UHERUAT GHHT hIAT ?
(3) e GJeHTEl Heheddl W
(4) =it wesie WEY WL
(5) TBY@ARN YHR hIUd  ?

(6) TSI oheddl T2 .

2. W@ YIAEl SW 200 v fawr (Fveel |§e) [20]
(1) aifers Feete 9Rom s &
(2) AT EHE  Afawaa=t et gm.
(3) TR U 9 TWed foRe &

(4) TSENE dedd WEY 90
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3. TGO WAl IW 400 I=@ fa@ (FOAE @) [20]
(1) viaggrEn 3™ 9 foe™ foRre 3.

2) o e 9 feEieoe WEY 9 98 W2 &,

4, dieHE@ few fom (FUEE =m) [20]
(1) TS GREE Fhed
(2) YAGSR Fleodial  STAS T GRE= IHE

(3) TWM AT UHR
(4) TEff® wEE
(5) WM IMAd IS

(6) U TRAEd 3IUHE.
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Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5301]-2056

S.Y. B.A. EXAMINATION, 2018
SOCIAL WORK (Gen.-2)
(1) Introduction to Fields of Social Work
(2) Population Education
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(if) Figures to the right indicate full marks.

1. Explain the causes of poor standard of living and suggest remedies
to improve it. [16]
Or
Discuss briefly the fields of Social Welfare.

2. Explain the concept of family welfare and discuss its importance
in society. [16]
Or

State the determinants of population growth.

3. Explain the importance of Balwadi and Creche for children. [16]
Or

Explain the need and scope of labour welfare.

P.T.O.



4. Explain the socio-cultural factors affecting population growth. [16]
Or
Explain the concept of Population Education and discuss the

objectives of Population Education.

5. Write short notes on any t¢wo of the following : [16]
(1) Problems due to Population Growth
(2) Scope of Rural Welfare
(3) Economic factors affecting Population Growth

(4) Juvenile Delinguency.

(W& wuiav)
9% : 9 a™ THIT TOT : 80
o — () | WA defau sremesd SR
(i) 3IqdIHSE Fw YU IO SFifer.
(777) WSHEE! He3 SUSH WYAALART Ul

1. ffo= WU AFET RO §9FE, 0 gURUEEE SUE gl [16]
feRar
A shedmEl fafay &5 Aer diesa == R

2.  HII HAUMA Hhoddl T FHEd, AAI GHANE @ A T
. [16]
n o

AREET e eveh T &L
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8. RIS doarer 37Ul Ueeuee Hegcd e . [16]
fwmar
FHEML HAOM TS 0T ATl TS .

4. RIS @A GMifSe d GiEhfae  Hewl gikomg favie . [16]
feRar
ARuE Ul dded T TR &ed, e SfE R ==t &

5. WIclciish! U@l eMer ediesd fewm foamr [16]

(1) <hEEa ded THE

(2) UM HoAOTEl ST
(8) ThEEA deeR oM wOmR STfMe S

(4) oA TR
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Total No. of Questions—4] [Total No. of Printed Pages—4

o [5301]-2058
S.Y. B.A. EXAMINATION, 2018
COMMERCE
G-II : Business Accounting
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

() Figures to the right indicate full marks.

(771) Use of calculator is allowed.

1. Answer the following questions (any five) : [10]
(a) Define Book-Keeping.
(b)  Who is a creditor ?
(¢ What is trial balance ?
(d) What is time keeping ?
(e) Meaning of nominal account.
(/  Objectives of cost accounting.
(&9 What is cash petty-cashbook ?

P.T.O.



2. Journalise the following transactions : [20]

June 2017

1

Started business with cash Rs. 2,00,000 and Machinery
Rs. 1,00,000

5 Purchase goods on credit from Sujit of Rs. 40,000
9 Sold Goods on cash of Rs. 20,000 to Mohit
11  Received commission of Rs. 6,000
13  Cash purchases of Rs. 40,000
15  Paid cash to Suyjit Rs. 36,000 in his full settlement
20  Paid salary of Rs. 20,000 to Kamlesh
22 Deposited cash of Rs. 10,000 in Janata Bank
25  Paid rent Rs. 6,000
31  Withdrew Rs. 8,000 for personal use.
Or
Describe various subsidiary books with its format. [20]
3. (A) Explain various types of overheads. [15]
Or
Prepare cost sheet from the following : [15]
Direct Material 20,000
Productive Wages 10,000
Direct Expenses 10,000
Advertisement 2,000
[6301]-2058 2



(B)

[6301]-2058

Bad Debts

Legal Charges

Income Tax

Office Salary

Factory lighting

Motive Power

Printing and Stationery
Salesman Commission
Depreciation of delivery van
Factory heating

Sales Commission

Sales

Explain in detail purchase procedure.

Or

1,000
300
1,000
5,000
1,000
2,000
1,000
1,000
500
1,000
1,000
1,00,000

[15]

Prepare Store Ledger Account on the basis of Last In First

Out method :

Purchases :

5th Jan. 200 units @ Rs. 44
20th Jan. 1,400 units @ Rs. 48
27th Jan. 800 units @ Rs. 52
13th Feb. 2,000 units @ Rs. 56

20th Feb. 1,000 units @ Rs. 60

3

[15]

P.T.O.



(a)
(D)
()
(d)
(e)
(5

[6301]-2058

Issues :

9th Jan. 100 units
22nd Jan. 1,000 units
30th Jan. 500 units
15th Feb. 1,000 units

22nd Feb. 1,000 units

Write short notes on (any four) :

Trial Balance

Balance Sheet

Debit Note and Credit Note
Limitations of financial accounting
First in First out method

Causes of labour turnover.

[20]



Total No. of Questions—4+4] [Total No. of Printed Pages—6

o [5301]-2059
S.Y. B.A. EXAMINATION, 2018
G-2 : EDUCATION
(NEW SYLLABUS)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(z)  Figures to the right indicate full marks.
1. Write the answers of the following questions in 100 words each
(any four) : [20]
(1) Explain the concept of inclusive education.
(if) Educational importance of Retention.
(111) Explain the concept of ‘education according to nature’ by Rousseau.
(1v) Explain educational importance of Heredity.
(v)  Explain the concept of Learning.
(vi) Explain the concept of Forgetting.
2. Write the answers of the following questions in 200 words each
(any two) : [20]
(1) Explain the role of school in character development of
students.
(i) Explain the need of education for special needs students.
(i) Explain the insight method of learning.

(1v)

Explain the problem solving method by Dewey.

P.T.O.



3. Answer the following questions in 400 words (any one) : [20]

(1)  Explain the characteristics of Physical, Mental, Emotional and
Social Development of later childhood stage.

(i) What is Secondary Education ? What are the objectives of
secondary education ? Explain the importance of secondary
education.

4. Write short notes in 50 words each (any four) : [20]

(1)  Stages of memory process

(i) Role of school in development of democratic citizenship

(iii) Laws of heredity

(i/v) Importance of inclusive education

(v)  Characteristics of emotional development in adolescence age

(vi) Characteristics of learning process.

(W& TUIa)
9@ @ dF A TeRUT TUT : 80

el — () §d v Hiefau sewEss SR
(77) SRSl 3k YU IO RifeAnd.

1. Oelid el SWOTdE 100 VS| faw (e 9mw) [20]
(/) FAqHERT  RTUMET Hohedd W &
(77) OO JHE HEE TR R
(7i7) ®4ET Qe dwed T TR &
(7v) STIORTE U TEd TR H.
(v) 1AMl GFheudl T
(vi) fTooRom= Yecdd T &
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2, Eeld YAl SWOUSIH 200 VS faw (e 9F) [20]
(7) Togmeaten =i wadqm@ wmesel gfHsr ¥ &
(i) TR e s fagEnetaden fgurEt WS T .
(i) THGWRIe® AATHA TSl TR HA
(7v) =g wHe e usdl e &

3. Woiads! TRl UM SW 400 v foral [20]
(1) TruasEt e, amfgs, aefe o gmfes foemmr Sl
TeE  h{.

(77 Hreafas e wus wE ? Areatyes e Sfesey st ? meafaes
fYeomMe e T &

4, YIH 50 V=@ A9 A (FE W) [20]
(7)) TN Yihdd <A
(i) ARYMEl AR fashyma Smesst ekt
(117) 31333’"% IRRL
(7v) TAGHERS o WS
(v) HAREEA vats  foemst  aftme
(vi) A=A fopaen afdrmes.
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G-2 : EDUCATION
(OLD SYLLABUS)

Time : Three Hours Maximum Marks : 80

NB. —

(1)  All questions are compulsory.

(if) Figures to the right indicate full marks.

1. Answer of the following questions in 100 words each (any four) : [20]

(1)
(11)

(117)

(1v)
(v)
(vi)

Write the objectives of Secondary Education.

Explain the laws of Heredity.

Explain the characteristics of emotional development at Infancy
stage.

Explain the concept of De-schooling.

Explain the Thorndike’s laws of Learning.

Explain the importance of Computer Education.

2. Answer the following questions in 200 words each (any two) : [20]

(1) Explain the problem solving method by Dewey.

(zi)  Explain the educational importance of Heredity and Environment.

(7if) What is Learning ? Explain the characteristics of learning
process.

(i7v)  What is Registration ? Explain the educational importance of
registration.

3. Write the answer of the following questions in 400 words (any one) : [20]

(1)  Explain the problems in Secondary Education. Give suggestions
to overcome those problems.

(i) ‘Adolescence age is stormy period.” Explain in detail.

[5301]-2059
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4. Write short notes in 50 words each (any four) : [20]
(1)  Concept of forgetting
(if) Impact of motivation on learning
(1ii) Role of school in development of democratic citizenship
(iv) Concept of social heredity
(v)  Concept of ‘Sakharshala’

(vi) Characteristics of Basic Education System.

(& waia))
9@ @ dF A THUT TOT : 80
el — (1) §d v Hiefou sewEs SR
(77) ISEIHRSId Ak YU IO iferAnd.

1. Wi 9¥El W Ydsl 100 IS foel (Shivdgl 9 m) [20]
(1) weAtds Feomen 3fesew fomn
(7)) IR M e &

(i) A=Al e fashram=l afyrse W &L

(iv) T 3mcrR Theqdl W H.
(v) 9HeEed 31emad g e &
(vi) WU TR W TS .

2, Weftd YIAEl W YR 200 Ve el (FveE gF) e [20]
(7)) =gt guen R ggd T &
() EW 9 URferde Dafr med TR FH
(i) T WUN HE 2 ATIT Wihdel dfyre wee @A
(1v) TSV WUS HE ? TR R Hed T H
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3. Weiicds! WeRT Y¥Te SR 400 g forer [20]
(7)) wEAHE QU HET W hU. @ U HOFEEl U™ gl

(77) 'HAREER TGS SNNAdEl #le’ § faum dfewR T #

4. YIS 50 V=M dewE@ dq faw (FO0E Ww) [20]
(/) foorom=E weeu
(77) UM SHEEEEEE g
(fi) NHRIME AR &Sfaquard  foraom=t  gfyes
(7v) WIS STIARTEl  Heheul

(v) HEENSEl HheqHl

(vi) Warcart faeor ggd=n aferse.
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Total No. of Questions—5] [Total No. of Printed Pages—9

Seat

No. [53011-2060

S.Y B.A. EXAMINATION, 2018
INDUSTRIAL MATHEMATICS
(FMG-2 : Operations Research and Optimization Technique)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.
(iif) Use of logarithmic table and calculator is allowed.

(17v) Graph paper will be supplied on demand.

1. Attempt each of the following : [16]
(1) Define unbalanced transportation problem. How do you balanced
it ?
(2) What is meant by unrestricted variables ?
(3) Write the standard form of the following LPP :
Max. :
Z = 2x; + 5x,
Subject to :
x; + 3x, < 3
3x; + 2x, = 6
4

x;, X, > 0.

\Y

(4) Define two person zero sum game.

(5) Write any ¢wo assumptions of game theory.

P.T.O.



(6) Give any two differences between CPM and PERT.
(7) Write any t¢wo assumptions of sequencing problem.

(8) Find the stationary point for the following function :

lx, %) =% - 2% + % + 4%.

2. (A) Attempt any one of the following : [6]
(1) Solve the following LPP by graphical method :
Max. :

Z = 3x + 9x

Subject to :
X + 4y < 8
X + 2y < 4
x, y > 0.

(2) Find IBFS of the following transportation problem by VAM

method :
Source Destination Supply
D, D, D, D,
S, 15 18 22 16 30
S, 15 19 20 14 40
S, 13 16 23 17 30
Demand 20 20 25 35

[5301]-2060 2



(B) Attempt any two of the following : [10]
(1) Solve the following LPP by simplex method :
Max. :
Z = 10x; + 6x,
Subject to :
5x; + 3x, < 30
x, + 2x, < 18
X, X9 > 0.

(2) Solve the following assignment problem :

I II I 1v

Al 0 7 14 | 21

B 12 | 17 | 22 | 27

Cl 12 | 17 | 22 | 27

D| 18 | 22 | 16 | 30

(3) Solve the following transportation problem by Least Cost
Entry method :

Source Destination Supply
D, D, D, D,
S, 6 4 9 1 40
S, 20 6 11 3 40
Sq 7 1 0 14 50
S, 7 1 12 6 90
Demand 90 30 50 30

Also find the IBFS.

[56301]-2060 3 P.T.O.



3. A

Attempt any one of the following :

[8]

(1) Find the optimal solution of the following LPP by Big M

method :
Min. :
Z = 2x; + 3x,
Subject to :
X, + X5 > 5
x; + 2x, > 6
x;, X5 > 0.
(2)

assignment problem :

Obtain the optimal solution of the

following maximization

A B C D E
I132 |38 | 40 | 28 | 40
IT| 40 | 24 | 28 | 21 | 36
III| 41 | 27 | 33 | 30 | 37
IV 22 | 38 | 41 | 36 | 36
V129 3340 | 35| 39

(B)

Attempt any one of the following :

[8]

(1) Solve the following game graphically :

Player B
I 1II

Al 2
B(5 6
Player A C
D

E|2 1

[5301]-2060 4



(2) Obtain the extreme point of the following non-linear problem
by using Lagrangian method of multipliers :
Min. :
Z = 2X + % +3x% +10x, + 8x, + 6x — 50
Subject to :
X + X5 + x5 = 20

X, X5, X3 > 0.

4. (A) Attempt any one of the following : [6]
(1) The data on the operating costs per year and resale prices
of equipment A whose purchase price is Rs. 10,000 are

given below :

Year Operating Cost (Rs.) Resale Value (Rs.)

R(n) (S)
1 1,500 5,000
2 1,900 2,500
3 2,300 1,250
4 2,900 600
5 3,600 400
6 4,500 400
7 5,500 400

Determine the optimal period for replacement.

[56301]-2060 5 P.T.O.



(2) Explain the principle of dominance in game theory and

solve the adjoining game :

Player B
B, B, B3 B,

A8 10 9 14

A,[10 11 8 12

A;[13 12 14 13

(B) Attempt any two of the following : [10]
(1) Develop a network for the following information :
Activity Predecessor(s)
A _
B —
C A
D A
E B, C
F B, C
G D
H E

(2) There are 5 jobs each of which must go through two machines
A and B in the order AB. Processing time (in hours) are
given below :

Job Machine A Machine B
1 5 2
2 1 6
3 9 7
4 3 8
5 10 4

Determine the sequence that minimize the total elapsed
time.

[5301]-2060 6



5. (A)

[56301]-2060

(3) In a game of matching coins, player A wins Rs. 2 if there

are 2 heads, wins nothing if there are two tails and loses
Re. 1 when there are one head and one tail.
Determine :

(1) The pay-off matrix

(i) Best strategy for each player.

Attempt any one of the following : [6]

(1) There are seven jobs each of which has to 90 through

machines A, B and C in order ABC. The processing times
(in hours) are given below :
Processing Time

Job Machine A Machine B Machine C

1 3 8 13
2 12 6 14
3 5 4 9
4 2 6 12
5 9 3 8
6 11 1 13

Determine the sequence of these jobs that will minimize
the total elapsed time T. Also find the idle time for the

machines.

7 P.T.O.



(2) Obtain the stationary point(s) for the following function
and hence find extreme value of the function F(X),
where :
FX)=x+2%+ 55 - X% - % - %.
(B) Attempt any one of the following : [10]

(1) The data for a PERT network is given in the following

table :
Activity Time Estimate
(Days)

£, t t,
1—2 1 7 13
1—6 2 5 14
2—3 2 14 26
2—4 2 5 8
3—5 7 10 19
4—5 5 5 17
6—7 5 8 29
5—8 3 3 9
7—8 8 17 32

(a) Draw a network for the project.
(b) Compute the expected project completion time.

(c¢) Identify the critical path.

[5301]-2060 8
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(2) Draw a CPM network to represent project for the following

given data. Also find the minimum time of completion of

the project and total float of each activity :

Activity

Duration (Weeks)
15

15

12

14

14



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5301]-2062

S.Y. B.A. EXAMINATION, 2018
ENGLISH (GENERAL)
PAPER II
(Study of English Language and Literature)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
Text Prescribed :—
(/)  Rainbow : A collection of short stories. Ed. Board of
Editors, Orient Blackswan.
()  Linguistics : An Introduction. Ed. Board of Editors, Orient
Blackswan.
NB. — (1) All questions are compulsory.
(i) Figures to the right indicate full marks.

1. (A) Attempt any one of the following in about 100 words : [8]
(1) What is literature ? Explain some literary devices.
(i) What is short story ? Explain elements of short story.
(B) Attempt any one of the following in about 100 words : [8]
(1) Mention three questions of the king. How did he get
answers from the people ?

(if) Consider ‘Mother of a Traitor’ as a tragic story.

P.T.O.



2. Write short notes on any four of the following : [16]
(1) Speech Mechanism
(i7) Pure Vowels
(i7i7) Place of Articulation
(iv) Word Accent
(v)  Uses of Rising Tone

(vi) Africates.

3. Attempt any two of the following in about 100 words each : [16]
(1) Consider ‘After Twenty Years’ as a suspense story.
(i) Bring out the humour, irony and satire in the story ‘“The Open
Window’.
(iii) Comment on the aptness of the title ‘The Signal Man’.
(iv) Compare and contrast the £wo fathers in the story ‘Kabuliwallah’

and how do they contribute to the theme.

4. Write short notes on any ¢wo of the following in about 100 words
each : [16]
(1)  Morphemes and Allomorphs
(17) Prefixation
(7i7) Class changing and class maintaining derivational suffixes

(iv) Process of suffixation.

[6301]-2062 2



5. Write short notes on any two of the following in about 100 words
each : [16]
(/)  Standard Dialect
(i) Register : Varieties of language
(1i7) Code mixing

(iv) Types of style.

[5301]-2062 3



Total No. of Questions—5]

Seat
No.

Time

Texts Prescribed :— (i)

: Three Hours

S.Y. B.A. EXAMINATION, 2018
ENGLISH
Special Paper 1
(Appreciating Drama)
(2013 PATTERN)

(1) A Doll's House : Henrik Ibsen.

Maximum Marks

[Total No. of Printed Pages—3

[56301]-2063

: 80

The Merchant of Venice : William Shakespeare.

(7711) Old Stone Mansion : Mahesh Elkunchwar.

N.B. :(— (1) All questions are compulsory.

() Figures to the right indicate full marks.

1. Attempt any four of the following questions :

(1)
(2)

3)
(4)
(5)

State the difference between plot and story.
What is the difference between major and
characters ?

Write a note on soliloquy.

Explain the role of stage properties in Drama.

Explain in brief the three unities in drama.

[16]

minor

P.T.O.



2. Attempt any one of the following questions : [16]
(1) Draw a character sketch of Bassanio.
(2) Comment on the importance of the trial scene in 7The Merchant
of Venice.
3. Attempt any {wo of the following questions : [16]
(1) Comment on the role of Christine Linde in A Doll’s House.
(2) Discuss A Doll's House as a problem play.

(2) Draw a character sketch of Nora Helmer.

4. Attempt any {wo of the following questions : [16]
(1) Discuss the plot of Old Stone Mansion ?
(2) Write a note on the female characters in OId Stone Mansion.

(3) Examine Old Stone Mansion as a social satire.

5. Attempt any erght of the following questions : [16]
(1) What is the theme of OId Stone Mansion ?
(2) Comment on the setting of The Merchant of Venice.
(3) What is the symbolic significance of ‘tractor’ in OIld Stone
Mansion ?
(4) Describe the use of three unities in 7The Merchant of
Venice.

(5) Bring out the conflict between Antonio and Shylock.

[6301]-2063 2



(6)
(7)
(8)

9)
(10)

[6301]-2063

Who is the protagonist in A Doll's House ? Why ?

Give examples of dramatic irony from A Doll’'s House.
Explain the significance of the trial scene in 7The Merchant
of Venice.

What is the theme of The Merchant of Venice.

Examine the realistic elements in A Doll’s House.



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5301]-2064

S.Y. B.A. EXAMINATION, 2018
ENGLISH
Special Paper-I1I
(Appreciating Poetry)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

Text Prescribed : Auroral Musings
N.B. .— (i) All questions are compulsory.
() Figures to the right indicate full marks.

1. Answer any four of the following : [16]

(1) What do you understand by 'octave', 'seslet’, 'quartet’, and 'couplet’
in the sonnet ?

(2) Discuss the use of 'conceit' in metaphysical poetry.

(3) Bring out the difference between 'simile’ and 'metaphor' with
suitable examples.

(4) What is an 'ode' ? Give examples of its major types.

(6) Explain 'rhyme' in poetry.

(6) Explain any t¢wo characteristics of Neoclassical poetry.

2. Answer any four of the following - [16]
(1) Discuss the excerpt from Pope's The Rape of the Lock as

satire.

(2)  Who does Milton invoke in "Invocation' ? Why ?

P.T.O.



(3) Appreciate Marvell's "The Coronate" as a religious poem.

(4) Bring out the humour in Gray's "Ode on the Death of a Favourite
Cat".

(6) Discuss Spenser's idea of true beauty.

(6) Discuss Shakespeare's "My Mistress's Eyes" as a non-conventional

sonnet.

3. Answer any two of the following : [16]
(1) Discuss the characteristics of 'Romantic’ poetry.
(2) Bring out the vivid imagery in "The Blessed Damozel".
(3) Explain with examples any four characteristics of the ballad

as a form of poetry.

4. Answer any ¢wo of the following : [16]
(1) How does Emerson expand the idea that God is beyond praise
and blame, good and evil ?
(2) Bring out the portrayal of death in Dickinson's "Because I
Could Not Stop for Death."
(3) Why does Hopkins believe that the world is charged with God's

grandeur ?
5. Explain with reference to the context any four of the
following : [16]

(1) Why do men then now not reck his rod ?

Generations have trod, have trod, have trod;

And all is seared with trade; bleared, smeared with toil
(2) And we are here as on a darkling plain

Swept with confused alarms of struggle and flight,

Where ignorant armies clash by night.
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(3) Wild spirit, which art moving everywhere;
Destroyer and Preserver; hear, O hear!

(4) I saw pale kings and princes too,
Pale warriors, death-pale were they all;
They cried, "La Belle Dame Sans Merci
Hath thee in thrall!"

(5) An aged man is but a paltry thing,
A tattered coat upon a stick, unless
Soul clap its hands and sing, and louder sing
For every tatter in its mortal dress

(6) Enough of science and of art;
Close up these barren leaves;
Come forth, and bring with you a heart

That watches and receives.
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No. [53011-2065
S.Y. B.A. EXAMINATION, 2018
PHYSICAL EDUCATION (Gen.-II)
(2013 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. .— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

(i17i) Draw neat diagrams wherever necessary.

1. Answer the following questions in 50 words each (any
two) : [05]
(1) Write 5 skills in Kho-Kho.

(2)
3)

List out the Asanas in ‘Surya Namaskar’.

Importance of Pull-ups in physical fitness.

2. Answer the following questions in 100 words each (any
two) : [10]
(1) What problems occur during the organisation of tournaments ?

(2)

3)

List out one Asana in various body positions (sitting, standing,
supine, prone) and describe in detail about any one Asana.
What is physical fitness ? Explain in detail.

3. Answer the following in 250 words each (any ¢wo) : [15]

(1)
(2)
3)

Importance of modern Olympic Games.
List out the basic skills and rules of handball.

Explain health related physical fitness components.

P.T.O.



4. Answer the following in 500 words (any one) : [10]

(1) Explain the functions of various committees during the or-
ganization of tournaments.

(2)  List out the various training methods to develop physical fitness

and explain the circuit training method.

(W& T UIR)

9% : 9 a™ THUT TOT : 40
o — (/) wd TR Hiefou savasd S
(77) SSEhele 3% qul U Syifad.

(iif) 3TEYIR A TSkt Yook TMHAT el

1. @it geaEl 50 v W ol (S e ) [05]
(1) @-El Wodiad 5 <hied=l A9 foren
(7)) Yd AR Fdl T GHIfONE FAFOEAl SAEArE A T

(i) T@ TG I FEHIRN Ceddid Hee .

2. TEld YEART 100 Ve[ SW fa@ (FOE §F) [10]
(/) SISl ENET THSE g S
(7)) fafay IR Rodidiad g&RI THT AEA T g7 IRl Tehl
SO Gfos Hdt FUH HA
(if7) TRIR® Ygedl WUS HE d W HA.

3. @i gEAEl 250 vEid SW foel (FvQEl @F) [15]
(7)) onyfiw Siifafltues wWde #Aed W H
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S @ ufviemr ugdieRa Wifedl ot
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Total No. of Questions—5] [Total No. of Printed Pages—5

Seat
No.

[5301]-2066

S.Y. B.A. EXAMINATION, 2018
MATHEMATICS

(MG-2 : Discrete Mathematics and Linear Algebra)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. .— (i) All questions are compulsory.
() Figures to the right indicate full marks.

1. Attempt each of the following : [16]

(1)  Construct truth table of the following statement :

p — q

(i) Write domination laws and idempotency laws.

(1) State the addition rule for counting.

(iv) State Inclusion-Enclusion principle.

() Find <u, v> where u=(22i1), v=(2 1,1+ in C with

respect to the inner product defined as :
<u, V)= ay + oy +
(vii Let T : R2 — R? be linear transformation given by the

formula :
T(x, ») = (x x+ y y.
Find the kernel of T.
P.T.O.



(vi1)

(viil)

2. (A

(B)

[6301]-2066

State the dimension theorem for linear transformations.
-
Let V;=(,0) and \72:(0, 1) be two vectors in R2.

Show that every vector in R? is a linear combination of

— —

V, and V,.

Attempt any one of the following : [6]

(1) Explain indirect method and use it to prove the
following :

Prove that every odd integer is the difference of the
squares of two integers.

()  State the Multiplication rule of counting and hence solve
the following :

Suppose there are 5 different sizes of shirts, 4 different
colours of shirts and 3 different styles are available. How
many different types of shirts are available ?

Attempt any two of the following : [10]

(1) Show that P Qo[(P->QAQ—->P)] is a
tautology.

(i) How many different five letter sequence can be made
using the letters A, B, C, D with repetition such that
the sequence does not include the word BAD ?

(ir/) Find the number of integers from 1 to 999 inclusive,

which are divisible by 3 but not by 4.

2



3. (A

(B)

4. (A

[6301]-2066

Attempt any one of the following : [8]

() How many permutations of the 10 digits either begin
with the three digits 987, contain the digits 45 in the
fifth and sixth positions or end with the three
digits 123 ?

(i) (a) Find the number of different arrangements of the
word triangle so that vowels will appear in alphabetic
order.

(b) Find the number of non-empty collections from
5 As and 7 Bs.
Attempt any one of the following : [8]
(1)  Let R2 be with Euclidean inner product. Use Gram-Schmidt
process to transform the basis 1—11 =(1,1,1), l;; =(-1,1,0)
and l_l)3=(1, 2,1) to orthonormal basis of R3.
(i) Let V be a vector space and W;, W, be subspaces of
V then show that :

dim(W, + W,) = dim W, + dim W, — dim(W, n W,).

Attempt any one of the following : [6]

(np If {}1 and {}2 are any two vectors in a vector space V,

then show that V, = {oc {)71 + B\_}2| o, e R} the smallest

subspace of V containing \7’1 and {}2.

3 P.T.O.



(B)

5. (A

[6301]-2066

(i) Let T : R?® — R? be a linear transformation given by

5x,), then find the matrix with respect to the standard

- -5 -5

basis B={gqg, e, ¢}.

Attempt any two of the following : [10]

(/) Let T; : RZ » R? be T, : R?> —» R? be transformations
given by T (x, ) = (x+ 3 » and Ty(x y=Q2x 5, x+ ).
Find formula for T,dT; and show that T,dT; is a linear
transformation from R? to R3.

(if) Show that the following identity hold for vectors in any

inner product space :

-0, - 2, =5 -,
lu+ vIF +llu— v =2]ull®+2] v|".

(i7i1) Show that the set B = {L_I; ’ ;2} is a basis for R?, where

- -

y =@3,4)and uw, =1, -3)-

Attempt any one of the following : [6]

() Let V be a vector space. If W; and W, are subspaces
of V, then show that the intersection W; n W, is also
a subspace of V. Is W, U W, subspace of V ?

(i7) Let x= (%, x,) and ,_;/= (%, %) and vectors in R? define

<x, y>=y(x +2x)+ 3%2x +5x)- Show that <1>

defines an inner product.

4



(B)
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Attempt any two of the following : [10]

(1)

(11)

(111)

- - -
Let S=<%, %, ..o , V,> be a set of non-zero vectors

in an inner product space. If all pairs of distinct vectors
of S are orthogonal, then show that S is linearly in-
dependent.

A linear transformation T :V — W is injective if and
only if ker T = {6}.

Let W = {(x,x,x)lx;, + x, + x, =0} a subset of R3.
Show that W is a subspace of R?® and find basis and

dimensions of W.



Total No. of Questions—5] [Total No. of Printed Pages—4

o [5301]-2067
S.Y. B.A. EXAMINATION, 2018
MATHEMATICS
(MS-1 : Problem Course Based on Papers MG-2 and AMG-2)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
NB. — (1) All questions are compulsory.
(i) Figures to the right indicate full marks.
1. Attempt each of the following : [16]
(a) Construct truth table for p @ q.
(b) Let p(x) denote the statement “x > 3”. What are the truth
values of p(2) and p(10) ?
(0 Is W= {x,p € R%/x% + ¥y = 0} a subspace of R2 ? Justify.
(d) Are the vectors 7y = (0, 1) and @ = (-1, 0) orthogonal to
each other mR2 ? Justify.
(e0 If Ax, ) = €Y, then find £, and 1‘}',
(5 If fx, y) = tan™! (—j} show that £, = £,
(& If An = costi+sin §j+tk find lim A¥.
o
(h) Evaluate : _[14 [%;+$}+2it7f} dt.

P.T.O.



2. A

(B)

3. A

[6301]-2067

Attempt any one of the following : [6]

(1)

Use quantifiers to express the definition of the limit of
a real valued function fx) of a real variable x at a point

a in its domain.

(i) How many ways are there to select a captain and a
vice-captain from 15 members of a cricket team ?
Attempt any two of the following : [10]
(1)  Show that the function
2xy
—— 5 (x »=(0,0)
flx, p) =122+ 5
0 ;(x »=(@0,0)
is not continuous at (0, 0).
(i) Find the extreme values of the function Ax, y) =
50, 20
Xy o+ ¥
(/i) Expand fx, y) = x> + xy2 in powers of (x — 2) and
vy - 1.
Attempt any one of the following : [8]
(1)  How many positive integers not exceeding 1000 are divisible
by 7 or 11.
(z7) Evaluate : J.J.R (4x+2) dy dx

where R is the region bounded by x = 0, x = 2, y = x2

and y = 2x.



(B)

4. (A

(B)

[5301]-2067

Attempt any one of the following : [8]

(1) Using Gram-Schmidt process convert the basis

B=1{1,1,1), (0,1, 1), (0, 0, 1)} into orthonormal basis.
(i1) Show that F =(eX cos y+ y21 +(xz— X sin p)j+(xy+ 2k

is conservative and find a potential function for it.

Attempt any one of the following : [6]

(1) Let Py be a real vector space. Show that {p;, py, p3
is a basis for Py, where p; = 1 + 2x + X2,
p2=2+X,p3=1—X+2X2.

(/) Let T : R2 - R?2 be a linear transformation such that
T(1, 1) = (0, 2) and T(1, -1) = (2, 0). Compute T(1, 4)
and T(-2, 1).

Attempt any two of the following : [10]

(/) Find ker (T), where T : R2 — R? is defined by T(x, »)
= (x -y x+ p.

(/) Let T : R - R3 be defined by

T(x, y, 20 = (-x, —y, —2)

Show that T is a linear transformation.
.. . 1
(i11) Use the inner product <f£ g> = I 0 fx) g(x) dx to compute

<f, g> for the vectors f = x, g = ¥ in 40, 1l.

3 P.T.O.



5. (A

(B)
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Attempt any one of the following : [6]
(1) Show that 7=¢?(7cos 2¢+ bsin 28 where 5,27 are

constant vectors is a solution of the differential equation

ﬁ+2£+5?:0
dt

df

(i) Use Green’s theorem to calculate the integral

Cj} ytan? x dx+tan x dy

4

where ¢ is the circle 2 + (y + 1)2 = 1.
Attempt any two of the following : [10]

— - - . dF dr
() If H{®=Q0-cos i +(¢t—sin 8y, find o and 2

(77) Find the curvature of a circle of radius a.

(iin) If F= 2y+ 3); + (XZ); +(yz— X)]_{, then evaluate j (7).dr

4

along the path c¢: =287+ ¢+ £k from ¢ = 0 to 1.



Total No. of Questions—5] [Total No. of Printed Pages—8

Seat

No. [5301]-2068

S.Y. B.A. EXAMINATION, 2018
STATISTICS (GENERAL-II)
(Statistical Prerequisites)
(Applications of Statistics and Theory of Probability)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. .— (i) All questions are compulsory.
() Figures to the right indicate full marks.
(7if) Use of calculator and statistical tables is allowed.

(1v) Symbols and abbreviations have their usual meaning.

1. Attempt each of the following :

(a) State whether the following statements are True or

False : [1 each]

(1) We cannot use the classical definition of probability in case

the sample space is countably infinite.
(11) HCr = HPn—r

(1i7) Trend is the long term movement in time series.

(iv) If NRR > 1, then there is increase in population.

P.T.O.



(D)

[6301]-2068

Choose the correct alternative : [1 each]

(1)

(11)

(111)

(iv)

Let X ~ P (4) then mean and standard deviation of X

are :

(A) Mean = 2, S.D. = 2

(B) Mean = 4, S.D. = 2

(C) Mean = 4; S.D. = 4

(D) Mean = 2, S.D. = 4

If X is a discrete random variable, then its c.d.f. is :
(A) Non-decreasing

(B) Non-increasing

(C) increasing

(D) decreasing

Let X be a random variable with mean 5 and variance
16. What are the values of mean and standard deviation
of X — 5)/16 ?

(A) 0.1

(B) 0, 0.25

©) 5, 1

(D)5, 0.25

Population growth mainly depends on :
(A) female births

(B) total births

(C) male births

(D) female population

2



(o)

(a)

(D)

(o

(d)

[6301]-2068

Answer in brief : [4%2=8]
(1) Compute R,,5 for the following data :
n,=0%7 r,=r,=0.5
(i17) Define :
(1) Mutually exclusive event
(2) Independent events
(1) State additive thoerem of probability.

(iv) Explain the term Irregular variation.

Attempt any four of the following : [4x4=16]

The first 12 letters of the English alphabet are written down
at random. What is the probability that :

(1) There are 4 letters between A and B
(i) A and B are written down side by side.

What is time series ? Give three illustrations of time series

in different fields.

(1) Define pairwise independence and complete independence

in case of three events.

(1) Show that complete independence of three events pairwise

independence.

Define Binomial distribution. Give three real life situations where

this distribution is experienced.

3 P.T.O.



(e

The probability distribution of a discrete random variable X

is as follows :

X P(x)
-2 0.05
0 0.35
1 0.2
2 0.4

Find :

() P X < 0)

(1) V(X)

(i) B (ZX + 1]

2

(7v) Mode(X)

(/) Define multiple correlation coefficient. Also show that if
Rigs = 1, then Ry;3 = Rgyp = 1.
3. Attempt any four of the following : [4x4=16]
(a) State and prove additive property of Poisson distribution.
(b) Let (X, Y) be discrete bivariate random variable with joint

[6301]-2068

p.m.f.

Plx, ) = 2x + 3y)/72 ; x=0,1, 2, y =1, 2, 3
=0 ; otherwise

Find :

(1) Marginal pm.f’s of X and Y

(1) Conditional probability distribution of Y given X = 1.

4



(¢) Find 5-yearly moving average of the production of commodity

for the year 2001 to 2010 as given below :

Year Production (’000)
2001 13
2002 15
2003 20
2004 18
2005 25
2006 23
2007 19
2008 29
2009 24
2010 33

(d) The average number of misprints per page of a book is 1.5.
Assuming the distribution of number of misprints to be Poisson,

find :
(1) Probability that a particular book is free from
misprints.

(i7) Number of pages containing more than one misprints on

a page in the book.
[6301]-2068 5 P.T.O.



(e) Compute the CDR and STDR for two population A and B

taking population B as standard population :
Age Group A B

Population Deaths Population Deaths

0-10 15000 300 10000 280
10-30 30000 600 25000 400
Above 30 20000 800 15000 750

(ffi A number is selected from the set of numbers {1, 2, 3, 4,
5 6, 7, 8 9, 10}. If A = An even number is selected,
B = Number less than 5 is selected, obtain (A’UB’).

4. Attempt any two of the following : [2x8=16]

(a) Calculate G.F.R., T.F.R., Age-S.F.R., and G.R.R. for the following
data. Assume that proportion of female births is 43.5% :

Age Group No. of Women Total Births

(in years) (in 000)
15-19 32 800
20-24 30 3420
25-29 28 4200
30-34 25 2860
35-39 22 1920
40-44 20 600
45-49 10 10

Also comment on the results of T.F.R. and G.R.R.
[6301]-2068 6



(b) (1) If X is random varibale having Binomial distribution with

EX) = 6 and var(X) = 4.2, then find »n and p.

(i) A problem in statistics is given to 3 students A, B, C;
whose chance of solving them is 1/2, 1/3, 1/4 respectively.
If they solve independently, find probability that problem

will be solved.

(e) (1) Define the cumulative distribution function of a discrete

random variable and state its properties.

(i) If random variable X follows B(n, p), then show that E
(x¥’n) = p.

(d) Explain various components of Time Series with an

illustration.

5. Attempt any one of the following : [16]

(a)  Given the following information find equation of plane of regression
of X; on X, and X;. Also estimate value of X; when

X, = 58.8 and X, = 52.5.

Variable Mean SD Correlations
X, 55.95 2.26 r, = 0578
X, 51.84 4.39 3 = 0.581
Xq 56.03 441 rys = 0.974

[6301]-2068 7 P.T.O.
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The joint probability

below :
XY 1
0 1/24
1 1/12
2 1/24
Find :

(1) The conditional
Y = 2.

(1) The conditional

distribution of (X, Y) is as given

2 3 4
1/12 1/12 1/24
1/6 1/6 1/12
1/12 1/12 1/24

probability distribution of X and
(2)

probability distribution of Y and

X = 1. (2)
(i17) PX<11Y=1) (4)
(iv) P(Y>31X>1) (4)
(v) Probability distribution of X + Y (4)



Total No. of Questions—4] [Total No. of Printed Pages—11

Seat

No. [5301]-2069

S.Y. B.A. EXAMINATION, 2018
LOGIC AND METHODOLOGY OF SCIENCE
(G-II : Formal and Relational Logic)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. .— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Answer any two of the following : [20]

(1) Explain using relevant examples the preliminary as well as
revised rule of existential instantiation, induding the restrictions

applicable to each of there versions.

(if) Explain the nature of an enthymemical argument and prove

the following enthymemical argument valid.

Sameer is taller than Rekha. Rekha is taller than Trupti.
Therfore Sameer is taller than Trupti. (Txy = x is taller

than y, x, r, ?

P.T.O.



(i1i) Symbolize any five propositions using the symbols given in

brackets :

(iv)

[5301]-2069

(a)

(D)

(o

(d)

(e

(5

Only women are affectionate :
(Wx = x is a woman, Ax = x is affectionate)
Every student is either intelligent or hardworking :

(Sx = x is a student, Ix = x is intelligent, Hx = x is

hardworking)

All actors and directors are wealthly :

(Ax = x is an actor, Dx = x is a directors,

Wx = x is wealthy)

Not every rose is fragrant :

(Rx = x is a rare, Fx = x is fragrant)

Almost all students scored more than ninety percent :

(Sx = x is a student, Mx = x scored more than

ninety percent)
No politicians are corrupt. :

(Px = x is a politicians, Cx = x is corrupt)

Prove any t¢wo of the following arguments valid :

(a)

(0)

(x) (Cx » Dx
(x) (Ex o ~Dx)/... (x) (Ex o ~Cx)
(x) Jx o ~Ix

Ik/ . .~JK
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(a)

(D)

(o)

(d)

(0 (x» (Lx > Mx)
(3x) (Lx - Nx/.. (3x)(Nx - Mx)
(d ) [Tx o> (Fx - Dx)]
3x) (Tx - Bx)/... 3x)(Dx - Bx)
2. Answer any ¢wo of the following : [20]
(1) Explain the notion of propositional function and state using
examples the two methods of obtaining propositions from
propositional functions.
(i) Demonstrate and explain the method of proving invalidity of
invalid arguments using relevant examples.
(1ii) Symbolize any five propositions using symbols in brackets :

If anything is broken, it must be repaired.

(Bx = x is broken, Rx = x must be repaired)

If all lions are beautiful, then some lions are beautiful.
(Lx = x is a lion, Bx = x is beautiful)

If a passenger is weathy, and if all if all wealthy passengers

travel in first class, he will travel in first class.

(Px = x is a passenger, Wx = x wealthy, Tx = x travels

in first class)
John loves Mary but Mary does not love John.

(Lxy = x love y, j, m)

3



(1v)

(1)

[5301]-2069

(e

(5

Every dog has his day

(Dx = x is a dog, Yx = x is a day, Bxy = x belongs
to y)

There are atleast two applicants.

(Ax = x is an applicant)

Prove any two of the following arguments valid :

(a)

(x) Px o Gx)

/:.(x) [{Dx Ex).(H[(Dy Ey>~Gyl} o>~ Px]

(b (» (Ax o Gx
(x) (Cx o Hx)/.. (x)(Gx o> Cx) o (») (Ay o Hy)

(¢ (Ax) Jx o AyYKy/.. (3x) [dJx o (FyKyl

(d) No teachers are lazy. Therefore, if Prakash is a student,
and all students are lazy, then Prakash is not a teacher.
(Sx = x is a student, Tx = x is a teacher, Lx = x is
lazy, p)

3. Answer any two of the following : [20]

Prove invalidity of any four of the following arguments :

(a)

(D)

(x) Kx o ~Cx)

3x) Mx - Lx/.. (v (Kx > ~Mx)
(x) (Sx > Px)

(3x) (Sx - Ix)

3x) (Px - ~Sx)/.. iﬂX) [Px - ~Ix]



(o0 (x» (Hx o ~Ix)
(x) Ix o Ux/... (xx(Hx o ~Ux)

(1) All soldiers are brave. Amit is a soldier. Therefore Amit is

brave.
(Sx = x is a soldier, Bx = x is brave, a)

(1) All whales are heavy. Some elephants are heavy. Therfore all

whales are elephants.
(Wx = x is a whale, Ex = x is an elephant, Hx = x is heavy)

(iv) Some dogs are white Some dogs are black. Therfore some

blacks are whites.
(Dx = x is a dog, Bx = x is black, Wx = x is white)
Or

(if) Prove any four theorems with the help of the axioms given

below Axioms :

L. (pvp>oOp

II. (go(pv @)

L. (pv@>o(gv p

IV. (pv(gvr)o(gv(pv D)

V. (gon>((pv@>(pvr)

[6301]-2069 5 P.T.O.



Theorems :

(1) (po~@>(g>~p

(i) (po2@>d(por>D(pDN)
(i) ~pv p

(iv) po~~p

(v p>op

(v) (p > ~p) > ~p.

4. Write short notes on (any four) : [20]
(a) Rule of universal generalization (Preliminary version)
(b) Consistency and completeness as attributes of P.M. System.
(¢) Concepts of syntax and semantics
(d) Nature and structure of Relational proposition
(e) Transitivity and intransitivity
(/4 Identity as a dyadic relation.
(W& waiav)
9@ @ dF A THUT 7T : 80

ol — (/) WA WA Giefau AedE .

(77) ISEherd 3 gU IO SEifodm.
(fi7) TEIEE Yoz TUSH YYAUCAHT URTE.

1. Wldisl SR SF=r ST = o: [20]

(1)

[5301]-2069

sifcaar=l 3ereuitehur=a fremr=a wiafhe oy el sga= A
WEW 3T WEHW T d Sl A HaRR e &
6




(11)

(111)

(1v)

[6301]-2069

e I YRR JfaaR WEd A Tieid  JiaRerel S
fag =+

TR 7 @E 39 3T, WM gwigd 39 oTe. WA §HR @ gwrde
39 AR (Txy = x & y U8l S99 3R, x, 1, 0

% faciear faer=n 9 & @iicius! Shivdel urer faum fa=ifead
Sl

(a) ok oI 9@ 9.

(Wx = x & ®l 38, Ax = x & TEeg %)
(b Yw foenefl TR TR oTEdl fear wwg el

(Sx = x fonefl &R, Ix = x TN R, Hx = x <@ 3R)
(¢ 4d @Ifvd o fogeis #fiFa s

(Ax = x 3% 3T Dx = x foaeieh 31§ Wx = x 4iva 3me)
(d) Faa TaE g THam.

Rx = x oM@ R, Fx = x et aw)
() V& Vdw ¥d faeneAl” Teag SHEMe Aty T el
(Sx = x fomneft g, Mx = x @ 90 e 3Afeh Tur fheme)

(f THE USRRUT 92 T4l

(Px = x IS&RUt 3R, Cx = x 9% 3TR)
DR G g Ay
(a) (» (Cx o Dx

(x) (Ex o ~Dx)/.. (x) (Ex o ~Cx)
7 P.T.O.



b @ (x o> ~1x
Ik/ - ~J &k
(0 (» (Lx > Mx)
(3x) (Lx . Nx/.. @3x(Nx . Mx)
() (x® [Tx > (Fx - Dx)]

3x) (Tx - Bx)/... Ax)(Dx - Bx)

2.  HIUIEl SEl SO : [20]

(1)

(11)

(111)

[5301]-2069

foauria e Gheddl IRE TR hed Ay wadomgy faue
fosvar=a1 €M Ugudl T
Y e Sl fHeY oAl YeHdl HieEil TR .

% feoioan == R %A @il ivdie arer faum fa=ifead

<l

(a) SR &M@l HWed, W d Fed ol difesl.
(Bx = x Hied &6, Rx = x T&& hal Ulfgs)

() R Td fag g dAudiad ® FE fag g srEd.
(Lx = x f98 %, Bx = x §X M)

(¢) SR Il Yort eAed sTa ST Wel oled Yol YW SRl
YH Hdd, R Al YUH T YA ohidl.

(Px = x Jat 3], Wx = x ¥Fed 37, TX=X'§[93|I[5|T|1T’
ard )

(d) S TR Y9 &, 99 B SR 99 Hq e

(Lxy = x & y € 99 &dl, j, m)
8




(1v)

(1)

[6301]-2069

(e

(5

godsh hATdl foad  STEdl.

(Dx = x AT 3, Yx = x Kaq &, Bxy = x & y =
#R)

FHHGRH T TSGR SATRd
(Ax = x & 3SER 3TR)

GeieTdeh! UG Sl gaaar oy &0 e

(a)

(x) Px o Gx)

/:.(x) [{Dx Ex).(H[(Dy Ey>~Gyl} o>~ Px]

b x (Ax > Gx)
(x) (Cx o Hx/.. x)(Gx o> Cx) o (») (Ay o Hy)
(o (@x Jx o @pKy.. 3x [Jx o GyKyl
(d) TUwmd forer oToRl F9d. WUE, SR U famnef s emfor
e fommeff smeft owel, W yeww fuaw A9
(Sx = x fomnet o), Tx = x e MR, Lx = x 3T 3TR)
3. IR THT I IW ;W [20]

TeAteTih! HIVER! AR Facr=t saFa fagy &1

(a)

(D)

(x) (Kx o ~Lx)
(3x) Mx - Lx/.. (» (Kx > ~Mx)
(x) (Sx o Px)
(3x) Sx - Ix
(3x) Px - ~Sx)/.. (3x) [Px - ~Ix]

9 P.T.O.



(11)

(111)

(iv)

(11)

[5301]-2069

(0 (x (Hx o ~Ix)

(x) Ix o Ux)/.. (¥(Hx > ~Ux)
g SEM YL IEAM. HAHG B SFOH AR WUH AHd IR AR
(Sx = x S9M 3R, Bx = x Y[ TG, a)

Td oA SE ATAM. FE Tl SIS STHAM. WUH 9d SaH™ gl
ST

(Wx = x a9 2T, Ex = x T« &R, Hx = x 9e W)

Hles  STHAT.

(Dx = x HA 3, Wx = x 9e0 &R, Bx = x &A@ W)
fepar

WeAtedeh! HIvEl TR JHI Jengw=a oER fagy &

HeTlE

L (pvp>op

. (g>(pv @)

HI. (pvg@>(gv p

IV. (pv(gvr)o(gv(pv )

V. (gorn>o>((pvg>d(pvr)

T

() (po~g@>(g>~p

(1) (po>@>d(po>n>D(p>D1)

(i) ~pv p

(iv)  po>~~p

(v p>p

(vi) (p o ~p) D ~p.
10



(a)
(D)
()
(d)
(e)
9)

@leTdeh!  hI0cgel |tk < forer

qearet AR et Wi ST
gOad 9 YO @ WUH. yomelsn Sy
I o i<

Hageret foumr @&y 9 @A

Yarfedar o TgaTedd

qeT g

[6301]-2069 11
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Seat
No.

[5301]-2070

S.Y. B.A. EXAMINATION, 2018
SOCIOLOGY
Group A (G-2) : Population and Society
OR

Group B (G-2) : Social Walfare and Social Legislation in India

Time :

(2013 PATTERN)

Three Hours Maximum Marks : 80

N.B. — (i) Attempt Group 'A" or Group B

(if) All questions are compulsory.
(7i7) Figures to the right indicate full marks.

Group A (G-2) : Population and Society

1. Answer the following questions in 100 words each (any four) : [20]

(D)
(2)
3)
(4)
5)
(6)

Write the factors of infant mortality.

Explain the importance of population studies.

Explain the types of sterility.

Write the meaning and definition of population education.
Explain the economic factors of fertility.

Write the need of sex education.

2. Answer the following questions in 200 words each (any zwo) : [20]

(1)
(2)

(3)

(4)

What is Census ? Elaborate the uses of census.

Give a brief review of India's population policy after
independence.

Elaborate the impact of population growth on economic
development.

Elaborate the characteristics of Indian population.

P.T.O.



3. Answer the following questions in 400 words (any one) [20]
(1) Define migration. Explain the causes of migration.

(2) Discuss the Malthusian theory of population.

4. Write short notes on (any four) : [20]
(1) Aadhar — Recent trend of collection of data
(2) National Population Policy, 2000
(3) Neo-Malthusian theory of population
(4) Scope of population studies
(5) Growth of population in India
(6) Means of Population Education.

OR

Group B (G-2) : Social Walfare and Social Legislation in India
1. Answer the following questions in 100 words each (any four) : [20]
(1) Mid-Day Meal
(2) Domestic Violence Act 2005
(3) Right to Education Act 2011
(4) Social Justice
(5)  Liberalization

(6) Civil Society.

2. Answer the following questions in 200 words each (any zwo) : [20]
(1) Explain the issues of Adivasis in India.
(2) Explain the various approaches of social welfare.
(3) Right the Rehabilitation Council of India Act 1992 for person
with disabilities.

(4) Discuss the nature of welfare state in India.
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3. Answer the following questions in 400 words each (any one) :[20]
(1) Explain the various issues of Dalit in India.
(2) Discuss the various problems of women in India.
4. Write short notes on (any four) : [20]
(1) Bonded Labour
(2) Human Rights
(3) Fundamental Rights
(4) PCPNDT Act 1994
(5) Child abuse
(6) PESA Act 1996.

(TS ®qIR)
9% : 3 99 THUT TOT : 80
g — (1) T ‘e fRar e ‘F' geAulae dieam.
(7)) | YT Hefau oAewds o
(ii7) 3ISEhel® ek TEAH YU YU Seifadn.
(7v) WAt Hob TUSH WIAUFART TRIE.

e ‘31’ (G-2) : Population and Society
1. Tl AT W OYS 100 v fagl (Fivad w\mw) [20]
(1) 9% ggd =k fora.

(2) TAREEA M He™ S H.

(3) dHE™ YER TR FHA

(4) wRuen fugumn s 9 e fomn
(5) SR oY WeEh TR HA

(6) <ifir freomeh  stavaswar fo@r
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2. Wl YAl Sak Woeh! 200 Ve fetrer (FUEl M) [20]
(1) SHOMT WO & ? SUHE 3TERT favie @
(2) TWOAM YRAE AR SRl digd T STedl =1
(3) <mEEN Gl e faeekia ufRomm fave @
(4) O deaerEl dfirse fave &

3. Wfid YeAEN 400 &M SR fael (FHUAE WeR) [20]

(1) Tt e fagl. Toaida=l SR WS H.
(2) TREEI dEEA Aedddr] fagal ==t %L

4, dierd fear fagl (Fvddl =m) [20]
(1) SNYR—uifedt Fharra T died
(2) USRE dwa@A 8RO - 2000
(3) TEEEl E-AegHarE! fagid

(4) ATREEA] SN AT

(5) YRAWA AREEAT de

(6) ciorge feremom=t @rem.

fepar
e ‘"’ (G-2) : Social Walfare and Social Legislation in India
1. Tl JEaET WO gst 100 v fagl (Fivag =\mw) [20]

(1) @eAw e

(2) wiEfas fEaER HE-T 2005
(3) fwremr ®h hrERT 2011

(4) GHEISR =M

(5) ERIH
(6) AT HHMS.
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2. Weltd YAl Sal W 200 Vi feer (FUEl |@F) [20]
(1) YR eTfcarfie g3d ¥ &
(2) gHIfSR wodmmre fafay gt wse w6
(3) WRAWIA ¥, A AR AT WAl HRGT 1992 T A
(4) YRAA WHIMSR  Hedumd WEY T 6.

3. TEladshl IR TRl Y ScR 400 ¥=@ fo@l [20]
(1) YRddia efadae fafay g9 T &
(2) YRAa Afearen fafay ywAr=l == .

4, deRd few fo@r (HIUEET @X) [20]
(1) =i
(2) WAHa AfEERR
(3) HAYd AfHRR
(4) fafeE == gfdey SR 1994
(5) EIETRI™  ifieh WSOl
(6) SIgfad & Ymad  fosare=n e 1996.
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5301]-2071

S.Y. B.A. EXAMINATION, 2018
SOCIOLOGY
(S-1 : Foundations of Sociological Thought)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Name any t¢wo forces behind the emergence of Sociology.
(2) State the meaning of sacred and profane. (Durkheim)
(3) Define surplus value. (Marx)
(4) Write the concept of Indian Nationalism.
(5) Define social fact. (Durkheim)

(6) State the concept of dominant caste. (Srinivas)

2. Answer the following questions in 200 words each (any Zwo) : [20]
(1) Explain the law of three stages. (Comte)
(2) Describe the types of alienation. (Marx)
(3) Elaborate the characteristics of caste by Dr. Ghurye.
(4) Explain Dr. Ambedkar’s theory of religion.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(1) Explain Weber’s thought on Protestant Ethic and spirit of
capitalism.

(2) Elaborate the emergence of Sociology in India.

4. Write short notes on (any four) : [20]
(1) Enlightenment
(2)  Positivism (Comte)
(3)  Sanskritization (Srinivas)
(4) Indology (Ghurye)
(5) Historical Materialism (Marx)
(6) Origin of Caste (Dr. Ambedkar).

(TS wUIaR)
9% : A9 A THUT TOT : 80
ol — (1) WA U Grefau eeavad e
(i) ISl ek T YU YU SRifadn.
(ji)) TRUES! HeB SUSH YAYAhT TgTal.

1. Wod YeEEl S Y@w! 100 [ fasn (Five | ) [20]
(1) TUSRTST= STAMAT STHUA SIVCATEl & STeRii</Seehi=l  Td
7.
(2) ufas sufor orufed TehewAran o1d foer (S@mEH)

(3) ‘Afafem qoamn' wren foml (W)

(4) R TegaRrEl Hohedd ol
(5) WIS qeArel men fowl (StEEn)

(6) YuEl Sl Teheww fogr  (#ifTem).
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2. W YRl SW YS! 200 vgd fawr (FohE | ) [20]
(1) dF sEwmEn 9 e & (H)

(2)  TUCHIE/ATTT YhR™ o0 Ry, (T )

(3) = T wifqerelt STt aftres fave .
(4) Tl TdewHy=r ¥HET faga T %
3. WIAUD! HIVAR TR U™ 400 ¥=[ W faar [20]
(1) YR Hidaca o WiedeRme=n Sed/sme 1 fasd= Jor= foar
W H.

(2) YRAMIE FHSRTET Sear IReyHl fave &

4. dieRE fow foer (HUEE =w) [20]
(1) gareEd
(2) YIYgarR (hiH)
(3) W (#fifar)
(4)  wreAfoRn (99)
(5) Ufgeifas Gfawar ()
(6) SR IO (ET. SAEEER).
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5301]-2072

S.Y. B.A. EXAMINATION, 2018
SOCIOLOGY
Special Paper-I1I
(Indian Society : Issues and Problems)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.
() Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Define social problem.
(2) Write the meaning of caste inequality.
(3) Define gender inequality.
(4) What is regional imbalance ?
(6) Define Juvenile delinquency.

(6) Write the meaning of religious minorities.

2. Answer the following questions in 200 words each (any Zwo) : [20]
(1) Discuss the various social problems of development.
(2) Explain the role of state in dealing with social problems.
(3) Describe the meaning and causes of poverty.

(4) Explain the nature and causes of religious fundamentalism.

P.T.O.



3. Answer any one of the following in 400 words : [20]

(1) Describe the forms of violence against women in India.
(2) Elaborate the various problems of Aged.
4. Write short notes on (any four) : [20]
(1) Civil society organization
(2)  White collar crime
(3) Environmental degradation
(4)  Structural-functional approach
(5)  Criminalization of politics
(6) Rural poverty.
(W& T UIH)
9% : 3 A" THUT TOT : 80

el — (1) WA TR GrEfaul SAewed oR.

(77) ISEIHRSls 3k YIAH Gqul U geifadm.

1. Teladsl V@R SR YEEEl W AR 100 R faer [20]
(1) qieee g e fom
(2) <t foawmaer st fem
(3) fam w@ STgumar = w4
4) vRMTE UG WS &E ?
(5)  STFRIRI= =A@ .
(6) e Teqdahd=n o1 forern
2. Wefiadl el bl 200 VIS Sk foel (Fivel ) [20]
(1) fowmmes fmin gorn fafay wfae @@=t ==t &
(2) WHISh G Hiefqudmenial ToarE] YHeT e .
(3) Tisarr g 9 &Ru fovle &
(4) o FadaaRe @W&EY d HRO W 6.
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3. Teladsh! IR Tl 9™ S 400 i@ forer [20]
(1) YRada dfecifoaeg o= fafay fegmm= auiq .
2) ggren fafay woe= gulF &9

4. odrewm@ fon faw (FUEE WW) e [20]
(1) "R 99 g
(2) U™ TR
(3) TIERUET BE
(4) EEATHH-HEAR] TRIDM
(5)  USThRUME  T-RIRIeh{ul
(6) U =IRE.
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5301]-2073

S.Y. B.A. EXAMINATION, 2018
ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY
General Paper II
[Outline of Political, Social and Economic Institutions
of Ancient India (600 B.C. to 1200 A.D.)]
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any
four) [20]
(1) State the Saptanga theory of State.
(i1) Write in brief, the nature of Samiti.
(1) State various types of courts in ancient times.
(i7v) Explain the life of women during Vedic period.
(v» Take a brief review about Ancient Indian Universities.
(vi) Discuss about the Ancient Indian Coins.

2. Answer the following questions in 200 words each (any
two) [20]
(1) State the causes for the decline of Republics.
(zi) Explain the composition of ministry as told in Shukraniti.

(/i) Explain the importance of four Asharamas in Ancient India.
(iv) Take a review of the trade in Ancient India and South-East

Asian Countries.

P.T.O.



3. Answer the following questions in 400 words each (any
one) : [20]
(1)  Explain the literary sources of study of Ancient Indian Polity.
(i1) Take a review of the Sixteen Sacraments in Ancient India,

and explain what is a Sacrament ?

4. Write short notes on (any four) : [20]
(1)  Theory of Kingship of the Mauryan
(z1) Monarchical state
(1i7) Sabha
(iv) Ancient Varna System
(v)  Ancient Indian Industry

(vi) Ancient Weights.

(W& i)
9@ : dF A THUT TUT : 80
o — (/) Td U SeRAs SR
(i) ISl ek TEAH YU YU SRifadn.

1. Woid YeET Sal 9! 100 IS foel (vl 9m) [20]

(7)) T gw faga |

(i) WiFde @Ey grewd o

(jif) UE H@da e fafay ger |mm.

(7v) JATHEHE S Sed T HA

(v) UM 9RdE fourdielosi=n diewm  sTeen =1
(vi) UM YRAE AN Afas@ == &
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2. Wl Y=l 3ok Ydeh! 200 Vsaid foagr (FIvder aF) [20]
(1) TR Rl IO E.

(77) oA Wiffdoel AEHeeEl A TR &

(7)) VA 9RAdie eT ST Heed duid &l
(Iv) YA hieoldidd 9Rd o ST SAMYEE 29 IreATdiedl SATIR=n STl
=1,

3. Woiid Yl Sal Yl 400 Vi fa@r (FIUAR Uew) [20]

(7)) U YRAE SO AIEE aeHd W e HL
(7)) UK WUS ®F § WR HEd GHEH WRAS Hiedl HEhREr el

=11,

4, dew@ fon fag (FOERN 9R®) [20]

(7) B Teg fagr

(i) TSRME T

() 9

(fv) 9= gl

(v) WM YR 3E

(vi) WEH T
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Total No. of Questions—4] [Total No. of Printed Pages—3
Seat
No. [5301]-2074
S.Y. B.A. EXAMINATION, 2018
MATHEMATICAL PRE-REQUISITES (Gen-II)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
NB. — (1) All questions are compulsory.
(if) Figures to the right indicate full marks.
(i) Use of logarithmic table is allowed.
(1v) Use of pocket calculator is allowed.
1. Attempt any ten of the following : [20]
(1) Write any two rules of logarithms.
(zi)  Simplify the power function y = xVx.
(i1f) Define : compound interest.
(7v) Is the following function Z = x2 + x + 2 homogeneous ?
Justify your answer.
(v»  Write the rule of derivative of power function.
(v) Given Z = In (6x2 — 6x + 2) find Z,.
(vii) Evaluate _[2X dx.
(viii) Define : Improper integral.
10
(1x)

Evaluate J. 3¥ dx.
0 PT.O



(x) State order and degree of the differential equation :

&y (dyf
2 + s + x2 = 0.

(x1) Write the linear differential equation.

(xii) Solve the difference equation y; = 6y, 1.

(xi77) Evaluate J(2X6 -3x") ax.

2. Attempt any ¢wo of the following : [10]

(1) At what interest rate will money treble, if compounded continuously
for eight years ?

(i) Given y = 4x &%, find the critical values of .

3

(777) Evaluate I 6x dx.
0 +1
3. Attempt any ¢wo of the following : [20]
() (a) Solve for x in terms of y, where y = p (1 + DX
(b) Use common logs to solve y = 36
5000

(i) How long will it take money to double at 5 percent interest,
when compounded quarterly ?

(1i7) Use integration by parts to evaluate :

I].5X(X+ 4)?/2 dx

4. Attempt any two of the following : [30]
() (a) Given Z = In (2 — 4x + 332 — 6y

Find Z, Z,

[6301]-2074 2



384.

4
(b) Prove that J. (8% +9x°)dx
-4

[
S

(i) Solve (Ty + 42) dy + (4ty) dt
(iii) For the data given below, determine :
(a) The market price P, in any time period

() The equilibrium price P, and the stability of the time

path :
Qg4 = 180 — 0.75 P,
QSt = — 30 + 0.3 Pt—l

P, = 220.
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Total No. of Questions—5] [Total No. of Printed Pages—5

o [5301]-2077
S.Y. B.A. EXAMINATION, 2018
APPLIED MATHEMATICS
(AMG-2 : Multivariable Calculus-I and
Multivariable Calculus-II)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
() Figures to the right indicate full marks.
1. Attempt each of the following : [16]

(a) Let :

x2y2
Ry - |drg g SV Er0

0 . X Aox22=0

Determine whether the repeated limits of Ax, y) at (0, 0)

exists and equal ?

() If :
z= eWQ,X= tcost, y=tsin t
then find 2 at t=T
en find —  a =3

P.T.O.



(¢ Change the order of integration in :

R A dys,

(d) Define saddle point.

(e9 If :
A=t + 2]+ Bk
then find ar at ¢t = 5.
dt
(H If

7=58i+t -k and S=sin# - cos ¢ + 0k,
then find - (7-3)
en find —

(g0 Evaluate :

tan3t?+ log(1+ ?) T 2t-1-

lim k.

o L ¢ ¢

(A) Evaluate :

curl 7,if f= x27 + y2j + 22k.

2. (A) Attempt any one of the following : [6]

(a) If u = Ax, y) is a differentiable function of x and y
and x = ¢(9) and y = y(?) are differentable functions
of ¢ then show that the composite function u = A¢(?),
y(?)) is differentiable function of £ and its total derivative
is given by :

du_du dx du dy
dt oJx dt OJdy dt’

[6301]-2077 2



(B)

3. A

[6301]-2077

(b)  Show that the function f(x, y)=./l xyl is not differentiable

at (0, 0).
Attempt any two of the following : [10]
(a) Let :

fx, y) = Ixl + |yl

Show that f is continuous at the origin but neither of

partial derivatives £,(0, 0), 1‘)',(0, 0) exists.

(b) Find the point P(x, y, 2z closest to the origin on the
plane 2x + y — z — 5 = 0. Also find the distance between
P and origin.

(¢) Expand X2y + 3y — z in powers of (x — 1) and

(y + 2) using Taylor’s Theorem.
Attempt any one of the following : [8]

(D) Evaluate :

J'J'X},(Xz + 32)3/2 dxdy
R

over the first quadrant of the circle x2+ j2=1.

(i) (a) Using differential find approximate value of :

J13.1)2 - (4.9)2.

(b) At any point (x, ;) in the domain of a differentiable
function £x, y), then show that gradient of £ is

normal to the level curve through point (xp, ).

3 P.T.O.



(B)

4. (A

(B)

[6301]-2077

Attempt any one of the following : [8]

(1) State and prove Gauss Divergence theorem.
(i) A necessary and sufficient condition for a non-zero vector

function £ of a scalar variable ¢ to have constant direction

- df -

is that fx —=0,

is tha a7
Attempt any one of the following : [6]
(1) If 7 is a vector function which possesses continuous second

order partial derivatives, then prove that div (curl @) =0.
(1) If 0(x, ;2 and y(x, y; 2) are scalar point functions possessing

first order partial derivatives, then prove that :

(@ VO+y)=Vd + Vy

D) Voy=0Vy + yVo.
Attempt any two of the following : [10]
(1) Show that 7= e %a+ th) where a, b are constant vectors

°r dr _

is a solution of the differential equation a2 +2 7 +7=0,

(i) Show that :
F=(22-2xp)1 -2x2] + 2xzk
is conservative and find a potential function for it.
— 2 —

(17i1) Find arc length of the curve 7(?) = t1 +7 Jj+ t2k from



5. (A

(B)

[6301]-2077

Attempt any one of the following : [6]

(1)

Let v be the volume bounded by a closed piecewise smooth

oriented surface S. Let # be a vector point function
which has continuous first order partial derivative in v,

then prove that m V.fdv = IH f.mds,

where 7 is the unit outward drawn normal vector to s.

(if) State and prove chain rule.

Attempt any two of the following : [10]

(1) Using Stokes’ theorem, show that the line integral
CJSC ydx + Zd)""XdZ:ﬂaz\/g, where C is the curve of
intersection of the sphere x2 + 32 + 22 = 22 and the
plane x + y + z = 0.

(i) By wusing Green’s theorem in the plane, evaluate
Sﬁc (y—sin x)dx+cos x dy, where C is the boundary of the

T 2x

curve defiend by y=0, X=§, y = o

(7i1) Find the work done by the force

F=Qxy+ 28)i + x2j +3x2 k
in taking a particle from A(1, -2, 1) to B(3, 1, 4).



Total No. of Questions—5] [Total No. of Printed Pages—9

Seat

No. [5301]-2078

S.Y. B.A. EXAMINATION, 2018
APPLIED STATISTICS (GENERAL-II)
(Applications of Statistical and Theory of Probability)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. .— (i) All questions are compulsory.
() Figures to the right indicate full marks.
(i) Use of statistical tables and scientific calculator is allowed.
(1v) Symbols have their usual meaning.
(v)  Graph papers will be provided on request.

1. Attempt each of the following :
(a) State whether the following statements are true or
false : [1 each]
(1) If events A and B are independent, then P(A N B) =
P(A) x P(B).
(7)) If EX) = 5, EX? = 35, then V(2X + 5) = 10.
(711) If X follows b(6, 0.5) distribution, then its standard deviation

is 1.5.
(iv)  The probabililty mass function of a discrete random variable
X is :
X
— x=12,..,6
P(x)=<21 ,
0 otherwise

= 0 otherwise

then P(X is even) = 0.5.
P.T.O.



(D)

[6301]-2078

Choose the correct alternative : [1 each]

(1)

(11)

(111)

If two fair coins are tossed simultaneously then probability

that both coins show different results will be :
(A) 0.25

(B) 05

(C) 0.75

D) 1

If the equation of plane of regression of X; on X, and
X;is X; = 32 + 52 X, + 0.5 X;, then estimate of X,
when X, = 10 and X; = 80 will be :

(A) 124
(B) 132
(C) 127
(D) 131

If X follows B(5, p) distribution with mean 2.5 and
V(X) = 1.8, then the value of p is

(A) 0.22
(B) 0.28
(C) 0.78

(D) 0.72



(o)

[6301]-2078

(iv)  Expectation of a function g(X) of a discrete random variable
X with probability distribution :

(x, p), 1 =1, 2, ..., n is given by :

A) D X%p,
B) 2 &x)p,
) 2. x'p

D) 2. &x)p’

Answer in brief : [4x2=8]
(1) Check whether the following is a probability model of

a sample space having 5 sample points :
{0.2, 0.5, 0.1, 0.1, 0.1}

(if) State any ¢wo practical situations where multiple

regression can be used.

(1) For a certain population, the agewise distribution of number
of deaths is given in the table below :

Age Group No. of No. of
(in years) Persons Deaths
0-10 800 15
10-20 1500 12
20-60 2000 18
60-100 400 12

Compute the CDR.
(iv) State the axioms of probability.

3 P.T.O.



2. Attempt any four of the following : [4x4=16]

(a)

()

(o)

(d)

(e

[6301]-2078

(1) Give classical definition of probability.
(i)  Discuss the limitations of classical definition of probability.

In how many ways can 6 male employees and 4 female employees
in an office be arranged in a row for a photograph so

that :
(1) two specific females are always side by side.
(i) all females are together and are strictly in one corner.

A card is drawn at random from a box containing 12 cards
numbered 1 to 12. Let A be the event that the number on
the card drawn is more than 7 and B be the event that the

number on the card drawn is less than 6.
Obtain P(A), P(B), P(A U B), P(A” u B’).

The mean, standard deviation and correlation coefficients obtained

for three characteristics X;, X, and X; are given below :
0, =40, 6, = 25, 65 = 12, r;yg = 0.7, rp3 = 0.58, r3 = 0.6.
Compute Ryy5 and rj5, .

Explain the following components of time series :

(1) Seasonal variations

(i)  Irregular variations



(f)

The data given below are the average quarterly prices of a
certain commodity (in Rs.) for different years. Compute seasonal

indices by simple average method for these data :

(a)

(D)

(o

(d)

[6301]-2078

Quarter I II III IV
Year
2000 65 62 50 68
2001 55 68 65 65
2002 65 65 60 75
2003 70 95 75 115
3. Attempt any four of the following : [4x4=16]

(1) Define permutation and combination of n objects taken

r at a time.

(zi) If a sample space of a certain random experiment has
10 sample points then how many events with 2 sample

points can be possible ?
Explain the following terms :
(1) Random experiment,
(i) Impossible event,
(1i7) Mutually exclusive events.

Explain the concept of multiple regression plane giving suitable

illustration.
(1) What is time series ?

(17) State the usefulness of time series.

5 P.T.O.



(e

(5

One card is drawn from a full pack of playing cards. Three

events A, B and C are defined as follows :
A : A red card is drawn,

B : Ace card is drawn,

C : Ace of heart is drawn.

Check whether the events A, B, C are pairwise

independent.

Describe the method of estimating seasonal indices by ratio

to moving average method.

4. Attempt any ¢wo of the following : [2x8=16]

(a)

The joint distribution of (X, Y) is given below :

[6301]-2078

Y 0 2 4
X
0 0.2 0 0.1
1 0.1 0.1 0.15
2 0.05 0.3 0
Find :

() PX +Y = 2).
(zi)  Marginal porbability distribution of X and Y.

(i) EX) and E(Y).



(D)

(o)

(d)

(1)

(11)

(1)

(11)

Define discrete uniform distribution and state its mean
and standard deviation. Also give any ¢wo real life situations

where the uniform distribution is applicable.
Define :

(I) Probability distribution of a discrete r.v.
(IT) Conditional variance of Y given X = x

Define Poisson distribution and give real life situations
where this distribution is applicable. State its mean and
variance. Also, state the additive property of Poisson

distribution.

Two fair dice are thrown. Obtain the probability dis-
tribution of sum of numbers on top faces of dice(X).
Also find EX).

Compute GRR and NRR for the following data assuming the

sex ratio at birth as 105 males : 100 females.

Age No. of Women | No. of Births | Survival Factor
(in 1000)
15-19 550 19800 0.969
20-24 380 62050 0.967
25-29 300 61000 0.963
30-34 260 26500 0.958
35-39 280 12500 0.952
40-44 290 1000 0.942
45-49 260 180 0.928

[6301]-2078
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5. Attempt any one of the following : [1x16=16]

(a)

(D)

[6301]-2078

(1)

(11)

(1)

Write a note on the following birth rates and discuss

their advantages and limitations :

(I) Crude Birth Rate (CBR)

(IT) General Fertility Rate (GFR)

(ITIT) Age Specific Fertility Rate (ASFR)
(IV) Totat Fertility Rate (TFR).

The joint distribution of (X, Y) is given below :

Y 1 2 3
X
10 0.3 0.2 0.1
20 0.2 0.1 0.1

Find Cov(X, Y).

Let X —» P(4) and Y — P(8) be independent

variables.

Find :

(I) Mean and variance of Z = X + Y
ID) PIX + Y) > 3]

I PIX > 3IX + Y = 8]



(i)  (I) The probability distribution of random variable X is

given in the table below :

X PX = Xx
0 0.1
1 0.2
2 0.3
3 0.35
4 0.05

Find EX) and V(X).

(IT) It is known from the past experience that 20% of
the people in a cartain city have invalid driving license.
Find the probability that at most two out of 10
randomly selected persons from the city have invalid

driving license.

[6301]-2078 9



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

No. [53011-2079

S.Y. B.A. EXAMINATION, 2018
PHILOSOPHY
(Alternative Course)
General Paper II
(Philosophy of Indian Saints)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.

1. Answer any four of the following questions in 100 words each : [20]
(1) Explain the concept of Saint.
(2) Explain Basaveshwara’s concept of ‘Jangama’.
(3) Explain the term “Vishvatmaka Deva”.
(4) State the concept of Maya with reference to Bahenabai.
(5) Explain Kabir’s criticism of traditional religion.

(6) Explain Samarth Ramadasa’s concept of ‘Sahanpana’.

2. Answer any two of the following questions in 200 words each : [20]
(1) Explain fully Basaveshvara’s approach to Pravriti-Nivritti.
(2) Explain Bahenabai’s views on Dnyana and Bhaktiyoga.
(3) Explain Guru Nanak’s concepts of ‘Hukum’ and ‘Bhai’.

(4) Explain Ramdasa’s opinions about Prapanch and Paramartha.

P.T.O.



3. Answer any one of the following questions in 400 words each : [20]
(1)  Elaborately explain the nature of ultimate reality according to
Kabir.
(2) Explain fully Saint Jnanadeva’s concept of Bhakti, Parabhakti
and Avyabhichari bhakti.

4. Write short notes on (any four) : [20]
(1) Saints as socio—cultural reformers
(2) Saint Tukarama’s concept of true Dharma
(3) Maharashtra Dharma—Samarth Ramadas
(4) Concept of ‘Bhai’
(6) Saint Bahanabai’s concept of true brahman

(6) Chidvilasvada.

(TS TUTAR)
% : W q™ THUT TOT : 80
ol c— (/) Wd WA Uefau oeREsd o
(7)) SSEIher® ok WAH qul O SFifedr.
(f77) TRUEIE TS IS GEAULCART T

1. EOIGUh! SR =T GFA=T el 100 T8 I fogr . [20]

(1) 9d gaogn fave =

(2) SHOvaUHl ‘STH' Heedd favie @A

(3) ‘fovarHe T@' Heweud fove &

(4) Ud SRUTEREAT STIHEd ‘WAl Heheddl @
[6301]-2079 2




(5) Hd HeIGEl URUMNE G’ SRl TS .
6) HHA TUSEET yEIe’ "oy favie L

2. WOIGUh! HIUARI dM WA=l gde! 200 I S fowr [20]

o ae

(1) THAveRE Yoail-Tasiiamas g dfawr fove .
(2) M AT YfoArmiaTREie SRUERES  foaR T &
(3) & AMGE ‘gHA' F ‘W' Gewoeud Hiaww o

(4) T TSN YUE F GIHEIUOsREiEt Ad TS R

3. TOOUHl HIUAR Tl WA IW 400 I=@ fo@r . [20]
(1) §d ®dT A9 sl sifae 95 w9 @ed dfawr faee 4.

(2) Hd JEQAE WS, WS d STRAMERI Yokl Tehoudl AfaR fawe

<h .

4, geRE du forg (e W R) e [20]
(1) ¥ 9o Aishdie goRe
(2) Gd THREET @ gt Hehed
(8) WENY wH—uHY THSH
(4) W Geheul

(5) Td JUMEREl WA SRR Hehed T

6) Tagfacmems.
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(Introduction to Applied Ethics)

Time : Three Hours Maximum Marks : 80

NB. —

(1)  All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Answer any four of the following questions in 100 words each : [20]

(1)
(2)

3)
(4)
5)
(6)

State and discuss the issues in environmental ethics.
Explain the importance of autonomy as a principle of medical
ethics.

Distinguish between active and passive euthansia.

What is the conservative view regarding prostitution ?
Why does conflict arise between friendship and duty ?

Explain the role of social media as the fifth estate.

2. Answer any two of the following questions in 200 words each : [20]

(1)

(2)
3)

(4)

State and examine paternalistic approach regarding doctor and
patient relationship.

Discuss ethical issues related with experimentation of animals.
State and discuss ethical issues concerning employers and
employees.

State and examine Marxist view regarding family.

3. Answer any one of the following questions in 400 words : [20]

(1)
[65301]-2079

Explain the nature and significance of applied ethics.

4



(2) State and discuss the ethical issues concerning objectivity in

media.

4. Write short notes on any four of the following : [20]
(1) Vegetarianism
(2) Religious view regarding suicide
(3) Hippocratic oath
(4) Kant’s view about friendship
(6) Corporation as a moral agent

(6) Feminist view of family.

(W& wUIw)
9% : 9 a™ THUT TOT : 80
el — (1) TWd W Oefal oTeRdd SR
(77) STETRSI® ek A YO IO SFifan.
(ff7) ERUEIE TS TS WEAUCAR e

1. GO@UHhl HIUER IR WAl 3w Ydhl 100 IS foer [20]

(1) wafeRer Hifqemer=n qeaier ==l &

(2) TEWd A1 dxET™ ggehid IS Hed I

(3) wfipa smfor TThla SOMRUMGIA Wik 9.

(4) IAVIFEEEEAHEl TedR! TG HE AT 7

(5) Tt enfr wdem W WU wEWiEn gHA fEiOT g w1 ?

(6) TAHIMEN el MUY TRUH HHS HIeAE] Ykl T2 .

[6301]-2079 5 P.T.O.



2. WOBUHR! ®HIUAR QM WAET W YS! 200 3= fowr ;0 [20]
(1) <R ofr T aien euidia Ugehdremet geershivme e A
(2) WgEdd e Afae gemier ==l w6
(3) TWIT® offur AR ArEEen Afqe HewieR ==l .

4) HZoaEEHEN AEHA gRhIE Tde .

3. TOOUhl HIUAR Tl WA IW 400 3= fogr . [20]

Nes ne N

(1) 3SyAfsid Afaems= @Y o7l e favig &

(2) AU afTSSdgdatie it AeuieR  gfawi 9= .

4., IR FARR dewE dw femr [20]
(1) TMPRRATR
(2) TG arie  gRIwm
(3) feudifsrew=ht oy
(4) wr=d TGad T
(5) SUNHHE : Wk Afde hdl
(6) HeaHaHr SHARET IR

[56301]-2079 6



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [53011-2080

S.Y. B.A. EXAMINATION, 2018
PHILOSOPHY
(S-1 : Introduction to Indian Philosophy)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. .— (i) All questions are compulsory.
() Figures to the right indicate full marks.

1. Answer any four in 100 words each : [20]
(1) Elaborate any {wo general features of Indian Philosophy.
(if) State and explain Tanmatra and Maghabhutas-
(1i7) Explain the types of causes according to Nyaya.
(7v) Explain in brief Carvakas Dehatmavada -
(v) State and explain Panca-bhedas advocated by Madhva.
(vi) What is Kriya-yoga ? Explain.

2. Answer any two in 250 words each : [20]
(1)  Critically discuss Noble-eight fold path.

(1) Explain definitions of Brahman and explain the concept of Saguna

Brahman and Nirguna Brahman.

P.T.O.



(7i7) Explain the nature of Purusa. Give proofs for existence of

Purusa.

(i7v) Elaborate fully nature and classifications of Dravas according

to Jainas.

3. Answer any one in 500 words : [20]

()  Distinguish between Swarthanumana and Pararthanumana and

explain fully Pancavayavivakya.
(i) Write an essay on social and philosophical role of

Purvamimamsa -

4. Write short notes on any four : [20]
(1)  Classifications of Indian System
(1)  Akhyati
(i1i1) Maya
(iv) Swabhavavada
(v) Impermanence (Anityata)

(vi) Types of Abhava-

(TS waiaw)
9@ : dF A THUT TUT : 80
g — () Wd Uy defau oAeavas o
(i) SEheld o YO IO SRifora.
(jfi) @B TUST WRAGHHR e,
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1. AR SRiE GAs! 100 IeSid S o: [20]
(1) YRdE doEmEl Sivdel 9 g fave s

(77) TEEN S WEYd W W

(jil) & SYAHER FRUME bR TS .

(iv) TERMET CBAAE  dIedd TS H.

~ N

(v) weEEHA |l 9e9-98 | e

(vi) THIEm WIS @@ ? W< HA.

2.  HUEE QI Y& 250 v IWOE [20]
(1) o oT=efiter wEmen fafercdss ==l &L

(77) SRS ATEA/AN AN WO o@l S fRu Se A1 Hehoudl W
.
(i) TEU WEY W HY. e sifaame are ool gieas

ESINIE

(7v) Si=n gfedHnA s WEd oA afiee giawe foRig

F.
3. HIUARI W 500 ¥&M[ S| Al [20]
(7)) TR S YA TR TR hEd JeedeiaeE Hiow

W h.

(77) goHEIE=N WEiSe el difwe fieer Few formn
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4. DRI AR deHd 9T ;M o: [20]
(1) YRAE <IAE MRl
(i) 3TEATa

(777) 4=

(7v) Y]
(v)  SIcadn
(vi) JAYE™E YR
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5301]-2081

S.Y. B.A. EXAMINATION, 2018
PHILOSOPHY
[Introduction to Western Philosophy (Special II)]
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(zi)  Figures to the right indicate full marks.

1. Answer any four of the following questions in 100 words each : [20]
(1) Why did sophists advocate relativism ?
(2) Explain the concept of monad.
(3) Briefly state Aristotle’s theory of fourfold causation.
(4) Why is Hume called a mitigated skeptic ?
(5) Explain the notion of Copernican turn.

(6) Explain Plato’s concept of soul.

2. Answer any two of the following questions in 200 words each : [20]
(1) Discuss St. Augustine’s views about the relation between God
and the world.
(2) Give an account of Hegel’s concept of the Absolute.
(3) How does Locke criticize the doctrine of Innate ideas ?

(4) “Virtue is knowledge”. Discuss.

3. Answer any one of the following questions in 400 words each : [20]
(1) State and discuss in detail Plato’s theory of knowledge.

(2) Elaborately discuss Hume’s analysis of the principle of causation.

P.T.O.



4. Write short notes on any four of the following in 50 words each : [20]
(1)  Aristotle’s distinction between form and matter
(2) Immaterialism
(3) Thales’s concept of reality
(4) Causal argument for the existence of God
(5) Descartes’s method of doubt
(6) Hegel’s concept of dialectics.

(WS ®UATAR)
9@ : dF A THUT TOT : 80
o — (/) Td WA Giefau sTeRdd SR
(i7) SEHREIS Fh YU IO SFifodr.
(711 WWI@WWW

1. Wil HIUER | Gl S Jds! 100 Ie[ fasr [20]
(1) WEfF=r FoyaeReEl E&hR &1 hal 7
(2) ‘HAFE’ ¥ HhedTW W w0
(3) oiftwiea w=n =qfdy &ruma fagra odiewa #el
(4) TAE I EE GEEAR # Wed S 7
(5) ‘ehafiRd d@U’ B Heddl WR
(6) ™A AR AN HhHeUd TR H.

2. WeldUshl IRl I YRl SW YS! 200 VSid fo@r [20]
(1) ZyeR Afr S0 Il TaueEd=a §d AME g faem=
EEilcT

(2) TG I=AT ‘ohad’ A Hehoudd faeRur =@

(3) ‘STESTd heuTeAl’ dxaTEl ek I YR fafecdr wiaa ?

(4) ‘" WUS FH. F= &
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3. Weliciie! HIVEAR! Tehl U 3T 400 Vs fofer [20]
(1) =& At JefosEs Iqust "ed o=t == &

(2) A I FIRUCHEE S favesu ohal Sg, WM Afaw ==

4, WY HIE IRIR diedd o s . [20]
(1) 3hR Al Seged I iflea 9l holel Wl
(2) 3SedR

(3) 99 Il TxEEdEl  Hehoddl

(o

(4) SYAUAl ARIEEHET FRUA R
(5) <&M AE GEE TGl
(6) ¥ ART Gglasrd & HehodH.
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Total No. of Questions—5] [Total No. of Printed Pages—4

Seat
No.

[56301]-2084

S.Y. B.A. EXAMINATION, 2018
MATHEMATICS

MS-2 : Number Theory and Computational Geometry

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(if) Figures to the right indicate full marks.
1. Answer each of the following : [16]
(a) Prove that if a/b and a/c then a/b + c
(b)  Prove that if p is a prime number and 2 = P(mod p) then
pla + b or pla — b
(¢) Evaluate ¢(100) and u(100).
(d) Does the congruence 3x = 2(mod 4) have solution in
integers ? Justify.
(e) Define Diametric projection.
(/i Find the combined two-dimensional transformation if the first

transformation is reflection about X-axis and then reflection
about the line y = x

P.T.O.



)

(h)
2. (A
(B)
3. (A

[6301]-2084

Find the value of da to generate 16 points on the parabolic
segment in the first quadrant for 8 < y < 28, when equation
of parabola is j2 = 8x.

Write any {wo properties of Bezier curve.

Attempt any one of the following : [6]
(1) If d is the greatest common division of b and ¢ then
prove that there exists integers x; and y; such that
d = (b o = bxy + cy.
(ii) State and prove Fermat’s theorem.
Attempt any two of the following : [10]
(1)  Apply Wilson’s theorem to show that :
(a0 18! + 1

O(mod 19)

(b) 18! + 1 O(mod 23).

(1) Find the remainder when 7202, 11800 j5 Qdivided
by 101.

(iii) Let n be a positive integer. Prove that :

Y 0(d)=n

dn

Attempt any one of the following : [8]
(1) State and prove Mobius inversion formula.
(i) Find the least positive integer such that x = 5(mod 7),

x = 7(mod 11), x = 3(mod 13).
2



(B)

4. (A

(B)

[6301]-2084

Attempt any one of the following : [8]
(1)  Derive iterative formula to generate n uniformly spaced
points on the circle (x — a2 + (y — b2 = 2
(i) Write an algorithm for reflection through an arbitrary

plane in space.

Attempt any one of the following : [6]
(1)  Suppose the line AB having slope m is transformed to

line A"B* under 2 x 2 transformation matrix :

then prove that the slope of the segment A"B” is

b+ dm
a+cm-

%k
m =

(i) State general parametric Bezier curve. Show that for
any given value of parameter 7, the summation of basis
functions is precisely 1.

Attempt any f¢wo of the following : [10]

(1) Find the concatenated matrix for rotation about the point
[-1, 2] by an angle n. Apply this rotation on the triangle
with vertices A[l, 1], B[4, 1] and C[2, 4].

(/i) Show that the parabola 3?2 = x is transformed to origin

centred unit circle under the transformation :

3 P.T.O.



5. (A)

(B)

[6301]-2084

(i) Find the point at infinity for the lines 2x + y = 1 and
2x + y = 2.

Attempt any one of the following : [6]
(1) Write an algorithm for rotation about an arbitrary
line L passing through point (x,, 3 %)) and having

b
dc’s c,, ¢y Cp

(i) Generate uniformly spaced 8 points on the ellipse

ﬁ + ﬁ =1.
16 1
Attempt any two of the following : [10]

(1)  Develop the cavilier and cabinet projection for oo = 120

1 2 2 1
o 1 2 1|

(i) Determine the angles through which the plane

of the object :

[X] =

x + 2y + 2z = 0 should be rotated about X-axis and
then Y-axis that if coincides with z = 0 plane.

(1i7) Find the perspective projection of AABC on X = 0 plane
with center of projection. Xo = -10 on X-axis, where

All, 2, 1], B[2, 1, 3] and CI[3, 2, 2].



Total No. of Questions—2] [Total No. of Printed Pages—1

Seat
No. [5301]-2085
S.Y. B.A. EXAMINATION, 2018
(Vocational Course)
COMPUTER APPLICATION
Paper III
(2013 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. .— All questions carry equal marks.
1. Answer the following (any four) : [20]

(a) Explain any 5 Data Functions with syntax and example
(b) What is D.B.M.S. ? Explain components of D.B.M.S.
(¢) What is SQL ? What are the advantages of SQL ?
(d) What is Data Dictionary ?

(e) Explain any 2 DML Commands.

2. Write short notes on (any four) : [20]
(a) Super Key
(b)  Group by Command
(¢) Create View Command
(d) Data types in SQL
(e)  Drop table

[6301]-2085



Total No. of Questions—5] [Total No. of Printed Pages—5

Seat

No. [5301]-2086

S.Y. B.A. EXAMINATION, 2018
FUNCTIONAL ENGLISH

(Vocational Stream)

Paper III
(Advanced Writing Skills and Introduction to Electronic Media)
(Theory)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

1. (A) (1) Pick out the adjectives from Column ‘B’ which do not

go with the nouns given in Column ‘A’ : [5]
Column ‘A’ Column ‘B’

Year Last, leap, near, next

Hospital huge, well-known, unique,
harmful

Building Spectacular, new, historical,
nostalgic

Person Valuable, famous, costly,
harmful

Employee Sincere, ambitious, punctual,
catchy

P.T.O.



(B)

[6301]-2086

(11)

(1)

Or

Rewrite the scrambled words given below to make meaningful

words out of them : [5]
(a) ESNRTAE

(b) ETBATL

(0 CYHCTA

(d) ETCAILED
(e ELIAGRF

Identify the register of the following paragraph and identify

its markers : [5]

The examples printed in italics in the entry for a word
or phrase show you how that word or phrase is
commonly used in written or spoken English. They can
help you to use a word naturally and to check that you
have found the right word. Sometimes a word shown
in an example is shown in bold. This tells you that it
is a collocation (a word that is very commonly used with
the word you have looked up). Labels in small italics
show you the part of speech of a word. Labels in
square brackets give you extra grammatical information

about the word.



2. (1)
(i1)
3. (A)

[6301]-2086

Or
(1) Identify the style of each of the following sentences : [5]

(a) On behalf of our company I welcome all the delegates

and participants on this occasion.
(b)  Silence, please.
(¢) Let me tell you the truth.

(d) Wow, so nice to see you again ! Got a few bucks

in hand for a coffee ?

(e)  We are pleased to inform you that you are appointed

as a secretary in our company.

Imagine that your friend has passed the MPSC Examination.
Write a letter congratulating him/her and offer best wishes

for his/her interview. [5]
Or

Prepare your biodata to be attached to your application for

the post of Radio News Reporter. [5]

Your college has started a ‘Health Awareness Programme’. You
are supposed to be the Secretary of this programme. You are
asked to undertake a survey of the health facilities available
in your area. Prepare a survey report based on the following

points : [10]

—  Supply of clean drinking water

3 P.T.O.



(B)

4. (A

(B)

()

[6301]-2086

—  Medical facilities

—  Gymnasium facilities

—  Pollution-free environment
—  Tree plantation.

As the Secretary of your departmental library you were asked
to visit a Book Exhibition. Write a report on your visit, addressing

it to the head of your department. [10]

You are anchoring a poetry reading competition organised by
your department based on the themes of love and friendship.

Prepare a script for the poetry reading competition. [10]
Answer any ¢wo of the following questions : [10]
(a) What is the basic set up required for a radio production ?
(b)) “Writing for radio is creating verbal picture.” Comment.

(¢) Do you think radio is the best media of entertainment ?

Justify your answer.
Answer any ¢wo of the following questions : [10]

(a)  What role can TV play in building public opinion, according

to you ?

(b)  What is meant by ‘programme for select audience’ ? Explain

with examples.

(¢)  Which is your the most favourite serial ? Why ?



5. Answer any three of the following questions : [15]

(/)  Which news bulletin is more effective, Radio or TV ?

Why ?

(i) Do you prefer cricket commentary on radio to that on TV ?

Give the reasons.

(ir1) What are the reasons, according to you, for the growing popularity,

of radio in spite of the advent of TV ?

(iv)  Write down the advantages and disadvantages of TV as a mass

media.

(v» What are the qualifications of a TV anchor ?

[6301]-2086 5



Total No. of Questions—4] [Total No. of Printed Pages—2

Seat

No. [53011-2087

S.Y. B.A. EXAMINATION, 2018
(Vocational Stream)
TRAVEL AND TOURISM MANAGEMENT
Paper III

(Tourism Marketing and Travel Agency Operation)

(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.
(7if) Draw neat diagrams and sketches wherever necessary.

(1v) Use of map stencil is allowed.

1. Explain any ¢wo in brief (Around 50 words) : [10]
(1) Travel agent
(17) TAAI
(7i7) Cruise
(iv) PAX
2. Write short notes on any four (Around 100 words). [20]

(1) Functions of a travel agency

(i) How does IATA help the tourism industry
(ir/) Explain Deccan Odyssey

(iv) Forex

(v)  Package

(vi) Inbound tourism

P.T.O.



3. Answer any three (200-250 words) : [30]

(/)  Difference between domestic tourism and international tourism

(i) Explain Euro Rail

(1ii) Bring out the importance of ITDC

(iv) Explain the departments of a Travel agency

(v)  Explain the term "American Plan" and where is it used ?
4. Answer in detail any one (Around 500 words) : [20]

(1) Linkage of tourism with transportation

(i) Design an itinerary of Western India for 10 days.

[6301]-2087



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5301]-2088

S.Y. B.A. EXAMINATION, 2018
PRIEEL G R E R | GO E )
FUNCTIONAL HINDI : VOCATIONAL
goaA 111
(2013 PATTERN)

g : d1 He /A Ak : 80
oAl — () @t 7 eifed ¥

(/) fedt IR fod T siF g & Ui ¥

(i faum ‘e’ R faym ‘9 & SW TH & SW-Yraw d faf@u

faymr ‘et
1. (%) fmAfafeq & ¥ fodl & | feubml fafew . [10]
(1) gu-foxfa
(2) SFEEEH YAER & YR
(3) oYl =AU 93 & U
(4) TS sfufiem, 1976 & Y@ IYEH |
(@) WS ol HUl, HoE &1 3R ¥ T. S, IO HhuHl, STHIET
H S ARl ® YSA® HA gL UA KN AYA TR HiSCI [6]
3qAT
‘fosa oo’ 21 IS AE, O 411030 W AR § fefaem sfew
. fa.’ Teuee w1 fefafed aggst & fau swu-w fafew .
(1) 30 39 & 15 Wi e
(2) 24 T & 20 T
(3) 15 I@EX
(4) 20 fesfea W

P.T.O.



2. () T=fafes & @ fosl &9 9o & S 999 § fafew . [9]

(1) fomA 1 #We@ T Hifaq |

2 ‘=, ‘w1 aw wm afiEm S

(3) ‘UIHU-TEM & SR H AW TR 4 F FAwIer &b ?
(4) fommmm # o= iR wvem™m &1 *®1 7ed § 7

(5) HMEICEE dur AfUfSTd THER S FAX TS HISTC |

(7)) frefafed foqmaal & omeRmn steran =eeeE fatee [7]
(1) e
2) 3
3) =™
(4) dMHUsS
(5) hICTEIE
(6) THIW 3fe Tach
(7) T @RI
faum ‘&
3. (@) fmfafed sg=ee &1 fGel # oaR &g [7]
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qfiTeh ik H WU TEEn faftte swn enfdes, Ustehtg, snfYew faean
iepfah gReFART otEedl FRiwH oF. Sad, Had, a9 SIS
A SIS el TN TR HRiwH A1 Uferd o= a1 i
Hredrd. YRR wRE%A S T@eel 3THe qicd syl fafasar e,
dt fafayar wamrn =afaden S0 IR T8I FAUEd aTeile S TR
whelel TTAM. N Sal U@ drded 9l §YU HHH heel Hdl el

fafafa s S adieTEe 3T drdigl SHdTd.




(®)

4, (3)

(=)
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yfa-geiiem & fogdl &1 W& wa gu freafafed ofeee =1 i @

fafeg [7]
W IR W [ T H T — R T ACY @ ®IH w1

gehdt ¥, 9 #eT ¥R § &M TR UeH, w4 AW o, T AdE
TAN THI-UI A1 TH @ dqe b o UM em § Afqey el wi
&1 Wy Mow awE ¥ e WY S ok d f ooy w5
g | IRF T diong e 59 Sfaw Se skt oa 9 ARl aw
dmsft foem for oqge; Al BEQ Th WEM TWE 7| STRIE TRH
fogzn o o g wHE f& W1 Wehdil I WY AR e ® TH
fomfa TR Y 9@ WL ® G gedd I

3MYeh Helagaed H ‘s qudl 9 o’ HRIH 1 SIS o
ST @ 38 ey # Ju-famfa AR =wifsm 6]
() Trafafea 8 ¥ fo<dd urar & &l wfnfoe v fafew : (5]

(1)  Account, Current

(2) Bankrupt

(3) Show Cause

(4) Bench

(5) Break of Journey

(6) Carrying Capacity

(7)  Act of God

(8) Bank Guarantee.



(i7) Trfafe # 4 f6=<l uta & it witwfie v fafaa : (5]
(1) &=d @
(2) Ty
(3) Ay W
(4) TR
(5) YhUH
6) fes
(7) RS
(8) faoia fafy

5, fAfafea & @ f&d dm w femfpl fafew . [18]
(1) TR &t fagan
(2) wfqEeieR § 5@ &1 78«
(3) HAREM & IO

(4) HTR HI THEA
(5) THEHEE THA & 4|
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Total No. of Questions—6]

Seat
No.

Time : Two

NB. — (i)

(1)

(111)
1. Explain
2. Explain
3. Explain
4. Explain

S.Y. B.A. EXAMINATION, 2018
(Vocational Course)
COMPUTER APPLICATIONS
Paper IV
(2013 PATTERN)
Hours Maximum Marks
Solve any four questions.
Draw neat-labeled diagrams wherever necessary.

Figures to the right indicate full marks.

in detail System Development Life Cycle (SDLC).

Spiral model with diagram.

in detail Flow Charting.

in brief the following :

(a) Structured English

(b)  Output Design

[Total No. of Printed Pages—2

[5301]-2090

: 40

[10]

[10]

[10]

[10]

P.T.O.



5. Explain briefly the following fact gathering techniques : [10]
(a) Record Review

(b) Questionnaire

6. Explain the following : [10]

(a) Boundary
(b) Black Box
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